K.S
KJ..S

HK
HMK HK..ZWD
DCL HMK..ZWD BK BK..ZWD

= RNAdS
RNA59
| RNA48
RNA49 NK.R NA49
NK NKS NKS NKS RNAG9 NK+1R

RNAO RNAO..ZW

n - b
i
- - ] | NATV
" NAB2 NATR..LL NACV
K811
AXK11 K812 K893 K874 AS ws s

NTN.BNR. . o withvou 34



TECHNICAL SUMMARY

ﬂ Needle roller and cage assemblies
K.ZW

Needle roller and cage assemblies for A1
connecting rod
Drawn cup needle roller bearings
B _Efl " Needle roller bearings with solid rings 47
RNAAQ....LLHR

Needle roller bearings 55
with separable solid rings
Inner rings
9 ” L i Combined bearings 62

1 NK1A f ARN

NUKR Cam followers

—— 1) NUKRT

i NUKRU
Roller followers
Thrust bearings

NTN.BNR. o withvou I

NATV..LL
NACV..LL




~——Bc— Bo ~—Bc Bc— Be—
i — e d 4@:}57 S . -
oEw +—-———-— oFw oEw +—-————-——-— oFw oEw H—-———-— oFw oFEw +—-———-—+ oFw oEw +—-——-—1 oFw
I ;N v B " e @ - -
K K --ZW KMJ KJ --S KV --S
K--T2 KMJ -- S
K-S PCJ

Basic load rating (kN) Limiting speeds (tr/min)

K3X6X7T2 3 6 7 1,46 097 33000 50000 0,0004
KAX7X712 4 7 7 1,77 1,27 30000 45000 0,0005
K5X8X8T2 5 8 8 2,64 219 27000 40000 0,0007
K5X8X10T2 5 8 10 2,72 225 27000 40000 0,0009
K6X9X8T2 6 9 8 2,66 2,28 25000 37000 0,0009
K6X9X1072 6 9 10 34 315 25000 37000 0,0011
K6X10X13T2 6 10 13 4,4 3,7 25000 37000 0,0019
K7X10X8T2 7 10 8 2,67 2,35 23000 34000 0,0009
K7X10X10T2 7 10 10 34 32 23000 34000 0,0011
K8X11X8T2 8 11 8 3,15 3 21000 32000 0,0011
K8X11X10T2 8 Ik 10 4 41 21000 32000 0,0013
80-K8X11X10 8 1 10 4 41 21000 32000 0,002
K8X11X13 8 11 13 485 52 21000 32000 0,0026
K8X12X10T2 8 12 10 4,65 4,15 21000 32000 0,002
8Q-K8X12X12 8 12 12 5,6 53 21000 32000 0,0037
K8X12X13 8 12 )8 5,05 4,65 21000 32000 0,0036
K9X12X10T2 9 12 10 4,55 5 20000 30000 0,0015
8Q-K9X12X10 9 12 10 43 4,6 20000 30000 0,002
K9X12X13 9 12 13 55 6,4 20000 30000 0,0021
K9X12X13T2 9 12 13 545 6,4 20000 30000 0,0021
K10X13X10T2 10 13 10 4,55 51 19000 28000 0,0016
K10X13X13 10 13 13 545 6,45 19000 28000 0,003
K10X14X8 10 14 8 43 3,95 19000 28000 0,0027
KMJ10X14X8.8XS 10 14 8,8 515 5,25 19000 28000 0,0028
K10X14X10 10 14 10 55 5,45 19000 28000 0,0034
8E-KV10X14X10.8XS 10 14 10,8 5[5 5,45 19000 28000 0,0039
8E-KV10X14X12.5X1S 10 14 12,5 6,6 6,9 19000 28000 0,0046
K10X14X13 10 14 13 6,6 6,9 19000 28000 0,0044
K10X16X12 10 16 12 7,1 5,95 19000 28000 0,0066
8Q-K10X16X12 10 16 12 71 5,95 19000 28000 0,0066
K11X14X10 11 14 10 5,05 6 18000 27000 0,0028
K12X15X10 12 15 10 5 6,1 17000 26000 0,0030
K12X15X10S 12 15 10 5 6,1 17000 26000 0,003
K12X15X13 12 15 13 6 77 17000 26000 0,0038
K12X15X13V1 12 15 13 6 77 17000 26000 0,0038
K12X15X20ZW 12 15 20 8,55 12,2 17000 26000 0,0059
K12X16X8 12 16 8 4,85 49 17000 26000 0,0034
K12X16X10X1S 12 16 10 485 49 17000 26000 0,0047
8Q-K12X16X13 12 16 13 7,5 8,5 17000 26000 0,006
K12X17X13 12 17 13 9 94 17000 26000 0,0075
K12X18X12 12 18 12 8,65 8 17000 26000 0,0089
8Q-K12X18X12 12 18 12 8,65 8 17000 26000 0,0089
K14X17X10 14 17 10 5,4 7,05 16000 24000 0,0035
K14X18X10 14 18 10 6,9 8 16000 24000 0,0046
K14X18X13 14 18 13 8,3 10,1 16000 24000 0,0063
K14X18X15S 14 18 15 9,65 12,3 16000 24000 0,0076
K14X18X17 14 18 17 10,9 14,4 16000 24000 0,0079
K14X20X12 14 20 12 9,35 9,15 16000 24000 0,0095
K15X18X14 15 18 14 7,85 11,6 15000 23000 0,006
K15X19X10 15 19 10 6,85 8,05 15000 23000 0,0055
K15X19X13 15 19 13 8,25 10,2 15000 23000 0,0067
K15X19X17 15 19 17 10,9 14,6 15000 23000 0,009
K15X19X24ZW 15 19 24 141 20,4 15000 23000 0,013
K15X20X13 15 20 13 10,1 11,5 15000 23000 0,0088
KMJ15X20X15.8XS 15 20 15,8 12,6 15,2 15000 23000 0,009
K15X21X15 15 21 15 119 12,5 15000 23000 0,013
KMJ15X21X17S 15 21 17 151 17,2 15000 23000 0,012
K15X21X21 15 21 21 16,5 19,1 15000 23000 0,017
K16X20X10 16 20 10 7,5 9,25 15000 23000 0,0057
K16X20X13 16 20 13 9,05 11,8 15000 23000 0,0071
K16X20X17S 16 20 17 11,9 16,8 15000 23000 0,0092
K16X22X12 16 22 12 7 12,5 15000 23000 0,01

NTN.BNR. . ¢ withYou 36



Needle roller and cage assemblies

Part numbers

Dimensions (mm)

Basic load rating (kN)

Limiting speeds (tr/min)

grease
KMJ16X22X13 16 22 13 12,6 13,9 15000 23000 0,011

K16X22X15.8X 16 22 15,8 13,6 15,2 15000 23000 0,014
K16X22X20 16 22 20 16 18,8 15000 23000 0,017
K17X21X10S 17 21 10 7,45 9,3 15000 22000 0,0056
K17X21X13S 17 21 13 9,4 12,6 15000 22000 0,0075
K17X21X15 17 21 15 10,4 14,4 15000 22000 0,0089
K17X21X17 17 21 17 11,8 16,9 15000 22000 0,0095
K17X22X20 17 22 20 14,7 19,2 15000 22000 0,015
K18X22X10 18 22 10 7,4 9,4 14000 21000 0,0061
K18X22X13 18 22 13 8,9 11,9 14000 21000 0,0077
K18X22X17 18 22 17 1,7 17 14000 21000 0,011

K18X23X20S 18 23 20 14,6 19,3 14000 21000 0,015
K18X24X12 18 24 12 12,3 13,8 14000 21000 0,012
K18X24X13 18 24 13 11,6 12,8 14000 21000 0,013
KMJ 18X24X17SV1 18 24 17 16 19,3 14000 21000 0,014
K18X24X20 18 24 20 17 20,9 14000 21000 0,019
K18X25X17 18 25 17 18 20,4 14000 21000 0,019
K18X25X22 18 25 22 22,1 26,6 14000 21000 0,024
K19X23X13S 19 23 13 9,65 13,5 14000 21000 0,0082
K19X23X17 19 23 17 12,7 19,2 14000 21000 0,011

K20X24X10S 20 24 10 8,3 11,2 13000 20000 0,0065
K20X24X13S 20 24 13 10 14,3 13000 20000 0,0086
K20X24X17S 20 24 17 13,2 20,4 13000 20000 0,011

K20X26X12 20 26 12 12,9 151 13000 20000 0,013
K20X26X13 20 26 13 14 16,7 13000 20000 0,015
KMJ20X26X13 20 26 13 14 16,7 13000 20000 0,012
KMJ20X26X17S 20 26 17 17,8 22,8 13000 20000 0,016
K20X26X20V2 20 26 20 18 23,1 13000 20000 0,019
KMJ20X26X20S 20 26 20 20,6 27,6 13000 20000 0,019
KMJ20X26X20SV3 20 26 20 20,6 27,6 13000 20000 0,019
KMJ20X28X19.8X4S 20 28 19,8 24,6 28,9 13000 20000 0,026
80-K20X28X25 20 28 25 27,1 2.5 13000 20000 0,039
K20X28X25V1 20 28 25 27,1 32,5 13000 20000 0,039
8Q-K21X25X13 21 25 13 10,3 151 13000 19000 0,0092
K21X25X17 21 25 17 13,6 215 13000 19000 0,012
K22X26X10 22 26 10 8,5 11,9 12000 18000 0,007
K22X26X10S 22 26 10 8,5 11,9 12000 18000 0,0071
K22X26X13 22 26 13 10,2 15,2 12000 18000 0,0094
K22X26X17 22 26 17 13,5 21,6 12000 18000 0,012
K22X26X17S 22 26 17 13,5 21,6 12000 18000 0,012
K22X27X20 22 27 20 17,5 25,9 12000 18000 0,02

K22X28X17 22 28 17 17,7 23,3 12000 18000 0,020
K22X28X17V1 22 28 17 17,7 23,3 12000 18000 0,02

K22X28X22.8X 22 28 22,8 22,7 32 12000 18000 0,028
K22X29X16 22 29 16 18,7 22,7 12000 18000 0,023
K22X30X15 22 30 15 19,3 21,7 12000 18000 0,022
KMJ23X29X17.8XS 23 29 18 20,6 28,8 11000 17000 0,019
K24X28X10 24 28 10 9 13,2 11000 17000 0,008
K24X28X10T 24 28 10 9 13,2 11000 17000 0,008
K24X28X13 24 28 13 10,8 16,8 11000 17000 0,01

K24X28X13S 24 28 13 10,8 16,8 11000 17000 0,01

K24X28X17 24 28 17 14,3 239 11000 17000 0,013
K24X30X17 24 30 17 18,4 25,2 11000 17000 0,022
K24X30X31ZW 24 30 31 27,9 43 11000 17000 0,039
K25X29X10 25 29 10 8,95 13,3 11000 16000 0,0083
K25X29X10S 25 29 10 8,95 13,3 11000 16000 0,0088
K25X29X13 25 29 13 10,8 16,9 11000 16000 0,01

K25X29X17S 25 29 17 14,2 24 11000 16000 0,014
K25X30X13 25 30 13 13,2 18,8 11000 16000 0,013
K25X30X17 25 30 17 17,4 26,8 11000 16000 0,018
K25X30X17S 25 30 17 17,4 26,8 11000 16000 0,017
K25X30X20S 25 30 20 19,4 31 11000 16000 0,021

K25X30X26ZW 25 30 26 36,5 71,5 11000 16000 0,027
K25X31X14 25 31 14 16,5 22,1 11000 16000 0,018
K25X31X17 25 31 17 18,3 25,3 11000 16000 0,022
K25X31X21 25 31 21 22,5 33 11000 16000 0,028
K25X32X16 25 32 16 19,5 247 11000 16000 0,027
KMJ25X33X24S 25 33 24 34,5 47 11000 16000 0,04

K25X33X24.4X 25 33 24,4 32 43 11000 16000 0,046
K25X35X29.8X2 25 85) 29,8 42 53 11000 16000 0,072
PCJ162112 25,4 33,388 19,05 29,2 38,5 10000 15000 0,032
PCJ162116 254 33,388 25,4 38 54 10000 15000 0,044
K26X30X13 26 30 13 1,8 19,2 10000 15000 0,011

K26X30X17 26 30 17 15,5 27,4 10000 15000 0,015
K28X32X21 28 32 21 18,7 35,5 9500 14000 0,02

K28X33X13 28 88 13 139 20,9 9500 14000 0,015
K28X33X17S 28 33 17 18,3 29,8 9500 14000 0,02

K28X33X26ZW 28 g8 26 23,9 42 9500 14000 0,033
K28X33X27 28 33 27 28,3 52 9500 14000 0,032
K28X34X14 28 34 14 17,5 24,8 9500 14000 0,02

K28X34X17 28 34 17 18,1 25,8 9500 14000 0,024
K28X35X16 28 35 16 21,2 28,4 9500 14000 0,029
K28X35X18 28 35 18 21,5 28,9 9500 14000 0,031

8Q-K28X36X46X1ZW 28 36 46 50 78,5 9500 14000 0,096

37

NTN. Sne)

VA

® @ WithYou



~——Bc— Bo ~—Bc Bc— Be—
i — e d 4@:}57 S . -
oEw +—-———-— oFw oEw +—-————-——-— oFw oEw H—-———-— oFw oFEw +—-———-—+ oFw oEw +—-——-—1 oFw
I ;N v B " e @ - -
K K --ZW KMJ KJ --S KV --S
K--T2 KMJ -- S
K-S PCJ

Part numbers Basic load rating (kN) Limiting speeds (tr/min)
PCJ182420
K30X35X13 30 35 13 14,7 22,9 8500 13000 0,017
K30X35X13S 30 35 13 14,7 22,9 8500 13000 0,017
K30X35X17 30 35 17 19,4 32,5 8500 13000 0,023
KJ30X35X17S 30 35 17 18,8 31,5 8500 13000 0,021
K30X35X20S 30 35 20 21,6 37,5 8500 13000 0,025
K30X35X27 30 35 27 29,9 57 8500 13000 0,033
K30X35X27S 30 88 27 29,9 57 8500 13000 0,033
KMJ30X36X14 30 36 14 18,6 27,4 8500 13000 0,018
K30X37X16 30 37 16 21,9 30,5 8500 13000 0,029
K30X37X18 30 37 18 23,3 33 8500 13000 0,034
K30X37X20 30 37 20 26 37,5 8500 13000 0,038
KMJ30X37X20S 30 37 20 26,2 38 8500 13000 0,032
K30X43X54.8XZW 30 43 54,8 745 98 8500 13000 0,199
PCJ202624 31,75 41,275 38,1 65 101 8500 13000 0,096
K32X36X15S 32 36 15 14,3 26,4 8500 13000 0,017
K32X37X13 32 37 13 14,5 23 8500 13000 0,018
K32X37X17S 32 37 17 19,2 33 8500 13000 0,022
K32X37X27 32 37 27 29,6 57,5 8500 13000 0,037
KJ32X38X20S 32 38 20 25,1 41 8500 13000 0,031
K32X38X26 32 38 26 31,5 54 8500 13000 0,041
K32X39X16 32 39 16 22,6 32 8500 13000 0,033
K32X39X18 32 39 18 24 35 8500 13000 0,037
K32X39X20 32 39 20 26,8 40 8500 13000 0,041
K33X39X22.6X2T2 33 39 22,6 24,4 39,5 8000 12000 0,023
8Q-K34X46X51XZW 34 46 51 785 113 8000 12000 0,2
PCJ222820 34,925 44,45 31,75 60 94,5 7500 11000 0,09
K35X40X13 35 40 13 15,2 25,1 7500 11000 0,019
K35X40X17 35 40 17 20 36 7500 11000 0,025
KJ35X40X22.8X1S 35 40 22,8 22,3 4 7500 11000 0,028
K35X40X26ZW 35 40 26 26,1 50 7500 11000 0,037
GK35X40X26.8XS 35 40 26,8 28,1 (513 7500 11000 0,021
K35X40X27 35 40 27 32 65 7500 11000 0,041
KJ35X40X27S 35 40 27 32 65 7500 11000 0,039
K35X40X30ZW 35 40 30 26,1 50 7500 11000 0,043
K35X40X30ZWS 35 40 30 26,1 50 7500 11000 0,043
K35X42X16 35 42 16 24,1 36 7500 11000 0,035
K35X42X18 35 42 18 24,7 37 7500 11000 0,039
K35X42X20 35 42 20 28,5 445 7500 11000 0,045
K35X42X30 35 42 30 39,5 68 7500 11000 0,062
K35X45X24.8X 35 45 24,8 43 59 7500 11000 0,084
KJ36X41X25.3XS 36 4 25,3 28,1 56 7500 11000 0,033
K37X42X17 37 42 24 21 38,5 7500 11000 0,027
KJ37X42X17S 37 42 17 21 38,5 7500 11000 0,026
K37X42X27 37 42 27 32,5 67,5 7500 11000 0,041
KJ37X42X27S 37 42 27 32,5 67,5 7500 11000 0,041
K38X43X17 38 43 17 20,9 38,5 7500 11000 0,028
K38X43X27 38 43 27 32 67,5 7500 11000 0,043
KJ38X43X29.8X1S 38 43 29,8 34,5 73,5 7500 11000 0,041
GK38X46X32 38 46 32 50,5 86,5 7500 11000 0,086
K38X46X32 38 46 32 54 95,5 7500 11000 0,073
PCJ243024 38,1 38,1 47,625 72,5 124 6500 10000 0,112
PCJ243020A 38,1 47,625 31,75 62 101 6500 10000 0,095
K40X45X13 40 45 13 16,5 29,2 6500 10000 0,023
K40X45X17 40 45 17 218 415 6500 10000 0,027
K40X45X21V2 40 45 21 26,7 54 6500 10000 0,035
K40X45X27 40 45 27 33,5 72,5 6500 10000 0,044
K40X47X18 40 47 18 21,7 45 6500 10000 0,045

NTN.BNR. . ¢ withYou 38



Needle roller and cage assemblies

Part numbers

Dimensions (mm)

Basic load rating (kN)

Limiting speeds (tr/min)

static
KA0X47X20 40 47 20 31 515 6500 10000 0,048
KA0X48X20 40 48 20 3 51 6500 10000 0,052
HL-K40X55X20.8X4T2 | 40 55 298 725 935 6500 10000 0103
KA2X47X17 12 47 17 221 43 6500 9500 0,028
KJ42X47X23.8XS 12 47 238 28 585 6500 9500 0,036
Ka2X47X27 42 47 27 34 755 6500 9500 0,047
KA2X48X17 42 48 17 257 46 6500 9500 0,036
K42X50X20 42 50 20 34 535 6500 9500 0,054
KA3X48X17 13 48 17 22 43 6500 9500 0,029
KA3X50X18 13 50 18 29,1 49 6500 9500 0,049
PCJ283416 44,45 53,075 254 555 92 6000 9000 0,086
PCJ283420 4445 53.975 31,75 68 119 6000 9000 0,11
KA5X49X19 15 49 19 221 52 6000 9000 0027
KA5X50X17 15 50 17 223 445 6000 9000 0,033
KJ45X50X17S 45 50 17 228 46 6000 9000 0027
KA5X50X27 45 50 27 345 78 6000 9000 005
KA5X52X18 45 52 18 29.7 51 6000 9000 0,051
KA5X53X20 45 53 20 36 59 6000 9000 0,062
KJA5X53X28S 45 53 28 495 9% 6000 9000 0,078
KA7X52X17 47 52 17 232 475 5500 8500 0,033
KA7X52X27 47 5 27 355 83 5500 8500 0,051
K50X55X13.5 50 55 135 181 355 5500 8000 0,029
K50X55X20 50 55 20 279 62 5500 8000 0,042
K50X55X27 50 55 27 37 885 5500 8000 0,053
K50X55X30 50 55 30 395 97 5500 8000 0,059
K50X57X18 50 57 18 315 57 5500 8000 0,053
K50X58X20 50 58 20 385 675 5500 8000 0,065
K50X58X25 50 58 25 485 90 5500 8000 0,081
PCJ323816 50,8 60,325 254 58 102 5000 7500 0,004
PCJ323824 508 60,325 3811 83 160 5000 7500 0144
HL-K50.8X64.8X50.8KT2 50,8 64,8 59.8 137 235 5500 8000 0,20
K52X58X19 52 58 19 32 655 5000 7500 0,048
K55X60X20 55 60 20 288 66,5 5000 7500 0,045
K55X60X30 55 60 30 42 108 5000 7500 007
KV55X60X30S 55 60 30 42 108 5000 7500 0,069
K55X62X18 55 62 18 335 63 5000 7500 0,054
K55X63X20 55 63 20 39 70 5000 7500 0073
K55X63X25 55 63 25 505 975 5000 7500 0,088
K55X63X32 55 63 32 61 125 5000 7500 0117
K58X64X19 58 64 19 34 735 4700 7000 0,052
KG0X65X20 60 65 20 298 715 4300 6500 0,051
KGOX65X30 60 65 30 435 116 4300 6500 0,071
KGOX66X22.8X2PX1 60 66 2238 32 50 4300 6500 007
KG0X66X32.8XZW 60 86 328 475 115 4300 6500 0,107
KGOX68X20 60 68 20 40 75 4300 6500 0077
KG0X68X23 60 68 23 445 8 4300 6500 0,002
KGOX68X25 60 68 25 52 105 4300 6500 0,097
KGOX68X27 60 68 27 52 105 4300 6500 0,098
K61X66X20A 61 66 20 282 66,5 4300 6500 0051
KB3X70X21 63 70 21 445 955 4300 6500 0075
PCJ404616 635 73,025 254 615 117 4000 6000 0105
K64X70X16 64 70 16 28.4 605 4300 6500 0053
KB5X70X20 65 70 20 305 75 4000 6000 0,055
KB5X70X30 65 70 30 45 124 4000 6000 0,083
KB5X73X23 65 73 23 47 9 4000 6000 01
KE5X73X30 65 73 30 61 132 4000 6000 0,126
K68X74X20 68 74 20 36 835 4000 6000 0,065
KEBX74X352W 68 74 35 495 125 4000 6000 0116
KEBX75X21 68 75 o1 455 101 4000 6000 0077
K70X76X20 70 76 20 365 86 3700 5500 007
K70X76X30 70 76 30 53 139 3700 5500 01
K70X76X30A 70 76 30 495 127 3700 5500 0,105
K70X78X23 70 78 23 495 103 3700 5500 0.107
K70X78X30 70 78 30 655 149 3700 5500 0136
K73X79X20 73 79 20 375 90 3700 5500 0,074
KMJ75X81X20 75 81 20 405 100 3700 5500 0,065
K75X81X30 75 81 30 56 152 3700 5500 0108
K75X83X23 75 83 23 505 100 3700 5500 0113
K75X83X30 75 83 30 675 157 3700 5500 0147
KB0X86X20 80 86 20 39 % 3300 5000 0,08
KB0X86X30 80 86 30 57 159 3300 5000 011
KBOX86X30A 80 86 30 57 159 3300 5000 011
KB0X88X26 80 83 26 61 142 3300 5000 0,131
KB0X88X30 80 88 30 69 166 3300 5000 0157
KMJ85X92X18.8X 8 % 18,8 415 9,5 3100 4700 0075
KMJ85X92X20 8 % 20 475 115 3100 4700 0,083
KB5X92X30 8 92 30 66 176 3100 4700 0142
K90X97X20 90 97 20 46 113 2900 4400 0,103
K90X97X24.8X ) 97 24,8 52 131 2900 4400 013
K90X08X27 ) % 27 64 157 2900 4400 015
K90X98X30 ) % 30 725 184 2900 4400 0172
d
39 NTN.BNR. . o withYou



[~ Be— Be ~—Bc ~——Bc— Boc—

[ I E N = . fl i el = L/
oEw +—-———-— oFw obw +—-———-——-— oFw oEw H—-———-—F oFw oFEw +—-———-—+ oFw oEw —-——-— ofFw
K K --ZW KMJ KJ --S KV --S
K--T2 KMJ --S

K-S PCJ

Needle roller and cage assemblies

Part numbers Dimensions (mm) Basic load rating (kN) Limiting speeds (tr/min)

80-K95X102X20.8X3 95 102 20,8 49 125 2800 4200 0,109
K95X102X21 95 102 21 48 122 2800 4200 0,115
K95X102X31 95 102 31 70,5 199 2800 4200 0,172
KV100X107X21S 100 107 21 47,5 122 2700 4000 0,12
K100X107X21 100 107 21 49 127 2700 4000 0,124
K100X108X27 100 108 27 61 153 2700 4000 0,176
K100X108X30 100 108 30 76 201 2700 4000 0,19
K105X112X21 105 112 21 48,5 127 2500 3800 0,13
K105X113X30 105 113 30 77,5 210 2500 3800 0,198
K110X117X24 110 17 24 54,5 149 2400 3600 0,145
K110X118X30 110 118 30 79 219 2400 3600 0,217
K115X123X27 115 123 27 64 170 2300 3500 0,2
K120X127X24 120 127 24 57,5 165 2200 3300 0,16
K120X127X34 120 127 34 82 260 2200 3300 0,235
K125X133X35 125 133 35 87 260 2100 3200 0,275
K130X137X24 130 137 24 59 175 2100 3100 0,17
K130X137X34 130 137 34 84,5 277 2100 3100 0,24
K145X153X26 145 153 26 72 214 1900 2800 0,254
K145X153X36 145 153 36 100 325 1900 2800 0,335
K150X160X46 150 160 46 149 470 1800 2700 0,55
K155X163X26 155 163 26 733 224 1700 2600 0,27
K160X170X46 160 170 46 155 505 1700 2500 0,57
K185X195X37L1 185 195 37 131 425 1500 2200 0,581
K220X230X42 220 230 42 161 590 1200 1800 0,79

NTN.BNR. o withvou 40



oEw - oFw

Needle roller and cage assemblies for connecting rod

Part numbers Basic load rating (kN)
8Q-KBK10X14X12.5X6 10 14 12,5 98 6,6 69 0,00515
KBK12X15X16.6V1 12 15 16,6 13,8 75 10,2 0,0056
KBK12X16X16V1 12 16 16 12,8 8,1 9,35 0,007
80-KBK12X17X14.2X2 12 17 14,2 11,8 9,75 104 0,009
KBK14X18X15.8X5 14 18 15,8 11,8 9,15 114 0,009
8Q-KBK14X18X16.5X 14 18 16,5 11,8 8,6 10,5 0,0078
KBK14X18X16.8X2 14 18 16,8 13,8 9,75 12,4 0,0079
KBK14X18X17.3X 14 18 17,3 138 9,75 12,4 0,009
KBK14X18X18.8X 14 18 18,8 14,8 1 144 0,01
KBK14X18X20V3 14 18 20 138 9,15 11,3 0,011
KBK15X19X17.3X 15 19 17,3 138 10,9 14,6 0,01
KBK15X19X19.8X 15 19 19,8 13,8 10,9 14,6 0,015
KBK15X20X17.3X 15 20 17,3 138 10,8 14,6 0,011
KBK16X20X17 16 20 17 138 10,8 14,7 0,01
KBK16X20X19.8 16 20 19,8 138 10,2 13,6 0,012
KBK16X20X19.8X3 16 20 19,8 14,8 14 15,8 0,013
KBK16X21X19.6X 16 21 19,6 15,8 13,9 17,6 0,016
KBK18X22X21.8X3 18 22 218 15,8 12,5 18,3 0,015
KBK18X22X23.8X1 18 22 238 178 13 19,3 0,016
KBK18X23X21.8X7 18 23 218 17,8 16,1 218 0,019
KBK20X25X29X3 20 25 29 22,8 215 33 0,0279

41 NTN.BNR. o withvou



——C— c P ——C— c
H 2] & Ar A ' H 12 HH
| _Ne _Ne
oD ofw | eD qr-————f———— " oFw M e k. oD oFw | oD
G B W T : W W ol
HK, HMK, DCL HK -- ZWD HK - L HK - LL BK BK - ZWD BK--L

Drawn cup needle roller bearings

Part numbers Dimensions (mm) Lubrication Basic load ratings (kN) Limiting speeds (tr/min) Mass (kg) | Appropriate
hole inner ring
on outer ring|  dynamic grease

HK0306T2 3 6,5 6 0,925 0,565 33000 50000 0,0006 -
HKS3X6.5X6T2 8 6,5 6 0,94 0,575 33000 50000 0,00061 -
BK0408T2 4 8 8 1,6 1,77 1,27 30000 45000 0,0018 -
HK0408T2 4 8 8 1,77 1,27 30000 45000 0,0016 -
BK0509 5 9 9 1,6 2,64 2,19 27000 40000 0,0021 -
HK0509FM 5 9 9 2,45 1,99 27000 40000 0,0019 =
HK0509T2 5 9 9 2,64 219 27000 40000 0,0019 -
BK0609T2 6 10 9 1,6 2,66 2,28 25000 37000 0,0024 -
BK0609T2/2AS 6 10 9 1,6 2,66 2,28 25000 0,0024 -
HK0609FM 6 10 9 2,92 2,59 25000 37000 0,0022 -
HK0609T2 6 10 9 2,66 2,28 25000 37000 0,0022 -
DCL44T2 6,35 | 11,112 | 6,35 1,58 1,1 25000 38000 0,0022 -
DCL45T2 6,35 | 11,112 | 7,938 2,16 1,67 25000 38000 0,0033 -
DCLA7T2 6,35 | 11,112 | 11,112 3,55 3,15 25000 38000 0,0038 =
BK0709 7 11 9 1,6 34 3,25 23000 34000 0,0027 -
BK0709CT 7 11 9 1,6 3,15 2,93 23000 34000 0,0027 -
HK0709 7 1 9 3,4 3,25 23000 34000 0,0025 -
HK0709FM 7 11 9 3,15 2,93 23000 34000 0,0025 -
DCL55 7,938 | 12,7 | 7,938 2,94 2,61 20000 30000 0,0032 -
BK0810 8 12 10 1,6 4.1 4,25 20000 30000 0,0034 1R5X8X12
BK0810C 8 12 10 1,6 3,85 3,95 20000 30000 0,0034 1R5X8X12
BK0810CT 8 12 10 1,6 3,85 3,95 20000 30000 0,0034 1RB5X8X12
HK0810 8 12 10 4,1 4,25 20000 30000 0,0032 1R5X8X12
HK0810C 8 12 10 3,85 3,95 20000 30000 0,0032 1R5X8X12
HK0810C/5K 8 12 10 3,85 3,95 20000 30000 0,0032 1R5X8X12
HK0810FM 8 12 10 3,85 3,95 20000 30000 0,0032 1R5X8X12
HMK0810C 8 15 10 4,2 33 20000 30000 0,0067 1R5X8X12
HMK0812L/3AS 8 15 12 38 2,87 10000 0,0071 1R5X8X16
HMK0815 8 15 15 6,6 5,8 20000 30000 0,01 1R5X8X16
HMK0820T2 8 15 20 9,05 8,75 20000 30000 0,013 =
BK0910 9 13 10 1,6 4,75 53 18000 27000 0,0039 1R6X9X12
BK0912 9 13 12 1,6 5,65 6,65 18000 27000 0,0045 1R6X9X12
HK0910 9 13 10 46 5,05 18000 27000 0,0035 1R6X9X12
HK0910C 9 13 10 43 4,65 18000 27000 0,0035 1R6X9X12
HK0910FM 9 13 10 43 4,65 18000 27000 0,0035 1R6X9X12
HK0912F 9 13 12 5,4 6,25 18000 27000 0,0042 1R6X9X12
HMK0912 9 16 12 53 4,45 18000 27000 0,0087 1R6X9X16
DCL65 9,525 | 14,288 | 7,938 3,1 2,91 17000 25000 0,0037 -
DCL66 9,525 | 14,288 | 9,525 41 4,2 17000 25000 0,0045 -
BK1010 10 14 10 1,6 4,5 51 16000 24000 0,0042 1R7X10X10.5
BK1012 10 14 12 1,6 59 7,25 16000 24000 0,005 1R7X10X16
BK1015 10 14 15 1,6 7,1 9,15 16000 24000 0,0062 1R7X10X16
HK1010D 10 14 10 yes 4,5 51 16000 24000 0,0038 1R7X10X10.5
HK1010FM 10 14 10 45 51 16000 24000 0,0038 1R7X10X10.5
HK1012F 10 14 12 5,65 6,8 16000 24000 0,0045 1R7X10X10.5
HK1015F 10 14 15 7,25 9,4 16000 24000 0,0056 1R7X10X16
HMK1010 10 17 10 4,25 3,45 16000 24000 0,0079 1R7X10X10.5
HMK1012 10 17 12 5,6 4,85 16000 24000 0,0094 1R7X10X16
HMK1012L/3AS 10 17 12 4,25 3,45 10000 0,0084 1R7X10X16
HMK1014LL/3AS 10 17 14 4,25 3,45 10000 0,0089 1R7X10X16
HMK1015 10 17 15 74 6,95 16000 24000 0,012 1R7X10X16
HMK1020 10 17 20 10,2 10,5 16000 24000 0,016 -
BK1210 12 16 10 1,6 5,05 6,25 13000 20000 0,0052 1R8X12X10.5
BK1212V1 12 18 12 2,7 6,6 73 13000 20000 0,01 1R8X12X12.5
HK1210D 12 16 10 yes 5,05 6,25 13000 20000 0,0046 1R8X12X10.5
HK1210FM 12 16 10 5,05 6,25 13000 20000 0,0046 1R8X12X10.5
HK1212 12 18 12 6,6 7,3 13000 20000 0,0091 1R8X12X12.5
HK1212D 12 18 12 yes 6,6 73 13000 20000 0,0091 1R8X12X12.5
HK1212FM 12 18 12 6,6 7,3 13000 20000 0,0091 1R8X12X12.5
HK1214L/3AS 12 18 14 6,6 73 10000 0,011 1RIX12X16
HK1216LL/2AS 12 18 16 6,6 7,3 10000 0,012 -

VA

NTN.BNR. o withvou 42



Drawn cup needle roller bearings

Part numbers Dimensions (mm) Lubrication Basic load ratings (kN) Limiting speeds (tr/min) Mass (kg) | Appropriate
hole inner ring
on outer ring|  dynamic static grease

HK1216LL/3AS 18 6,6 718 0,012 =
HMK1212 12 19 12 71 6,9 13000 20000 0,011 1R8X12X12.5
HMK1215 12 19 15 9,4 98 13000 20000 0,014 1R8X12X16
HMK1220 12 19 20 12,3 14 13000 20000 0,018 -
HMK1225 12 19 25 15,3 18,6 13000 20000 0,023 =
DCL85 12,7 | 17,462 | 7,938 3,55 3,7 13000 19000 0,0047 -
DCL86U3 12,7 | 17,462 | 9,525 4,7 5,35 13000 19000 0,0057 -
DCL88 12,7 | 17,462 | 127 6,7 8,5 13000 19000 0,008 -
SCE810A 12,7 | 17,462 | 15,875 8,6 12 12000 18000 0,0095 =
BK1312 13 19 12 2,7 6,95 79 12000 18000 0,011 1R10X13X12.5
HK1312 13 19 12 6,95 79 12000 18000 0,01 1R10X13X12.5
HK1312D 13 19 12 yes 6,95 7.9 12000 18000 0,01 1R10X13X12.5
7E-HKS13X20X12-3 13 20 12 1,55 7,65 12000 18000 0,011 1R10X13X12.5
7E-HK1412 14 20 12 7,2 8,5 11000 17000 0,011 1R10X14X13
BK1412 14 20 12 2,7 7,2 8,5 11000 17000 0,012 1R10X14X13
HK1412FM 14 20 12 2,7 7,2 8,5 11000 17000 0,011 1R10X14X13
HK1412v2 14 20 12 7,2 8,5 11000 17000 0,011 1R10X14X13
HK1414L/3AS 14 20 14 7,2 8,5 10000 0,012 1R10X14X16
HK1414L/5S 14 20 14 7,2 8,5 10000 0,012 1R10X14X16
HK1416 14 20 16 10,7 14 11000 17000 0,015 -
HK1416F 14 20 16 10,3 13,4 11000 17000 0,015 =
HK1416LL/3AS 14 20 16 7,2 8,5 10000 0,014 1R10X14X20
7E-HMK1416CT 14 22 16 11,6 12 11000 17000 0,019 1R10X14X20
HMK1420C 14 22 20 14,6 16,2 11000 17000 0,024 -
DCL98 14,288 | 19,05 12,7 7,2 9,65 11000 17000 0,0086 M1-060908
BK1512 15 21 12 2,7 7,5 91 11000 16000 0,013 1R12X15X12.5
BK1516 15 21 16 2,7 10,7 14,4 11000 16000 0,017 1R12X15X16.5
BK1522ZWD 15 21 22 2,7 yes 12,9 18,2 11000 16000 0,022 1R12X15X22.5
HK1512 15 21 12 7,5 91 11000 16000 0,011 1R12X15X12.5
HK1512D 15 21 12 yes 7,5 9,1 11000 16000 0,011 1R12X15X12.5
HK1512FM 15 21 12 7,5 9,1 11000 16000 0,011 1R12X15X12.5
HK1514L/3AS 15 21 14 7,5 91 10000 0,013 1R12X15X16.5
HK1516 15 21 16 10,7 14,4 11000 16000 0,015 1R12X15X16.5
HK1516D 15 21 16 yes 10,7 14,4 11000 16000 0,015 1R12X15X16.5
HK1516LL/3AS 15 21 16 7,5 9,1 10000 0,014 1R12X15X16.5
HK1522ZWD 15 21 22 yes 12,9 18,2 11000 16000 0,02 1R12X15X22.5
HMK1510 15 22 10 6,1 6 11000 16000 0,011 1R10X15X12.5
HMK1512 15 22 12 7,95 8,45 11000 16000 0,013 1R12X15X12.5
HMK1513L/3AS 15 22 13 13 6,1 6 10000 0,014 1R12X15X16
HMK1515C 15 22 15 10,5 12,1 11000 16000 0,016 1R12X15X16
HMK1516LL/3AS 15 22 16 7,5 91 10000 0,015 1R12X15X16.5
HMK1520 15 22 20 14,9 18,9 11000 16000 0,022 1R12X15X22.5
HMK1525V3 15 22 25 18,6 25 11000 16000 0,027 =
7E-HMK1525 15 22 25 18,6 25 11000 16000 0,027 -
DCL108 15,875 | 20,638 | 12,7 7,7 10,8 10000 15000 0,0091 =
7E-HKS15.8X20.6X19-1 | 15,875 | 20,638 | 19,05 12,5 20,8 10000 15000 0,012 -
7E-HKS15.8X20.6X22.2-1| 15,875 | 20,638 | 22,22 14,5 25,2 10000 15000 0,014 =
BK1612 16 22 12 2,7 7,75 9,7 10000 15000 0,014 1R12X16X13
BK1616 16 22 16 2,7 11,1 15,3 10000 15000 0,018 1R12X16X20
BK1622ZWD 16 22 22 2,7 yes 13,3 19,4 10000 15000 0,023 -
HK1612 16 22 12 7,75 9,7 10000 15000 0,012 1R12X16X13
HK1612D 16 22 12 yes 7,75 9,7 10000 15000 0,012 1R12X16X13
HK1612FM 16 22 12 7,75 9,7 10000 15000 0,012 1R12X16X13
HK1614L/3AS 16 22 14 7,75 9,7 10000 0,013 1R12X16X16
HK1614L/5S 16 22 14 7,75 9,7 10000 0,013 1R12X16X16
HK1616D 16 22 16 yes 11,1 15,3 10000 15000 0,016 1R12X16X20
HK1616F 16 22 16 11 15,3 10000 15000 0,016 1R12X16X20
HK1616LL/3AS 16 22 16 7,75 9,7 10000 0,015 1R12X16X20
HK1622ZWD 16 22 22 yes 183 19,4 10000 15000 0,022 =
HMK1616 16 24 16 12,4 13,5 10000 15000 0,021 1R12X16X20
HMK1620 16 24 20 15,6 18,2 10000 15000 0,027 1R12X16X22
7E-HMK1620CT 16 24 20 15,6 18,2 10000 15000 0,027 1R12X16X22
HMK1626LL/3AS 16 24 26 15,6 18,2 10000 0,029 =
7E-HMK1720CT 17 24 20 15,2 20 9500 14000 0,0224 | 1R12X17X20.5
7E-HMK1725B 17 24 25 19,3 27,4 9500 14000 0,03 1R12X17X25.5
7E-HMK1725CT 17 24 25 19,3 26,7 9500 14000 0,03 1R12X17X25.5
7E-HMK1725CT/8A 17 24 25 19,3 26,7 9500 0,03 1R12X17X25.5
BK1712 17 23 12 2,7 8,5 11 9500 14000 0,015 -
BK1712CT 17 23 12 2,7 8,5 1.1 9500 14000 0,015 =
HK1712 17 23 12 2,7 8,5 11,1 9500 14000 0,012 -
HK1712D 17 23 12 yes 8,5 11 9500 14000 0,012 =
HK1712FM 17 23 12 8,05 10,3 9500 14000 0,012 -
HK1712FMD 17 23 12 yes 8,05 10,3 9500 14000 0,012 =
HMK1715 17 24 15 12,1 15 9500 14000 0,018 1R14X17X17
HMK1720C 17 24 20 15,2 20 9500 14000 0,024 1R12X17X20.5
HMK1721LL/3AS 17 24 21 12,1 15 9500 0,02 1R12X17X25.5
DCL118 17,462 | 22225 | 12,7 8,15 12 9500 14000 0,011 =
BK1812 18 24 12 2,7 8,3 10,9 9000 13000 0,015 1R15X18X12.5
BK1816 18 24 16 2,7 11,8 17,3 9000 13000 0,02 1R15X18X16.5
HK1812 18 24 12 8,3 10,9 9000 13000 0,013 1R15X18X12.5
HK1812FM 18 24 12 8,3 10,9 9000 13000 0,013 1R156X18X12.5
HK1814L/3AS 18 24 14 8,3 10,9 9000 0,015 1R15X18X16

A

43 NTN.BNR. o withvou



——C— c P ——C— c
H 2] & Ar A ' H 12 HH
| _Ne _Ne
oD ofw | eD qr-————f———— " oFw M e k. oD oFw | oD
G B W T : W W ol
HK, HMK, DCL HK -- ZWD HK - L HK - LL BK BK - ZWD BK--L

Drawn cup needle roller bearings

Part numbers Dimensions (mm) Lubrication Basic load ratings (kN) Limiting speeds (tr/min) Mass (kg) | Appropriate
hole inner ring
on outer ring|  dynamic grease

HK1816D 18 24 16 yes 11,8 17,3 9000 13000 0,018 1R15X18X16.5
HK1816F 18 24 16 11,8 17,3 8500 13000 0,018 1R156X18X16.5
HK1816LL/3AS 18 24 16 8,3 10,9 9000 0,017 1R15X18X17.5
HMK1815 18 25 15 12 15,1 9000 13000 0,019 1R15X18X16
HMK1819 18 26) 19 1516 20,9 9000 13000 0,024 1R15X18X20.5
HMK1820 18 25 20 16,3 22,3 9000 13000 0,025 1R15X18X20.5
HMK1825 18 25 25 20,3 29,6 9000 13000 0,031 1R15X18X25.5
HMK1916 19 27 16 13,9 16,3 8500 13000 0,025 1R15X19X20
DCL128 19,05 25,4 12,7 9,8 11,9 8500 13000 0,014 M1-081210
SCE1210A 19,05 25,4 | 15,875 12,8 18,4 8000 12000 0,019 M1-081210
SCE1212A 19,05 254 19,05 15,8 24,1 8000 12000 0,023 M1-081212
BK2016 20 26 16 2,7 13 20,1 8000 12000 0,022 1R17X20X16.5
BK2016D 20 26 16 2,7 yes 13 20,1 8000 12000 0,022 1R17X20X16.5
BK2020 20 26 20 2,7 16,4 27,1 8000 12000 0,027 1R17X20X20.5
BK2020CT 20 26 20 2,7 16,4 27,1 8000 12000 0,027 1R17X20X20.5
BK2030ZWD 20 26 30 2,7 yes 22,2 40 8000 12000 0,037 1R17X20X30.5
HK2012FM 20 26 12 8,75 12,1 8000 12000 0,014 1R15X20X13
HK2016D 20 26 16 yes 13 20,1 8000 12000 0,019 1R17X20X16.5
HK2016F 20 26 16 12,5 19,2 8000 12000 0,019 1R17X20X16.5
HK2016LL/3AS 20 26 16 9,25 13 8000 0,019 1R15X20X18
HK2018L/3AS 20 26 18 13 20,1 8000 0,021 1R17X20X20
HK2020F 20 26 20 16 26,2 8000 12000 0,024 1R17X20X20.5
HK2020FD 20 26 20 yes 16 26,2 8000 12000 0,024 1R17X20X20.5
HK2020LL/2AS 20 26 20 13 20,1 8000 0,024 1R17X20X20.5
HK2020LL/3AS 20 26 20 13 20,1 8000 0,024 1R17X20X20.5
HK2030ZWD 20 26 30 yes 22 40 8000 12000 0,035 1R17X20X30.5
HKS20X29X18-1PX1/L118| 20 29 18 141 15,3 8000 0,029 1R17X20X20
HKS20X29X18-1PX1/L.260] 20 29 18 14,1 15,3 8000 0,029 1R17X20X20
HKS20X29X18-1PX1/L588| 20 29 18 141 15,3 8000 0,029 1R17X20X20
HMK2015 20 27 15 13 17,3 8000 12000 0,021 1R17X20X16.5
HMK2018L/L118 20 27 18 13 17,3 8000 0,022 1R17X20X20
HMK2020 20 27 20 17,7 25,6 8000 12000 0,027 1R17X20X20.5
HMK2025 20 27 25 22 34 8000 12000 0,034 1R15X20X26
HMK2025C 20 27 25 22 34 8000 12000 0,034 1R15X20X26
HMK2030 20 27 30 26,1 42 8000 12000 0,041 1R17X20X30.5
7E-HMK2215 22 29 15 13,4 18,5 7500 11000 0,022 1R17X22X16D
7E-HMK2230 22 29 30 26,9 45 7500 11000 0,045 1R17X22X32
BK2212 22 28 12 2,7 9,75 14,3 7500 11000 0,015 1R17X22X13
BK2216 22 28 16 2,7 13,6 22,1 7500 11000 0,024 1R17X22X18
BK2220 22 28 20 2,7 17,2 29,8 7500 11000 0,03 1R17X22X20.5
HK2212 22 28 12 9,75 14,3 7500 11000 0,013 1R17X22X13
HK2212FM 22 28 12 9,2 13,4 7500 11000 0,013 1R17X22X13
HK2216F 22 28 16 13,2 21,1 7500 11000 0,021 1R17X22X18
HK2216D 22 28 16 yes 13,6 22,1 7500 11000 0,021 1R17X22X18
HK2216LL/3AS 22 28 16 9,75 14,3 7500 0,02 1R17X22X18
HK2218L/3AS 22 28 18 13,6 22,1 7500 0,024 1R17X22X20.5
HK2220D 22 28 20 yes 17,2 29,8 7500 11000 0,026 1R17X22X20.5
HK2220F 22 28 20 16,8 28,8 7500 11000 0,026 1R17X22X20.5
HK2220LL/3AS 22 28 20 13,6 22,1 7500 0,026 1R17X22X23
HMK2210 22 29 10 8,4 10,1 7500 11000 0,015 1R17X22X13
HMK2218L/3AS 22 29 18 13,4 18,5 7500 0,024 1R17X22X20.5
HMK2220C/8A 22 29 20 18,2 27,4 7500 0,03 1R17X22X20.5
HMK2220PX1 22 29 20 18,2 27,4 7500 11000 0,03 1R17X22X20.5
HMK2225 22 29 25 23,6 38,5 7500 11000 0,037 1R17X22X26
HMK2230 22 29 30 26,9 45 7500 11000 0,045 1R17X22X32
HMK2420F 24 31 20 18,8 29,1 6500 10000 0,032 -
HMK2420CT 24 3 20 18,3 28,2 6500 10000 0,032 =
7E-HKS25X32X30/8A 25 32 30 26,4 46 6500 0,049 1R20X25X32
BK2512 25 32 12 2,7 11,8 16,3 6500 9500 0,023 1R20X25X12.5
BK2516 25 32 16 2,7 15,9 24 6500 9500 0,031 1R20X25X17
BK2520 25 32 20 2,7 20,3 33 6500 9500 0,039 1R20X25X20.5

VA

NTN.BNR. o withvou 44



Drawn cup needle roller bearings

Part numbers Dimensions (mm) Lubrication Basic load ratings (kN) Limiting speeds (tr/min) Mass (kg) | Appropriate
hole inner ring
on outer ring|  dynamic static grease

BK2526 25 32 26 2,7 26,4 46 6500 9500 0,049 1R20X25X26.5
BK2538ZWD 25 32 38 2,7 yes 35 65,5 6500 9500 0,069 1R20X25X38.5
HK2512F 25 32 12 11,1 15,2 6500 9500 0,021 1R20X25X12.5
HK2516D 25 32 16 yes 15,9 24 6500 9500 0,027 1R20X25X17
HK2516F 25 32 16 15,9 24 6500 9500 0,027 1R20X25X17
HK2516LL/3AS 25 32 16 11,8 16,3 6500 0,027 1R20X25X18D
HK2518L/3AS 25 32 18 15,9 24 6500 0,031 1R20X25X20
HK2518L/5S 25 32 18 15,9 24 6500 0,031 1R20X25X20
HK2520 25 32 20 20,3 33 6500 9500 0,034 1R20X25X20.5
HK2520D 25 32 20 yes 20,3 33 6500 9500 0,034 1R20X25X20.5
HK2520LL/3AS 25 32 20 15,9 24 6500 0,033 1R20X25X20.5
HK2526 25 32 26 26,4 46 6500 9500 0,045 1R20X25X26.5
HK2526D 25 32 26 yes 26,4 46 6500 9500 0,045 1R20X25X26.5
HK2538ZWD 25 32 38 yes 85 65,5 6500 9500 0,065 1R20X25X38.5
HKS25X33X18PX1/L588 25 33 18 171 23,3 6500 0,033 1R20X25X20
HMK2510 25 33 10 9,15 10,4 6500 9500 0,019 1R20X25X12.5
HMK2515F 25 33 15 15,2 19,9 6500 9500 0,029 1R20X25X16
HMK2520 25 33 20 21,8 3.5 6500 9500 0,039 1R20X25X20.5
HMK2525 25 33 25 26,7 4 6500 9500 0,048 1R20X25X26.5
HMK2526LL/3AS 25 33 26 21,8 31,5 6500 0,043 1R20X25X26.5
HMK2530 25 33 30 32,5 53 6500 9500 0,058 1R20X25X32
DCL1612 254 | 31,75 | 19,05 18,6 29,5 6500 9500 0,031 M1-121612
DCL1616 25,4 31,75 25,4 25,4 44 6500 9500 0,038 M1-121616
7E-HMK2616 26 34 16 171 23,4 6000 9000 0,032 1R22X26X20
7E-HMK2620CT 26 34 20 21,1 30,5 6000 9000 0,04 -
HMK2620BV1 26 34 20 21,6 il 6000 9000 0,04 =
TE-BKS28X40X17-2 28 40 17 22,6 24,6 5500 8500 0,054 1R22X28X20.5
7E-BKS28X45X18 28 45 18 28,1 26,6 5500 8500 0,085 1R22X28X20.5
7E-HKS28X35X30/8A 28 35 30 28,2 52 5500 0,054 -
7E-HKS28X35X33/8A 28 35 33 28,2 52 5500 0,058 -
8Q-HMK2830/8A 28 37 30 35 54,5 5500 0,073 -
BK2820 28 35 20 2,7 21,3 36 5500 8500 0,043 1R22X28X20.5
HK2816F 28 35 16 16,7 26,4 5500 8500 0,03 1R22X28X17
HK2820 28 35 20 21,3 36 5500 8500 0,038 1R22X28X20.5
HK2820D 28 35 20 yes 21,3 36 5500 8500 0,038 1R22X28X20.5
HK2820LL/3AS 28 35 20 17,3 27,6 5500 0,037 1R22X28X23
HMK2820 28 37 20 23,6 32,5 5500 8500 0,049 1R22X28X20.5
HMK2830 28 37 30 35 54,5 5500 8500 0,073 -
DCL1816 28,575 | 34,925 | 254 27,4 50,5 5500 8500 0,043 M1-141816
HMK2920 29 38 20 24,6 35 5500 8500 0,05 -
7E-8Q-HK3016 30 37 16 18,1 30 5500 8000 0,032 1R25X30X17
7E-HK3016C 30 37 16 18,1 30 5500 8000 0,032 1R25X30X17
7E-HKS30X37X30-6/8A| 30 37 30 28,5 54 5500 0,066 1R25X30X32
BK3016 30 37 16 2,7 18,1 30 5500 8000 0,037 1R25X30X17
BK3020 30 37 20 2,7 22,3 39,5 5500 8000 0,047 1R25X30X20.5
BK3026 30 37 26 2,7 28,5 54 5500 8000 0,059 1R25X30X26.5
BK3038ZWD 30 37 38 2,7 yes 38,5 78,5 5500 8000 0,083 1R25X30X38.5
HK3012F 30 37 12 13 19,5 5500 8000 0,024 1R25X30X12.5
HK3016LL/3AS 30 37 16 13 19,5 5500 0,027 1R25X30X18D
HK3016V3 30 37 16 18,1 30 5500 8000 0,032 1R25X30X17
HK3018L 30 37 18 18,1 30 5500 0,037 1R25X30X20.5
HK3018L/3AS 30 37 18 18,1 30 5500 0,037 1R25X30X20.5
HK3020D 30 37 20 yes 22,3 39,5 5500 8000 0,04 1R25X30X20.5
HK3020F 30 37 20 22,3 39,5 5500 8000 0,04 1R25X30X20.5
HK3020LL/3AS 30 37 20 18,1 30 5500 0,039 1R25X30X23
HK3026D 30 37 26 yes 29,1 55 5500 8000 0,053 1R25X30X26.5
HK3026F 30 37 26 28,5 54 5500 8000 0,053 1R25X30X26.5
HK3038ZWD 30 37 38 yes 38,5 78,5 5500 8000 0,076 1R25X30X38.5
HKS30X37X30-1/3AS 30 37 30 27,4 51 5500 0,055 1R25X30X32
HKS30X37X45.5-2ZW/3AS| 30 37 45,5 33 64,5 5500 0,089 -
HMK3015 30 40 15 171 221 5500 8000 0,044 1R25X30X16
HMK3020 30 40 20 24,2 34,5 5500 8000 0,058 1R25X30X20.5
HMK3025 30 40 25 31 47 5500 8000 0,073 1R25X30X26.5
HMK3026LL/3AS 30 40 26 24,2 34,5 5500 0,064 1R25X30X26.5
HMK3030 30 40 30 36 57,5 5500 8000 0,087 1R25X30X32
HMK3031LL/3AS 30 40 31 31 47 5500 0,078 1R25X30X32
SCE1916A 30,162 | 38,1 25,4 32 55,5 5500 8000 0,057 -
DCL2010 31,75 | 381 | 15875 16,4 27 5000 7500 0,029 -
TE-HKS32X40X30-1 32 40 30 38 69,5 5000 7500 0,071 -
7E-HMK3220 32 42 20 27,5 38 5000 7500 0,062 -
7E-HMK3230 32 42 30 41,5 64,5 5000 7500 0,092 -
HKS32X39X34-1 32 39 34 39,5 84 5000 7500 0,071 -
HKS32X39X37-1/3AS 32 39 37 39,5 84 5000 0,078 -
7E-HKS33X38X8 33 38 8 48 7,65 5000 7500 0,011 -
DCL228F 34,925 | 41275 | 12,7 13,4 21,4 4700 7000 0,027 -
BK3520 35 42 20 2,7 24,8 47,5 4700 7000 0,055 -
HK3512 35 42 12 14 22,8 4700 7000 0,028 -
HK3516F 35 42 16 19 335 4700 7000 0,037 =
HK3516LL/3AS 35 42 16 14 22,8 4600 0,036 -
HK3518L/3AS 35 42 18 19,7 35 4600 0,037 -
HK3520 35 42 20 24,8 475 4700 7000 0,046 -
HK3520D 35 42 20 yes 24,8 47,5 4700 7000 0,046 -

45

NTN. Sne)

® @ WithYou



p—C— c
M )2 il JAR )2
2] ofw | @D fj-————f————-"refw
e 1 il Joio{ I
HK, HMK, DCL HK -- ZWD HK

Drawn cup needle roller bearings

[ ——C— C
' W PR
I I e
EUF Ty 1. | @D oFw | oD ff—-
T : M W) E—
HK -- LL BK BK - ZWD BK --L

Part numbers Dimensions (mm) Lubrication Basic load ratings (kN) Limiting speeds (tr/min) Mass (kg) | Appropriate
hole inner ring
on outer ring|  dynamic static grease

HK3520LL/3AS 35 42 20 19,7 35 4600 0,04 -
HMK3512 35 45 12 14,9 17,6 4700 7000 0,04 -
HMK3515 35 45 15 20,2 26,2 4700 7000 0,05 -
HMK3518L/3AS 35 45 18 20,2 26,2 4600 0,053 -
HMK3520 35 45 20 28,4 40,5 4700 7000 0,067 -
HMK3525 35 45 25 36 54,5 4700 7000 0,083 =
HMK3530 35 45 30 43 69 4700 7000 0,1 -
HMK3531LL/3AS 35 45 31 36 54,5 4600 0,089 -
7E-HKS36X44X30PX1 36 44 30 39,5 76 4300 6500 0,077 -
HMK3825 38 48 25 38,5 61 4300 6500 0,09 =
HMK3830 38 48 30 46 Y4 4300 6500 0,107 1R32X38X32
DCL2414 38,1 | 47,625 | 22,225 32 50,5 4300 6500 0,076 M1-202416
BK4020 40 47 20 2,7 25,9 52,5 4000 6000 0,064 1R35X40X20.5
HK4012 40 47 12 15,1 26 4000 6000 0,031 1R35X40X12.5
HK4016F 40 47 16 20,3 38,5 4000 6000 0,041 1R35X40X17
HK4016LL/3AS 40 47 16 15,1 26 4000 0,041 1R35X40X17
HK4018L/3AS 40 47 18 21,1 40 4000 0,047 1R35X40X20
HK4020 40 47 20 2,7 325 50 4000 6000 0,075 1R35X40X20.5
HK4020D 40 47 20 yes 25,9 52,5 4000 6000 0,052 1R35X40X20.5
HK4020LL/3AS 40 47 20 21,1 40 4000 0,05 =
HK4020LLD/3AS 40 47 20 yes 21,1 40 4000 0,05 -
HMK4015V3 40 50 15 23,1 32,5 4000 6000 0,056 1R35X40X17
7E-HMK4020 40 50 20 32,5 50 4000 6000 0,075 1R35X40X20.5
7E-HMK4025 40 50 25 4 67,5 4000 6000 0,091 -
HMK4030 40 50 30 49 85 4000 6000 0,112 1R35X40X34
HMK4031LL/3AS 40 50 31 4 67,5 4000 0,1 1R35X40X36
HMK4040ZWD 40 50 40 yes 58,5 107 4000 6000 0,15 -
DCL2812 44,45 | 53,975 | 19,05 29,2 47,5 3700 5500 0,074 M1-242812
DCL2816 44,45 | 53975 | 254 40,5 72 3700 5500 0,099 M1-242816
DCL2824 44,45 | 53975 | 38,1 62 126 3700 5500 0,149 =
HKS45X52X12-3 45 52 12 16 29,3 3700 5500 0,033 -
HK4516 45 52 16 21,6 43 3700 5500 0,046 1R40X45X17
HK4518L/3AS 45 52 18 21,6 43 3600 0,054 1R40X45X20
HK4520 45 52 20 27,6 59 3700 5500 0,058 1R40X45X20.5
HK4520D 45 52 20 yes 27,6 59 3700 5500 0,058 1R40X45X20.5
HK4520LL/3AS 45 52 20 21,6 43 3600 0,054 =
HMK4520 45 55 20 32 51 3700 5500 0,083 1R40X45X20.5
HMK4525 45 55 25 41,5 71,5 3700 5500 0,104 1R40X45X26.5
HMK4530 45 55 30 49,5 90 3700 5500 0,1225 1R40X45X34
HK5020 50 58 20 315 63 3200 4800 0,072 1R40X50X22
HK5022L/3AS 50 58 22 315 63 3200 0,086 1R45X50X25.5
HK5024LLD/3AS 50 58 24 yes 31,5 63 3200 0,089 1R45X50X25.5
HK5025 50 58 25 38,5 82 3200 4800 0,09 1R45X50X25.5
HK5024LL/3AS 50 58 24 Bilks) 63 3200 0,089 1R45X50X25.5
DCL3216 50,8 | 60,325 | 254 44 83,5 3100 4700 0,112 -

NTN 5Sng

® @ WithYou

46



i i

W

I S

R —

NK (ZFw = 12 mm)
NKS (3Fw = 40 mm)

RNA49 (@Fw = 12 mm)

= I

RNA49 -- R (@Fw = 14 mm)
RNA59

RNA69 -- R

NK - R (@Fw = 14 mm)

Needle roller bearings with solid rings, without inner ring

Part numbers

Dimensions (mm)

Hr—

NKS (@Fw > 43 mm)

RNA69 (@Fw =40 mm)

Basic load rating (kN)

RNA49 -- L
(with single seal)

Limiting speeds (tr/mn)

RNA49 -- LL
(with double seal)

grease
NK5/10T2 5 10 10 015 264 219 27000 40000 0,0031
NK5/1272 5 10 12 015 272 225 27000 40000 0,0037
NK6/10T2 6 12 10 015 266 228 25000 37000 0,0047
NKG/12T2 6 12 12 015 34 315 25000 37000 0,0057
NK7AOT2 7 14 10 03 267 235 23000 34000 0,0069
NK7A2T2 7 1 12 03 34 32 23000 34000 0,0082
RNAAG6 8 15 10 015 315 3 21000 32000 0,0073
NK8/16 8 15 16 03 485 52 21000 32000 0,012
NKB12T2 8 15 12 03 4 41 21000 32000 0,0087
NK912T2 9 16 12 03 455 5 20000 30000 001
NK9/6T2 9 16 16 03 55 64 20000 30000 0013
RNAASS 10 19 1 015 43 3% 19000 28000 0015
NK10/12T2 10 17 12 03 455 51 19000 28000 001
NK10/16 10 17 16 03 545 645 19000 28000 0015
NK1212 12 19 12 03 5 X 17000 26000 0013
RNA499 12 2 1 03 485 49 17000 26000 0013
8E-NK12X19K12-7 12 19 12 05 6,05 5,65 17000 26000 0011
NK12/16 12 19 16 03 6 77 17000 26000 0016
RNA4OOOR 14 2 13 03 86 92 16000 24000 0017
RNA4S00L3AS 1 2 13 03 72 85 10000 0016
RNAAOOOLLI3AS 1 2 13 03 72 85 10000 0016
NK14/16R 1 2 16 03 103 115 16000 24000 0,021
NK14/20R 14 2 20 03 13 156 16000 24000 0,02
NK15/16R 15 2 16 03 109 127 15000 23000 0022
NK15/20R 15 23 2 03 138 172 15000 23000 0027
8E-NK15X25X12-3 15 2% 12 08 815 875 15000 23000 0021
MR101812 15,875 28575 19,05 06 167 167 17000 25000 005
RNA490TR 16 2 13 03 955 109 15000 23000 0017
RNAAQO1LI3AS 16 2 13 03 775 97 10000 0018
RNAOD1LLI3AS 16 2 13 03 775 97 10000 0018
RNAGYOTR 16 2 2 03 154 2 15000 23000 0,031
NK16/16R 16 2 16 03 122 149 15000 23000 0022
NK16/20R 16 2 2 03 146 188 15000 23000 0028
NK17/16R 17 % 16 03 12, 15 15000 22000 0024
NK17/20R 17 2% 2 03 154 204 15000 22000 003
NK17.7X30K17-1PX1 17,759 2 17 03 249 278 15000 22000 0,049
NK1G/16R 18 % 16 03 127 16,2 14000 21000 0,025
NK18/20RCT 18 % 2 03 16. 2 14000 21000 0,031
NK19/16R 19 27 16 03 133 174 14000 21000 0,026
NK19/20R 19 27 2 03 16 22 14000 21000 0032
MR122012 1905 31,75 19,05 1 195 211 14000 21000 0,055
MR122016 1905 3175 254 i % 21 14000 21000 0,073
RNA90ZR 20 2 13 03 103 128 13000 20000 0022
RNAAQO2L/3AS 20 2 13 03 83 112 10000 0022
RNA4O02LL/3AS 20 2 13 03 83 112 10000 0022
RNAGSOZR 20 2 23 03 176 253 13000 20000 004
NK20/16RCT 20 2 16 03 132 175 13000 20000 0027
NK20/16RILPO3 20 2 16 03 132 175 13000 0027
NK20/20R 20 2 2 03 167 238 13000 20000 0,034
NK20X32X14PX1 20 2 1 03 161 168 13000 20000 0,030
E-NK20X32X12 20 3 12 03 122 118 13000 20000 0033
NKS20 20 2 2 03 178 28 13000 20000 0,049
NK21/16R 21 2 16 03 137 187 13000 19000 0,028
NK21/20R 21 2 2 03 174 254 13000 19000 0035
RNAAOO3R 2 3 13 03 112 146 12000 18000 0022
RNAAOOL/3AS 2 20 13 03 85 119 9000 0022
RNA4903LL/3AS 2 3 13 03 85 119 9000 0022
RNAS03 2 2 18 03 152 27 12000 18000 003
RNAGYO3R 2 2 23 03 182 272 12000 18000 0,042
NK22/16R 2 20 16 03 142 199 12000 18000 0,034
e
47 NTN.BNR. . o withYou



Cc— c—q —C— C— c
rs rs [;fs .

rs
— 1 —r) i I ﬁﬁﬂkc}
oD oFw oD oFw oD oFw oD oFw oD oF

| S— S — by B R J
C——" —
NK (ZFw = 12 mm) RNA49 (Fw = 12 mm) RNA49 -- R (BFw = 14 mm) NKS (Fw > 43 mm) RNA69 (@Fw =40 mm) RNA49 -- L RNA49 -- LL
NKS (@Fw = 40 mm) RNAS9 (with single seal) (with double seal)
RNAG9 -- R

NK - R (@Fw = 14 mm)

Needle roller bearings with solid rings, without inner ring

Part numbers Dimensions (mm) Basic load rating (kN) Limiting speeds (tr/mn)
grease

NK22/20R 22 30 20 03 18 27 12000 18000 0,037
NKS22 22 35 20 06 17,7 233 12000 18000 0,062
MR142212 22,225 34,925 19,05 1 219 25,6 12000 18000 0,059
MR142216 22,225 34,925 254 1 282 355 12000 18000 0,082
NK24/16R 24 32 16 03 15,2 223 11000 17000 0,032
NK24/20R 24 32 20 03 18,6 288 11000 17000 0,04
80-NK24X36X14 24 36 14 05 174 194 11000 17000 0,043
NKS24R 24 37 20 06 184 252 11000 17000 0,066
RNA4904RCT 25 37 17 03 21,3 255 11000 16000 0,052
RNA4904L/3AS 25 37 17 03 15,2 19,9 8000 0,055
RNA4904LL/3AS 25 37 17 03 15,2 19,9 8000 0,055
RNAG904R 25 37 30 03 36,5 50,5 11000 16000 0,1

NK25/16R 25 33 16 03 15,1 224 11000 16000 0,033
NK25/20RCT 25 33 20 03 19,2 305 11000 16000 0,042
NKS25R 25 38 20 0,6 18,3 253 11000 16000 0,068
NK25X45X17.5NRPX1 25 45 17,5 1,1 16,7 15,5 11000 16000 0,131
NK25X45X18.5-2NR 25 45 185 1,1 29,2 315 7500 11000 0,131
MR162412 254 38,1 19,05 1 23 28,1 11000 16000 0,068
MR162416 254 38,1 254 1 29,5 385 11000 16000 0,091
NK25.5X47X22PX1 25,56 47 2 05 425 50,5 11000 16000 0177
NK26/16R 26 34 16 03 15,6 23,6 10000 15000 0,034
NK26/20R 26 34 20 03 19,1 305 10000 15000 0,042
8Q-NK26X35X25-1/3AS 26 35 25 03 215 36 10000 0,062
RNA49/22R 28 39 17 03 232 293 9500 14000 0,05
RNA69/22R 28 39 30 03 40 58,5 9500 14000 0,1

NK28/20R 28 37 20 03 22,3 34 9500 14000 0,052
NK28/30RCT 28 37 30 03 26,7 48 9500 14000 0,082
NKS28R 28 42 20 06 18,1 258 9500 14000 0,084
MR182616 28,575 41,275 254 1 32,5 45 9500 14000 0,1

MR182620 28,575 41,275 31,75 1 405 60 9500 14000 0127
NK29/20R 29 38 20 03 22,2 34 9500 14000 0,054
NK29/30R 29 38 30 03 27,5 50,5 9500 14000 0,084
RNA4905R 30 42 17 03 24 315 8500 13000 0,061
RNA4905L/3AS 30 42 17 03 16 22,6 6500 0,063
RNA4905LL/3AS 30 42 17 03 16 22,6 6500 0,063
RNAG905R 30 42 30 03 415 63 8500 13000 0,112
NK30/20R 30 40 20 03 22,1 34 8500 13000 0,065
NK30/20R/LP03 30 40 20 03 22,1 34 1000 0,065
NK30/30R 30 40 30 03 33 57 8500 0,098
8Q-NK30X44X30 30 44 30 03 48 65,5 8500 13000 0,132
HL-8Q-NK30X46X30-2 30 46 30 03 53 66,5 8500 13000 0,152
8E-NK30X47X21 30 47 21 1 345 385 8500 13000 0,119
NK30X55X21-3T2 30 55 21 06 43 435 8500 13000 0,201
NKS30 30 45 22 06 23,3 33 8500 13000 0,104
MR202816 31,75 44,45 254 1 35 51 8500 13000 0,109
MR202820 31,75 44,45 31,75 1 435 68 8500 13000 0,136
RNAG9/28R 32 45 30 03 43 67 8500 13000 0,135
8E-NK32X52X15-3 32 52 15 06 22,1 216 8500 13000 0,112
NK32/30R 32 42 30 03 34 60,5 8500 13000 0,102
NK32/20R 32 42 20 03 235 375 8500 13000 0,068
NKS32 32 47 22 06 24 35 8500 13000 0,11

RNA49/28RCT 32 45 17 03 248 8810 8500 13000 0,073
8E-NK1-25X52.2X15-4PX1 325 52,2 15 1 25,2 26,2 8500 13000 0,155
8E-NK1-25X52.2X15.5PX1 325 52,2 15,5 1 252 26,2 8500 13000 0,156
8E-NK1-25X56.4X19-3 33 56,4 19 1 35,5 355 8500 13000 0,234
8E-NK33X60X20-9 33 60 20 06 445 405 8000 12000 0,216
HL-8E-NK1-25X60X20-2 33 60 20 0,6 445 40,5 8000 12000 0,271
8Q-NK34X50X35-7PX1 34 50 35 03 61,5 83 8000 12000 0,195
HL-8Q-NK34X52X33-1 34 52 33 06 66 83 8000 12000 0,313
8E-NK34X59X20-1PX1 34 59 20 1 42 46,5 8000 12000 0,224
MR223020 34,925 47,625 31,75 1 46,5 76,5 7500 11000 0,15

NTN.BNR. o withvou 48



Needle roller bearings with solid rings, without inner ring

Part numbers Dimensions (mm) Basic load rating (kN) Limiting speeds (tr/mn)
dynamic static grease oil
Cr (tr/min) (tr/min)

NK35/20R

NK35X42X30-5 35 42 30 03 27,8 60 7500 11000 0,073
NKS35 35 50 22 06 24,7 37 7500 11000 0,118
80-NK35X54X36 35 54 36 06 75,5 95,5 7500 11000 0,25
8Q-NK35X52X36 35 52 36 06 64,5 89 7500 11000 0,228
RNA4906S 35 47 17 03 149 216 7500 11000 0,066
NK35/30R 35 45 30 03 36 66,5 7500 11000 0,112
RNA4906R 35 47 17 03 255 355 7500 11000 0,069
RNAG906R 35 47 30 03 425 67,5 7500 11000 0,126
RNA4906LL/3AS 35 47 17 03 18 274 5500 0,072
NK35/20RCT 35 45 20 03 24,8 415 7500 11000 0,074
RNA4906L/3AS 35 47 17 03 18 274 5500 0,072
HL-8Q-NK36X55X28 36 55 28 1 61 76 7500 11000 0,21
HL-8Q-NK37X56X36-2 37 56 36 03 755 101 7500 11000 0,272
NK37/20R 37 47 20 03 25,3 435 7500 11000 0,077
NK37/30R 37 47 30 03 36,5 69,5 7500 11000 0,107
NKS37 37 52 2 06 26,3 4 7500 11000 0,123
NK1-25X58X20-5NR 38 58 20 1 33 435 7500 11000 0,289
NK38/20R 38 48 20 03 259 45 7500 11000 0,079
NK38/30R 38 48 30 03 375 73 7500 11000 0,107
HL-4A-8E-NK38X52X31 38 52 31 03 55,5 845 7500 11000 0,182
8Q-NK38X55X30 38 55 30 0,6 61 845 7500 11000 0,203
MR243320 38,1 52,388 31,75 15 51 815 7500 11000 0,18
MR243316 38,1 52,388 254 15 4 61 7500 11000 0,143
8E-NK39X58X16-2PX1 39 58 16 15 8810 39 6500 10000 0,125
8E-NK39X65X18-3 39 65 18 15 43 455 6500 10000 0,228
RNAG9/32R 40 52 36 06 475 82 6500 10000 0,162
RNA49/32R 40 52 20 06 315 47,5 6500 10000 0,089
RNA69/32 40 52 36 06 42 855 6500 10000 0,2
8Q-NK40X55X30 40 55 30 1 49 79 6500 10000 0,194
NK40/20R 40 50 20 03 26,4 47 6500 10000 0,083
NK40/30R 40 50 30 03 38,5 76 6500 10000 0,125
NKS40 40 55 22 06 21,1 45 6500 10000 0,129
MR263520 41,275 55,562 31,75 15 54,5 90,5 6500 9500 0,191
MR263516 41,275 55,562 254 15 435 68 6500 9500 0,153
RNAG907R 42 55 36 06 49 86,5 6500 9500 0,193
RNA4907R 42 55 20 06 2 50 6500 9500 0,107
RNA4907LL/3AS 42 55 20 06 22,7 395 4800 0,113
NK42/20R 42 52 20 03 26,9 49 6500 9500 0,086
NK42/30R 42 52 30 03 39 79 6500 9500 0,13
RNA4907L/3AS 2 55 20 06 22,7 395 4800 0,113
NK43/20R 43 53 20 03 27,5 51 6500 9500 0,086
NK43/30R 43 53 30 03 40 82 6500 9500 0,133
NKS43 43 58 22 06 29,1 49 6500 9500 0,14
MR283720 4445 58,738 31,75 19 55,5 955 6000 9000 0,204
NK45/30R 45 55 30 03 4 85,5 6000 9000 0,139
NK45/20R 45 55 20 03 28 52,5 6000 9000 0,092
NK45/30RCT 45 55 30 03 4 85,5 6000 9000 0,139
NK47/30R 47 57 30 03 425 91,5 5500 8500 0,142
NK47/20RCT 47 57 20 03 28,8 55,5 5500 8500 0,095
MR303920 47,625 61,912 31,75 15 59 105 5500 8500 0,216
RNA4908R 48 62 2 06 435 66,5 5500 8500 0,14
RNA4908LL/3AS 48 62 22 06 27,8 6810 4200 0,154
RNAG908R 48 62 40 06 67 116 5500 8500 0,256
RNA4908L/3AS 48 62 2 06 27,8 535 4200 0,154
NK50/35R 50 62 35 06 51 106 5500 8000 0,221
NKS50 50 65 22 1 31,5 57 5500 8000 0,157
NK50/25RCT 50 62 25 06 38,5 745 5500 8000 0,158
MR324120 50,8 65,088 31,75 19 62 114 5500 8000 0,227
RNA4909R 52 68 22 06 46 73 5000 7500 0,182
RNAG9I09R 52 68 40 06 70,5 127 5000 7500 0,273
RNA4909LL 52 68 22 06 28,6 57 5000 7500 0,213
RNA4909S 52 68 22 06 231 435 5000 7500 017
RNA4909LL/3AS 52 68 22 0,6 28,6 57 3800 0,157
NKS55 55 72 22 1 335 63 5000 7500 0,221
NK55/25R 55 68 25 06 4 82 5000 7500 0,193
NK55/35R 55 68 35 06 54 118 5000 7500 0,26
MR364828 57,15 76,2 44,45 15 97 173 4700 7000 0,493
MR364824 57,15 76,2 38,1 15 835 142 4700 7000 0,422
RNA4910S 58 ? 22 06 35,5 78 4700 7000 0,173
RNA4910LL/3AS 58 72 22 06 305 64 3400 0,16
RNA4910R 58 2 22 06 48 80 4700 7000 0,163
RNAG910R 58 2 40 06 74 139 4700 7000 0,32
NK60/25R 60 72 25 0,6 4 85 4300 6500 0,185
NKS60 60 80 28 1,1 445 85 4300 6500 0,335
NK60/35R 60 72 35 06 57 130 4300 6500 0,258
RNA4911S 63 80 25 1 33 65,5 4300 6500 0,244
RNAG911R 63 80 45 1 9% 183 4300 6500 0,47
RNA4911R 63 80 25 1 58,5 995 4300 6500 0,255
MR405228 63,5 82,55 44,45 2 102 191 4300 6500 0,533
NKS65 65 85 28 1,1 47 94 4000 6000 0,356
NK65/25R 65 78 25 06 45 98 4000 6000 0,221

e

49 NTN.BNR. o withvou



C— C— —C—
rs rs rs
S | HE 171 = %
oD jw oD oFw oD oFw

1 S il ’ = B

NK (@Fw = 12 mm) RNA49 (@Fw = 12 mm) RNA49 -- R (@Fw = 14 mm)
NKS (@Fw = 40 mm) RNAS59
RNAG9 -- R

NK - R (@Fw = 14 mm)

Needle roller bearings with solid rings, without inner ring

Part numbers Dimensions (mm)

C

NKS (Fw > 43 mm)

|

Basic load rating (kN)

oFw oD

RNA69 (@Fw =40 mm)

RNA49 -- L
(with single seal)

Limiting speeds (tr/mn)

RNA49 -- LL

(with double seal)

NKB5/35R

NK6&/25R 63 8 % 1 145 89 4000 6000 0241
NKGG/35R 63 82 3 06 63 139 4000 6000 0338
RNAGS1ZR 68 85 45 i %5 191 4000 6000 0,488
RNAA912S 68 8 2% 14 195 12 4000 6000 026
RNAAG1ZR 68 85 % i 615 108 4000 6000 0275
MRA45628 69,85 89 1445 2 107 209 3700 500 058
NK70/25R 70 8 % 06 3 915 3700 500 0275
NKS70R 70 % 28 1 195 103 3700 5500 038
NK70/35R 70 85 3 08 64 144 3700 5500 038
RNAG13R 72 % 45 1 o7 198 3700 5500 052
RNA4913R 72 % % 1 625 112 3700 5500 0312
NK73/25R 73 % % 06 54 100 3700 500 0302
NK73/35R 73 % % 08 765 156 3700 5500 0,428
MR486028 762 %25 1445 2 112 21 3300 5000 0651
NK75/35R 75 % 3% 06 78 162 3700 5500 0,402
NK75/25R 75 2 2 06 55 104 3700 5500 0315
MR436024 762 %25 31 2 % 168 330 5000 0558
RNAGS14R 80 100 54 i 130 27 330 5000 0857
NK80/35R 80 % 35 i 795 184 330 5000 0425
NKBO/25R 80 % 2% i 57 119 330 5000 0301
RNAAG14R 80 100 30 i 855 156 330 5000 046
NKB5/35R 8 105 3 1 100 193 3100 4700 0517
RNAGO15R 8 105 54 1 122 277 3100 4700 09%
RNA415R 8 105 2 1 &7 162 3100 4700 0,489
NKB5/25R 85 105 % i 705 123 3100 4700 0,404
MR567232 89 1143 508 2 154 2% 3000 4500 127
RNAGT6R % 10 54 1 137 208 2900 4400 097
RNA4QT6R % 110 30 1 05 174 2900 4400 0516
NK90/25R % 110 2 1 715 128 2900 4400 0,426
NK90/35R % 110 3 i 104 208 2900 4400 0,604
NK95/36R % 115 3 1 108 23 2800 420 0652
NK95/26R % 115 2% i 745 137 2800 4200 0364
MR607632 %25 12065 508 25 162 320 2800 420 128
RNAGOT7R 100 120 63 1 169 400 2700 4000 12
NK100/26R 100 120 2% i 735 137 2700 4000 0467
NK100/36R 100 120 % i 107 23 2700 4000 0679
RNA4SITR 100 120 3 1. 112 27 2700 4000 0657
RNAAGTR 105 125 3% 1 116 252 2500 3800 0,697
NK105/36R 105 125 3 i " 238 2500 3800 0713
RNAGS1ER 105 125 63 1 175 15 2500 3800 13
NK105/26R 105 125 % i 765 147 2500 3800 0,506
RNA4919R 110 130 3 i 118 260 2400 3600 0719
RNAG919R 110 130 63 1 17 440 2400 3600 146
NK110/30R 110 130 30 1 o5 204 2400 3600 0612
NK110/40R 110 130 10 11 129 2 2400 3600 083
RNA4920 115 140 10 " 127 20 230 3500 115
NKS115 115 135 3 11 %05 199 2300 3500 07
NK120/40 120 140 40 " 113 268 2200 3300 091
RNAd822 120 140 30 i 95 210 2200 3300 067
RNA4922 125 150 40 i 131 279 2100 3200 124
NK130/40 130 150 10 i 116 283 2100 3100 098
RNAdG24 130 150 30 i %5 e 2100 3100 073
NKS135 13 160 10 2 1% 299 2000 3000 132
RNA4924 135 165 45 1 180 380 2000 3000 186
NK145/42 145 170 1 15 153 360 1900 2800 149
NK145/32 145 170 3 15 1 2% 1900 2800 112
RNA426 145 165 3% 1. 118 305 1900 2800 0%
RNAA926 150 180 50 15 2 455 1800 2700 221
NK155/32 155 180 3 15 114 25 1700 2600 12
RNA4828 155 175 3 1 121 315 1700 2600 102

e
NTN. BN . o withvo 50



Needle roller bearings with solid rings, without inner ring

Part numbers Dimensions (mm) Basic load rating (kN) Limiting speeds (tr/mn)
static grease
Cor (tr/min)

RNA4928

RNA4830 165 190 40 1.1 152 390 1600 2400 1,6
RNA4930 170 210 60 2 261 610 1500 2400 2,98
RNA4832 175 200 40 11 160 425 1500 2300 1,7
RNA4932 180 220 60 2 270 650 1500 2200 31

RNA4834 185 215 45 11 185 495 1500 2200 2,54
RNA4934 190 230 60 2 279 690 1400 2100 322
RNA4836 195 225 45 11 195 540 1400 2100 2,68
RNA4936 205 250 69 2 375 890 1300 2000 448
RNA4838 210 240 50 15 227 680 1300 1900 321
RNA4938 215 260 69 2 390 945 1300 1900 453
RNA4840 220 250 50 15 231 705 1200 1800 8180
RNA4940 225 280 80 2,1 505 1180 1200 1800 72
RNA4844 240 270 50 15 244 780 1100 1700 3,62
RNA4944 245 300 80 21 525 1270 1100 1600 781
RNA4848 265 300 60 2 360 1080 1000 1500 54
RNA4948 265 320 80 21 540 1350 1000 1500 84
RNA4852 285 320 60 2 375 1160 950 1400 58
RNA4952 290 360 100 21 805 1900 950 1400 15,9
RNA4856 305 350 69 2 455 1300 850 1300 9.3
RNA4864 350 400 80 21 640 1850 750 1100 134
RNA4868 370 420 80 21 655 1940 750 1100 14

51 NTN.BNR. o withvou



Needle roller bearings with solid rings, with inner ring

NK + IR (@d = 9 mm)

NA49 -- R
NA59

NA69 -- R (@d = 30 mm)

NK --R+IR

e— B —~

|—C¢—|

NA49 -- LL
(with double seal)

Part numbers Dimensions (mm) Basic load rating (kN) Limiting speeds (tr/min)
B dynamic static grease
(width
inner ring) Cr
NK8/12T2+1R5X8X12 5 8 15 12 12 03 4 41 21000 32000 0,012
NK8/16+1R5X8X16 5 8 15 16 16 03 4,85 52 21000 32000 0,017
NK9/12T2+1R6X9X12 6 9 16 12 12 03 4,55 5 20000 30000 0,013
NK9/16T2+1R6X9X16 6 9 16 16 16 03 55 64 20000 30000 0,017
8E-NK10/16CT+1R7X10X16 7 10 17 16 16 03 5,45 6,45 19000 28000 0,018
NK10/12T2+1R7X10X12 7 10 17 12 12 03 4,55 5,1 19000 28000 0,014
NK12/12+1R9X12X12 9 12 19 12 12 0,3 5 6,1 17000 26000 0,018
NK12/16+1R9X12X16 9 12 19 16 16 03 6 7 17000 26000 0,022
NA4900R 10 14 22 13 13 03 8,6 92 16000 24000 0,024
NK14/16R+1R10X14X16 10 14 22 16 16 0,3 10,3 11,5 16000 24000 0,03
NK14/20R+1R10X14X20 10 14 22 20 20 0,3 13 15,6 16000 24000 0,038
NA4900LL/3AS 10 14 22 13 14 0,3 72 85 10000 0,025
NA4901R 12 16 24 13 13 0,3 9,55 10,9 15000 23000 0,026
NA4901LL/3AS 12 16 24 13 14 0,3 7,75 9,7 10000 0,028
NA6901R 12 16 24 22 22 0,3 15,4 20 15000 23000 0,046
NK16/20R+1R12X16X20 12 16 24 20 20 0,3 14,6 18,8 15000 23000 0,042
NK16/16R+1R12X16X16 12 16 24 16 16 0,3 12,2 14,9 15000 23000 0,033
NK19/16R+1R15X19X16 15 19 27 16 16 0,3 13,3 17,4 14000 21000 0,039
NK19/20R+1R15X19X20 15 19 27 20 20 0,3 16 22,2 14000 21000 0,045
NA4902R 15 20 28 13 13 0,3 10,3 12,8 13000 20000 0,036
NA4902LL/3AS 15 20 28 13 14 0,3 8,3 11,2 10000 0,036
NAG6902R 15 20 28 23 23 0,3 17,6 25,3 13000 20000 0,064
NK21/16R+1R17X21X16 17 21 29 16 16 0,3 13,7 18,7 13000 19000 0,042
NK21/20R+1R17X21X20 17 21 29 20 20 0,3 17,4 25,4 13000 19000 0,053
NA4903R 17 22 30 13 13 0,3 1,2 14,6 12000 18000 0,037
NA4903LL/3AS 17 22 30 13 14 0,3 8,5 11,9 9000 0,039
NA5903 17 22 30 18 18 0,3 15,2 21,7 12000 18000 0,056
NAG903R 17 22 30 23 23 0,3 18,2 27,2 12000 18000 0,069
NK24/16R+1R20X24X16 20 24 32 16 16 0,3 15,2 22,3 11000 17000 0,049
NK24/20R+1R20X24X20 20 24 32 20 20 0,3 18,6 28,8 11000 17000 0,061
NA4904LL/3AS 20 25 37 17 18 0,3 15,2 19,9 8000 0,08
NA4904RCT 20 25 37 17 17 0,3 21,3 255 11000 16000 0,074
NAG904R 20 25 37 30 30 0,3 36,5 50,5 11000 16000 0,141
NK26/16R+1R22X26X16 22 26 34 16 16 0,3 15,6 23,6 10000 15000 0,046
NK26/20R+1R22X26X20 22 26 34 20 20 0,3 19,1 30,5 10000 15000 0,064
NA49/22R 22 28 39 17 17 0,3 23,2 29,3 9500 14000 0,08
NA59/22 22 28 39 23 23 0,3 26,4 37,5 9500 14000 0,134
NA69/22R 22 28 39 30 30 0,3 40 58,5 9500 14000 0,154
NK29/20R+1R25X29X20 25 29 38 20 20 0,3 22,2 34 9500 14000 0,079
NK29/30R+1R25X29X30 25 29 38 30 30 0,3 27,5 50,5 9500 14000 0,123
NA4905R 25 30 42 17 17 0,3 24 315 8500 13000 0,088
NA4905LL/3AS 25 30 42 17 18 0,3 16 22,6 6500 0,093
NA5905 25 30 42 23 23 0,3 30,5 43 8500 13000 0,139
NA6905R 25 30 42 30 30 0,3 41,5 63 8500 13000 0,162
NA69/28R 28 32 45 30 30 0,3 43 67 8500 13000 0,179
NA49/28R 28 32 45 17 17 0,3 24,8 816 8500 13000 0,098
NK32/20R+1R28X32X20 28 32 42 20 20 0,3 23,5 37,5 8500 13000 0,096
NK32/30R+1R28X32X30 28 32 42 30 30 0,3 34 60,5 8500 13000 0,146
NA4906R 30 35 47 17 17 0,3 255 355 7500 11000 0,101
NA4906LL/3AS 30 ) 47 17 18 0,3 18 27,4 5500 0,107
NA5906 30 35 47 23 23 0,3 32,5 48,5 7500 11000 0,152
NAG906R 30 2B 47 30 30 0,3 42,5 67,5 7500 11000 0,185
NK35/20RCT+1R30X35X20 30 35 45 20 20 0,3 24,8 415 7500 11000 0,112
NK35/30R+1R30X35X30 30 35 45 30 30 0,3 36 66,5 7500 11000 0,171
NK37/20R+1R32X37X20 32 37 47 20 20 0,3 25,3 435 7500 11000 0,117
NK37/30R+1R32X37X30 32 37 47 30 30 0,3 36,5 69,5 7500 11000 0,17
NA49/32R 32 40 52 20 20 0,6 315 47,5 6500 10000 0,157
NAG69/32R 32 40 52 36 36 0,6 47,5 82 6500 10000 0,286
NK40/20R+1R35X40X20 35 40 50 20 20 0,3 26,4 47 6500 10000 0,13
oA
NTN. BN . o withvo 52



Needle roller bearings with solid rings, with inner ring

Part numbers Dimensions (mm) Basic load rating (kN) Limiting speeds (tr/min)
B dynamic static grease
(width
inner ring) Cor

NK40/30R+1R35X40X30 35 40 50 30 30 0,3 38,5 76 6500 10000 0,193
NA4907R 35 42 55 20 20 0,6 32 50 6500 9500 0,171
NA4907LL/3AS 35 42 5 20 21 0,6 22,7 39,5 4800 0,175
NA6907R 35 42 55 36 36 0,6 49 86,5 6500 9500 0,31

NK43/20R+1R38X43X20 38 43 53 20 20 0,3 27,5 51 6500 9500 0,134
NK43/30R+1R38X43X30 38 43 53 30 30 0,3 40 82 6500 9500 0,207
NK45/20R+1R40X45X20 40 45 5 20 20 0,3 28 52,5 6000 9000 0,143
NK45/30RCT+1R40X45X30 40 45 55 30 30 0,3 4 85,5 6000 9000 0,216
NA4908R 40 48 62 22 22 0,6 43,5 66,5 5500 8500 0,232
NA4908LL/3AS 40 48 62 22 23 0,6 27,8 53,5 4200 0,252
NA5908 40 48 62 30 30 0,6 53 92,5 5500 8500 0,348
NAG6908R 40 48 62 40 40 0,6 67 116 5500 8500 0,426
NK47/20RCT+1R42X47X20 42 47 57 20 20 0,3 28,8 65,3 5500 8500 0,148
NK47/30R+1R42X47X30 42 47 57 30 30 0,3 42,5 91,5 5500 8500 0,222
NK50/25RCT+1R45X50X25 45 50 62 25 25 0,6 38,5 74,5 5500 8000 0,229
NK50/35R+1R45X50X35 45 50 62 35 35 0,6 51 106 5500 8000 0,322
NA4909R 45 52 68 22 22 0,6 46 73 5000 7500 0,27
NA4909LL/3AS 45 52 68 22 23 0,6 28,6 57 3800 0,29
NA5909 45 52 68 30 30 0,6 56 101 5000 7500 0,396
NAG909R 45 52 68 40 40 0,6 70,5 127 5000 7500 0,437
NK55/25R+1R50X55X25 50 55 68 25 25 0,6 4 82 5000 7500 0,271
NK55/35R+1R50X55X35 50 55 68 35 35 0,6 54 118 5000 7500 0,379
NA4910R 50 58 72 22 22 0,6 48 80 4700 7000 0,276
NA4910LL/3AS 50 58 7?2 22 23 0,6 30,5 64 3400 0,295
NA5910 50 58 72 30 30 0,6 58 110 4700 7000 0,498
NAG910R 50 58 72 40 40 0,6 74 139 4700 7000 0,529
NK60/25R+1R55X60X25 55 60 72 25 25 0,6 41 85 4300 6500 0,271
NK60/35R+1R55X60X35 55 60 72 35 35 0,6 57 130 4300 6500 0,379
NA4911R 55 63 80 25 25 1 58,5 99,5 4300 6500 0,396
NA5911 55 63 80 34 34 1 76,5 140 4300 6500 0,559
NA6911R 55 63 80 45 45 1 94 183 4300 6500 0,726
NA4912R 60 68 85 25 25 1 61,5 108 4000 6000 0,427
NA5912 60 68 85 34 34 1 80,5 153 4000 6000 0,614
NAG6912R 60 68 85 45 45 1 95,5 191 4000 6000 0,758
NK68/25R+1R60X68X25 60 68 82 25 25 1 445 89 4000 6000 0,393
NK68/35R+1R60X68X35 60 68 82 35 35 0,6 63 139 4000 6000 0,551
NA4913R 65 72 90 25 25 1 62,5 112 3700 5500 0,454
NA5913 65 72 90 34 34 1 84 165 3700 5500 0,655
NAG6913R 65 72 90 45 45 1 97 198 3700 5500 0,779
NK73/25R+1R65X73X25 65 73 90 25 25 0,6 54 100 3700 5500 0,466
NK73/35R+1R65X73X35 65 73 90 35 35 0,6 76,5 156 3700 5500 0,66
NA4914R 70 80 100 30 30 1 85,5 156 3300 5000 0,727
NA5914 70 80 100 40 40 1 103 187 3300 5000 1,06
NA6914R 70 80 100 54 54 1 130 267 3300 5000 1,34
NK80/25R+1R70X80X25 70 80 95 25 25 1 57 119 3300 5000 0,525
NK80/35R+1R70X80X35 70 80 95 35 35 1 79,5 184 3300 5000 0,738
NA4915R 75 85 105 30 30 1 87 162 3100 4700 0,776
NA6915R 75 85 105 54 54 1 132 277 3100 4700 1,45
NK85/25R+1R75X85X25 75 85 105 25 25 1 70,5 123 3100 4700 0,642
NK85/35R+1R75X85X35 75 85 105 35 35 1 100 193 3100 4700 0,853
NA4916R 80 90 110 30 30 1 90,5 174 2900 4400 0,82
NA5916 80 90 110 40 40 1 115 223 2900 4400 1,15
NAG916R 80 90 110 54 54 1 137 298 2900 4400 1,53
NK90/25R+1R80X90X25 80 90 110 25 25 1 71,5 128 2900 4400 0,68
NK90/35R+1R80X90X35 80 90 110 35 35 1 104 208 2900 4400 0,959
NK95/26R+1R85X95X26 85 95 115 26 26 1 74,5 137 2800 4200 0,644
NK95/36R+1R85X95X36 85 95 115 36 36 1 108 223 2800 4200 1,05
NA4917R 85 100 120 35 35 11 112 237 2700 4000 1,24
NA5917 85 100 120 46 46 11 137 290 2700 4000 1,76
NA6917R 85 100 120 63 63 11 169 400 2700 4000 2,25
NK100/26R+1R90X100X26 90 100 120 26 26 1 7345 137 2700 4000 0,781
NK100/36R+1R90X100X36 90 100 120 36 36 1 107 223 2700 4000 1,09
NA4918R 90 105 125 35 35 11 116 252 2500 3800 1,84
NA6918R 90 105 125 63 63 11 175 425 2500 3800 2,37
NK105/26R+1R95X105X26 95 105 125 26 26 1 76,5 147 2500 3800 0,819
NK105/36R+1R95X105X36 95 105 125 36 36 1 111 238 2500 3800 1,15
NA4919R 95 110 130 o) o) 11 118 260 2400 3600 1,36
NA6919R 95 110 130 63 63 1,1 177 440 2400 3600 2,63
NK110/30R+1R100X110X30 100 110 130 30 30 11 97,5 204 2400 3600 0,99
NK110/40R+1R100X110X40 100 110 130 40 40 11 129 292 2400 3600 1,34
NA4920 100 115 140 40 40 1,1 127 260 2300 3500 1,93
NA4822 110 120 140 30 30 1 93,5 210 2200 3300 1,1

NA4922 110 125 150 40 40 1,1 131 279 2100 3200 2,08
NA4824 120 130 150 30 30 1 99,5 233 2100 3100 1,17
NA4924 120 135 165 45 45 11 180 380 2000 3000 2,84
NA4924C3 120 135 165 45 45 11 180 380 2000 3000 2,84
NA4826 130 145 165 89 ) 11 118 305 1900 2800 1,6

NA4926 130 150 180 50 50 1,5 202 455 1800 2700 3,9

NA4828 140 155 175 35 35 11 121 315 1700 2600 1,82
NA4928 140 160 190 50 50 1,5 209 485 1700 2500 4,05

53 NTN.BNR. o withvou



NK + IR (@d = 9 mm)

Needle roller bearings with solid rings, with inner ring

NA49 -- R

NA59

NA69 -- R (@d = 30 mm)
NK - R + IR

e B —+

|—C¢—|

NA49 -- LL
(with double seal)

Part numbers Dimensions (mm) Basic load rating (kN) Limiting speeds (tr/min)
dynamic static grease
(width
inner ring) Cr Cor
NA4830 150 165 190 40 40 1,1 152 390 1600 2400 2,72
NA4832 160 175 200 40 40 1,1 160 425 1500 2300 2,9
NA4834 170 185 215 45 45 1,1 185 495 1500 2200 3,99
NA4836 180 195 225 45 45 11 195 540 1400 2100 419
NA4838 190 210 240 50 50 15 227 680 1300 1900 5,62
NA4840 200 220 250 50 50 15 231 705 1200 1800 5,84
NA4844 220 240 270 50 50 15 244 780 1100 1700 6,37
NA4348 240 265 300 60 60 2 360 1080 1000 1500 10
NA4852 260 285 320 60 60 2 375 1160 950 1400 10,8
NA4856 280 305 350 69 69 2 455 1300 850 1300 15,5
NA4860 300 330 380 80 80 2,1 625 1770 800 1200 22
NA4864 320 350 400 80 80 2,1 640 1850 750 1100 232
NA4872 360 390 440 80 80 2,1 665 2020 650 1000 25,7
NA4876 380 415 480 100 100 2,1 1000 2840 650 950 44,5
NTN. BN . o withvo 54



RNAO

Needle roller bearings with separable solid rings, without inner ring

RNAO -- ZW

Part numbers Dimensions (mm) Basic load rating (kN) Limiting speeds (tr/min) Mass (kg)
static (N)
Cor

RNAOQ-5X10X8T2 5 8

RNAOQ-6X12X7XT2/2AS 6 9 12 7 0,3 2,27 1,86 25000 0 0,003
RNA0-6X13X8T2 6 9 13 8 0,3 2,66 2,28 25000 37000 0,006
RNAQ-7X14X8T2 7 10 14 8 0,3 2,67 2,35 23000 34000 0,006
RNA0-8X15X10T2 8 11 15 10 0,3 4 4.1 21000 32000 0,008
RNAO-10X17X10T2 10 13 17 10 0,3 4,55 51 19000 28000 0,01
RNAO-10X22X10X 10 14 22 10 0,5 516 5,45 19000 28000 0,021
RNAO-12X22X12 12 18 22 12 0,3 8,65 8 17000 26000 0,019
RNAO-15X23X13 15 19 23 13 0,3 8,25 10,2 15000 23000 0,02
RNAO-16X24X13 16 20 24 13 0,3 9,05 1.8 15000 23000 0,021
RNAO-16X28X12 16 22 28 12 0,3 11,7 12,5 15000 23000 0,032
RNAO-17X25X13 17 21 25 13 0,3 9,4 12,6 15000 22000 0,022
RNA0-20X28X13 20 24 28 13 0,3 10 14,3 13000 20000 0,025
RNA0-20X28X26ZW 20 24 28 26 0,3 171 28,6 13000 20000 0,05
RNA0-20X32X12 20 26 32 12 0,3 12,9 15,1 13000 20000 0,038
RNA0-22X30X26ZW 22 26 30 26 0,3 17,5 30,5 12000 18000 0,054
RNA0-22X35X16 22 29 35 16 0,3 18,7 22,7 12000 18000 0,059
RNA0-25X35X17 25 29 35 17 0,3 14,2 24 11000 16000 0,053
RNAQ-25X35X26ZW 25 29 85 26 0,3 18,4 oo 11000 16000 0,076
RNA0-30X40X17 30 35 40 17 0,3 19,4 32,5 9000 13000 0,06
RNAOQ-30X42X32ZW 30 37 42 32 0,3 37,5 60,5 9000 13000 0,137
RNA0-32X42X13 32 37 42 13 0,3 14,5 23 8500 13000 0,049
RNAO-35X45X26ZW 35 40 45 26 0,3 26,1 50 7500 11000 0,091
RNAQ-40X50X34ZW 40 45 50 34 0,3 37,5 83 6500 10000 0,152
RNA0-40X55X20 40 47 08 20 0,3 31 il 5 6500 10000 0,145
RNA0-40X55X40ZW 40 48 55 40 0,3 56,5 102 6500 10000 0,275
RNA0-40X50X17V1 40 45 50 17 0,3 21,8 41,5 6500 10000 0,074
RNAO0-45X55X17 45 50 55 17 0,3 22,3 44,5 6000 9000 0,083
RNA0-45X62X40ZW 45 3 62 40 0,3 61,5 118 6000 9000 0,377
RNA0-50X62X20 50 55 62 20 0,3 27,9 62 5500 8000 0,14
RNA0-50X65X20 50 58 65 20 0,3 38,5 67,5 5500 8000 0,168
RNAO-50X65X40ZW 50 58 65 40 0,6 66,5 135 5500 8000 0,355
RNA0-55X68X20 55 60 68 20 0,6 28,8 66,5 4800 7500 0,166
RNA0-60X78X20 60 68 78 20 1 40 75 4400 6500 0,255
RNAQ-60X78X40ZW 60 68 78 40 1 69 150 4400 6500 05
RNA0-65X85X30 65 73 85 30 1 61 132 4100 6000 0,464
RNAO-70X90X30 70 78 90 30 1 65,5 149 3800 5500 0,499
RNAO-70X90X60ZW 70 78 90 60 1 112 297 3800 5500 1,02
RNA0-80X100X30 80 88 100 30 1 69 166 3300 5000 0,58
RNAO-100X120X30 100 108 120 30 1 76 201 2700 4000 0,694

55

NTN. Sne)

® @ WithYou



NAO NAO -- ZW

Needle roller bearings with separable solid rings, with inner ring

Part numbers Dimensions (mm) Basic load rating (kN) Limiting speeds (tr/min) Mass (kg)
dynamic (N) static (N) grease
Cr Cor

NA0-17X35X16

NA0-20X35X17 25 20 29 35 17 0,3 14,2 24 11000 16000 0,076
NAO0-25X40X17 30 25 35 40 17 0,3 194 R 9000 13000 0,088
NA0-25X42X16 30 25 37 42 16 0,3 219 30,5 9000 13000 0,086
NAQ-30X45X17 30 86 40 45 13 0,3 15,2 251 7500 11000 0,077
NAO0-30X45X26ZW 35 30 40 45 26 0,3 26,1 50 7500 11000 0,157
NAO0-35X50X17 40 88 45 50 17 0,3 21,8 415 6500 10000 0,113
NAO0-35X55X20 40 35 47 55 20 0,3 31 51,5 6500 1000 0,19
NA0-40X55X17 40 45 50 G5 17 0,3 22,3 445 6000 9000 0,127
NA0-40X62X20 40 45 53 65 20 0,3 36 59 6000 9000 0,23
NAO0-50X68X20 55 50 60 68 20 0,6 28,8 66,5 4800 7500 0,23

NTN.BNR. . ¢ withYou 56



-

rs

i

£

_

1IR-M1

Inner rings

Part numbers Dimensions (mm)

d F t

1R5X7X10 5 7 10 1 0,15 0,0014
1R5X8X12 5 8 12 1 03 0,0028
1R5X8X16 5 8 16 - 0,3 0,0038
1R6X8X10 6 8 10 1 0,15 0,0017
1R6X10X10D 6 10 10 1 03 0,0037
1R6X10X10 6 10 10 1 03 0,0037
1R6X10X12D 6 10 12 - 03 0,0046
1R6X10X13 6 10 13 1 03 0,005
1R6X9X12 6 9 12 1 0,3 0,0032
1R6X9X16 6 9 16 1 0,3 0,0043
1R7X10X10.5 7 10 10,5 1 0,3 0,0031
1R7X10X12 7 10 12 1 0,3 0,0036
1R7X10X16 7 10 16 1 0,3 0,0049
1R7X12X16 7 12 16 1 03 0,0093
1R7X9X10 7 9 10 1 0,15 0,0019
1R8X12X10 8 12 10 1 03 0,0048
1R8X12X10D 8 12 10 1 0,3 0,0048
1R8X12X10.5 8 12 10,5 1 0,3 0,005
1R8X12X12D 8 12 12 - 0,3 0,0057
1R8X12X12.5 8 12 12,5 1 03 0,0059
1R8X14X16 8 14 16 1 0,3 0,013
1ROX12X11 9 12 1 1 03 0,0041
1R9X12X12 9 12 12 1 0,3 0,0045
1R9X12X16 9 12 16 1 0,3 0,0061
1R9X15X16 9 15 16 1 0,3 0,014
1R10X13X12.5 10 13 12,5 1 03 0,0052
1R10X14X12 10 14 12 1 0,3 0,0073
1R10X14X12D 10 14 12 = 0,3 0,0073
1R10X14X13 10 14 13 1 0,3 0,0074
1R10X14X14D 10 14 14 = 03 0,008
1R10X14X16 10 14 16 - 0,3 0,0092
1R10X14X20 10 14 20 1 03 0,012
1R10X15X15.5 10 15 15,6 1 0,3 0,012
1R10X16X16 10 16 16 1 0,3 0,015
1R12X15X12 12 15 12 1 0,3 0,0058
1R12X15X12.5 12 15 12,5 1 03 0,0061
1R12X15X16 12 15 16 1 0,3 0,0078
1R12X15X16.5 12 15 16,5 = 0,3 0,008
1R12X15X22.5 12 15 22,5 - 0,3 0,011
1R12X16X12 12 16 12 1,5 03 0,0079
1R12X16X13 12 16 13 15 0,3 0,0087
1R12X16X14D 12 16 14 = 0,3 0,0095
1R12X16X16 12 16 16 15 0,3 0,011
1R12X16X20 12 16 20 15 03 0,014
1R12X16X22 12 16 22 15 0,3 0,015
1R12X17X20.5 12 17 20,6 15 03 0,019
1R12X17X25.5 12 17 25,5 15 0,3 0,024
1R14X17X17 14 17 17 1149 0,3 0,0095
1R15X18X12.5 15 18 12,5 15 0,3 0,0072
1R15X18X16 15 18 16 1.5 03 0,0093
1R15X18X16.5 15 18 16,5 15 0,3 0,0096
1R15X18X17.5 15 18 17,5 1,5 0,3 0,01

1R15X18X20.5 15 18 20,5 15 0,3 0,012
1R15X18X25.5 15 18 25,5 1,5 0,3 0,015
1R15X19X16 15 19 16 15 0,3 0,013
1R15X19X20 15 19 20 15 0,3 0,016
1R15X20X12 15 20 12 15 0,3 0,012
1R15X20X13 15 20 13 15 0,3 0,014
1R15X20X14D 15 20 14 - 0,3 0,015
1R15X20X18 15 20 18 15 03 0,019
1R15X20X20.5 15 20 20,6 15 03 0,021
1R15X20X23 15 20 23 = 0,3 0,024

57 NTN.BNR. o withvou



Inner rings

Part numbers

1R15X20X26
1R15X20X30.5
1R15X22X20

-

rs

i

_

1IR-M1

Dimensions (mm)

1R17X20X16
1R17X20X16.5
1R17X20X20
1R17X20X20.5
1R17X20X30.5
1R17X21X16
1R17X21X20
1R17X22X13
1R17X22X14D
1R17X22X16
1R17X22X18
1R17X22X20.5
1R17X22X23
1R17X22X26
1R17X22X32
1R17X24X20
1R17X22X16D

1R20X24X16
1R20X24X20
1R20X24X28.5
1R20X25X12.5
1R20X25X16
1R20X25X16.5
1R20X25X17
1R20X25X18D
1R20X25X20
1R20X25X20.5
1R20X25X23
1R20X25X26
1R20X25X26.5
1R20X25X30
1R20X25X32
1R20X25X38.5
1R20X28X20

1R22X26X16
1R22X26X20
1R22X28X17
1R22X28X20
1R22X28X20.5
1R22X28X23
1R22X28X30

1R25X29X20
1R25X29X30
1R25X30X12.5
1R25X30X16
1R25X30X16.5
1R25X30X17
1R25X30X18
1R25X30X18D
1R25X30X20
1R25X30X20.5
1R25X30X20.5D
1R25X30X23
1R25X30X26.5
1R25X30X30
1R25X30X32
1R25X30X38.5
1R25X32X15X1PX1
1R25X32X22

NTN. Sne)

® @ WithYou

58

£




Inner rings

Part numbers

M1-162016

Dimensions (mm)

1R28X32X17
1R28X32X20
1R28X32X30

0,025
0,028
0,044

1R29X32X13

0,015

1R30X35X12.5
1R30X35X13
1R30X35X16
1R30X35X16.5
1R30X35X17
1R30X35X18D
1R30X35X20
1R30X35X20.5
1R30X35X23
1R30X35X26
1R30X35X30
1R30X35X30D
1R30X35X32
1R30X37X18
1R30X37X22
1R30X38X20

0,024
0,025
0,031
0,032
0,032
0,035
0,038
0,039
0,044
0,05
0,059
0,059
0,063
0,05
0,061
0,065

M1-202420

0,094

1R32X37X20
1R32X37X30
1R32X38X32
1R32X40X20
1R32X40X27
1R32X40X36

0,04
0,063
0,082
0,068
0,092
0,124

1R33X37X13

0,022

M1-222820

0,146

1R35X40X12.5
1R35X40X16.5
1R35X40X17
1R35X40X20
1R35X40X20.5
1R35X40X30
1R35X40X30V4
1R35X40X34
1R35X40X40
1R35X42X20
1R35X42X21D
1R35X42X23D
1R35X42X27
1R35X42X36
1R35X43X22

0,027
0,037
0,038
0,044
0,046
0,068
0,068
0,079
0,091
0,064
0,068
0,074
0,08
0,117
0,081

1R38X43X20
1R38X43X30

0,048
0,074

M1-242816

0,083

1R40X45X16.5
1R40X45X17
1R40X45X20
1R40X45X20.5
1R40X45X26.5
1R40X45X30
1R40X45X34
1R40X45X40
1R40X48X22
1R40X48X23D
1R40X48X30
1R40X48X40
1R40X50X20
1R40X50X22
1R40X50X22P5

NN T RPN T NN RN NN

o
[oe]

0,042
0,043
0,051
0,063
0,068
0,077
0,088
0,106
0,092
0,097
0,123
0,17
0,106
0,118
0,118

1R42X47X20
1R42X47X30

0,053
0,08

1R45X50X20
1R45X50X25
1R45X50X25.5
1R45X50X35
1R45X50X40
1R45X52X20X
1R45X52X22
1R45X52X23D
1R45X52X30
1R45X52X40
1R45X55X20
1R45X55X22
1R45X55X40

N DN NN N

—

(&3]

0,6

0,057
0,071
0,074
0,101
0,115
0,083
0,088
0,093
0,123
0,164
0,116
0,13
0,173

1R50X55X20
1R50X55X25
1R50X55X35
1R50X55X40
1R50X58X22

NN NDNDMNDRND D NN

0,6

NTN. Sne)

0,063
0,078
0,112
0,128
0,113

® @ WithYou




Inner rings

Part numbers

-

rs

i

_

1IR-M1

Dimensions (mm)

£

1R50X58X23D 50 58 23 : 06 0,119
1R50X58X30 50 58 30 2 06 0159
1R50X58X40 50 58 40 2 06 020
1R50X60X20 50 60 20 2 1 0129
1R50X60X25 50 60 2 2 1 0163
1R50X60X28 50 60 28 2 11 0183
1R50X60X40 50 60 40 2 i 0262
1R55X60X25 55 60 2 22 06 0,086
1R55X60X35 55 60 % > 06 0121
1R55X63X25 55 63 2 2 1 0141
1R55X63X34 55 63 34 22 1 0192
1R55X63X45 55 63 15 22 1 0256
1RB5X65X28 55 65 28 22 1. 0206
1R55X65X30 55 65 30 22 i 0,22
1RB5X65X60 55 65 60 15 1 0.44
1R55X60X38XPX1 55 60 38 22 1 0,131
1R60X68X25 60 68 2 22 1 0152
1R60X68X34 60 68 34 22 1 0206
1R60X68X35 60 68 3% 22 06 0213
1R60X68X45 60 68 15 22 i 0,27
1R60X70X25 60 70 25 22 1 0195
1R60X70X28 60 70 28 22 11 0216
1R60X70X30 60 70 30 22 i 0232
1R60X70X60 60 70 60 22 1 0463
1RG0X70X25V2 60 70 2 22 i 0195
1RE5X72X25 65 72 2 22 1 0,142
1RE5X72X34 65 72 34 22 1 0193
1RE5X72X45 65 72 15 22 1 0250
1RE5X73X25 65 73 2 22 06 0164
1RG5X73X35 65 73 %5 22 06 0232
1RB5X75X28 65 75 28 22 11 0,24
1RE5X75X30 65 75 30 22 i 0,256
1R65X75X60 65 75 60 22 1 0513
1R70X80X25 70 80 2 22 1 0224
1R70X80X28 70 80 28 22 11 025
1R70XB0X30 70 80 30 22 i 0267
1R70X80X35 70 80 %5 22 1 0313
1R70X80X40 70 80 40 22 1 0358
1R70X80X54 70 80 54 22 1 0,483
1R70XB0X56 70 80 56 22 i 05502
1R70XB0X60 70 80 60 22 1 0,54
1R75X85X25 75 8 2 22 1 0238
1R75XB5X30 75 8 30 22 1 0287
1R75X85X35 75 8 3% 22 1 0336
1R75XB5X40 75 8 40 22 1 0385
1R75XB5X54 75 8 54 22 1 0515
1R75X90X32 75 ) 3 22 11 048
1RB0X90X25 80 ) 2 22 1 0254
1RB0X90X30 80 % 30 22 1 0304
1RB0X90X35 80 % %5 22 1 0355
1RBOX90X40 80 % 54 22 1 0408
1RB0X90X54 80 % 54 22 1 05543
1RB0X95X32 80 % 3 22 1. 051
1RB5X95X36 85 % 36 25 1 0398
1R85X100X32 85 100 3 25 1 0,53
1R85X100X35 85 100 35 25 11 0,58
1R85X100X46 85 100 16 25 11 0.76
1R85X100X63 85 100 63 25 11 1,05
1RB5X95X26 85 % 2% 25 i 028
e
NTN. BN . o withvo 60




Inner rings

Part numbers

Dimensions (mm)

1R90X100X26 90 100 2,5 0,294
1R90X100X30 90 100 2,5 0,34
1R90X100X36 90 100 2,5 0,406
1R90X105X32 90 105 2,5 0,56
1R90X105X35 90 105 2,5 0,61
1R90X105X46 90 105 25 0,8
1R90X105X63 90 105 2,5 1,11
1R95X105X26 95 105 2,5 0,313
1R95X105X36 95 105 2,5 0,43
1R95X110X32 95 110 25 0,59
1R95X110X35 95 110 2,5 0,64
1R95X110X46 95 110 2,5 0,85
1R95X110X63 95 110 2,5 1,17
1R100X110X30 100 110 2,5 0,375
1R100X110X40 100 110 2,5 0,505
1R100X115X32 100 115 2,5 0,62
1R100X115X40 100 115 2,5 0,775
1R100X115X54 100 115 2,5 1,09
1R110X120X30 110 120 2,5 0,44
1R110X120X40 110 120 25 0,58
1R110X125X40 110 125 2,5 0,84
1R110X125X54 110 125 2,5 1,16
1R120X130X30 120 130 2,2 0,44
1R120X130X40 120 130 25 0,59
1R120X135X40 120 135 2,5 0,87
1R120X135X45 120 135 25 1.1 0,98
1R120X135X60 120 135 2,5 1,1 1,25
1R130X145X32 130 145 3 15 0,78
1R130X145X35 130 145 3 1,1 0,855
1R130X145X42 130 145 3 1,5 1,05
1R130X150X50 130 150 3 15 1,69
1R130X150X52 130 150 3 1,75
1R130X150X67 130 150 3 15 2,25
1R140X155X32 140 155 3 1,5 0,84
1R140X155X35 140 155 3 1,1 0,917
1R140X155X42 140 155 8 15 1,1
1R140X160X50 140 160 3 15 1,7
1R140X160X52 140 160 3 1,78
1R140X160X67 140 160 3 2,3
1R150X165X32 150 165 3 0,9
1R150X165X40 150 165 3 1,12
1R150X165X42 150 165 3 1,18
1R150X170X52 150 170 3 2
1R150X170X60 150 170 3 2,35
1R160X175X40 160 175 3 12
1R160X180X60 160 180 8 2,5
1R170X185X45 170 185 3 1,45
1R170X190X60 170 190 3 2,65
1R180X195X45 180 195 3 1,51
1R190X210X50 190 210 3,5 2,41
1R190X215X69 190 215 3,5 41
1R200X220X50 200 220 3,5 2,49
1R200X225X80 200 225 3,5 51
1R220X240X50 220 240 3,5 2,75
1R220X245X80 220 245 3,5 57
1R240X265X60 240 265 3,5 4,6
1R260X285X60 260 285 4 4,98
1R280X305X69 280 305 4 6,2
1R300X330X80 300 330 4 9,3
1R320X350X80 320 350 5 9,8
1R340X380X118 340 380 5 22

NTN. Sne)

® @ WithYou




- L
[
R .. rs '
1 ! ﬁ l—r.
. r . - '
vrs [
| |
chaty p . PR 1o
\ LL
™ — ' L]
— .
NKX NKX --Z NKXR NKXR --Z

Combined bearings

Part numbers Dimensions (mm) Basic load rating | Basic load rating Limiting speeds
radial (kN) axial (kN) (tr/min)
dynamic dyn. . grease ol
Cr Ca
NKX10T2 10 10 19 24 23 9 6,5 0,3 5,45 6,45 10 14 6700 9500 0,037
NKX10T2Z 10 10 19 25 23 9 65 | 197 | 03 5,45 6,45 10 14 6700 9500 0,039
NKX12T2 12 12 21 26 23 9 6,5 03 6 7.7 10,3 15,4 6400 9200 0,042
NKX12T2Z 12 12 21 27 23 9 65 [ 217 | 03 6 7,7 10,3 154 6400 9200 0,044
NKX15T2 15 15 24 28 23 9 6,5 0,3 8,25 10,2 10,5 16,8 6200 8800 0,044
NKX15T2Z 15 15 24 29 23 9 65 | 237 | 03 8,25 10,2 10,5 16,8 6200 8800 0,048
NKXR15T2 15 15 24 28 23 9 65 | 237 | 03 8,25 10,2 12,2 26,8 2800 | 11000 | 0,048
NKXR15T2Z 15 15 24 29 23 9 65 | 237 | 03 8,25 10,2 12,2 26,8 2800 | 11000 | 0,052
NKX17T2 17 17 26 30 25 9 8 0,3 10,4 14,4 10,8 18,2 6000 8500 0,051
NKX17T2Z 17 17 26 31 25 9 8 257 | 0,3 10,4 14,4 10,8 18,2 6000 8500 0,056
NKXR17T2 17 17 26 30 25 9 8 257 | 0,3 10,4 14,4 12,7 29 2500 10000 0,05
NKXR17T2Z 17 17 26 31 25 9 8 257 | 03 10,4 14,4 12,7 29 2500 10000 0,053
NKX20T2 20 20 30 35 30 10 | 10,5 0,3 16,4 27,1 14,2 24,7 5200 7500 0,085
NKX20T2Z 20 20 30 36 30 10 | 105 | 30,7 | 03 16,4 27,1 14,2 24,7 5200 7500 0,09
NKXR20T2 20 20 30 35 30 10 10,5 | 30,7 | 0,3 16,4 27,1 20,2 46,5 2100 8500 0,09
NKXR20T2Z 20 20 30 36 30 10 | 10,5 | 30,7 | 03 16,4 27,1 20,2 46,5 2100 8500 0,095
NKX25 25 25 37 42 30 11 9,5 0,6 14,2 24 19,6 37 4600 6500 0,125
NKX25T2 25 25 37 42 30 1 9,5 0,6 14,2 24 19,6 37 4600 6500 0,125
NKX25T2Z 25 25 37 43 30 11 95 | 377 | 06 14,2 24 19,6 37 4600 6500 0,132
NKXR25T2 25 25 37 42 30 1 95 | 37,7 | 06 14,2 24 27,3 68 1800 7000 0,128
NKXR25T2Z 25 25 37 43 30 11 95 | 37,7 | 06 14,2 24 27,3 68 1800 7000 0,135
NKX30T2 30 30 42 47 30 11 95 0,6 22,3 39,5 20,4 42 4300 6200 0,14
NKX30T2Z 30 30 42 48 30 11 95 | 427 | 06 22,3 39,5 20,4 42 4300 6200 0,148
NKXR30T2 30 30 42 47 30 1" 95 | 42,7 | 06 22,3 39,5 27,8 72,5 1500 6000 0,162
NKXR30T2Z 30 30 42 48 30 11 95 | 427 | 06 22,3 39,5 27,8 72,5 1500 6000 0,169
NKX35T2 35 35 47 52 30 12 9 0,6 20 36 20,4 445 3900 5600 0,167
NKX35Z 35 35 47 53 30 12 9 | 477 | 06 20 36 20,4 445 3900 5600 0,175
NKX35T2Z 35 35 47 53 30 12 9 477 ] 06 20 36 20,4 44,5 3900 5600 0,175
NKXR35T2 35 35 47 52 30 12 9 47,7 | 0,6 20 36 31 87 1400 5500 0,184
NKXR35T2Z 35 35 47 53 30 12 9 | 477 | 06 20 36 31 87 1400 5500 0,195
NKX40 40 40 52 60 32 13 10 0,6 25,9 52,5 26,9 63 3500 5000 0,216
NKX40Z 40 40 52 61 32 13 10 | 557 | 06 259 52,5 26,9 63 3500 5000 0,225
NKXR40T2 40 40 52 60 32 13 10 55,7 | 0,6 25,9 52,5 43 121 1200 4800 0,226
NKXR40T2Z 40 40 52 61 32 13 10 55,7 | 0,6 25,9 52,5 43 121 1200 4800 0,237
NKX45 45 45 58 65 32 14 9 0,6 27,6 59 27,9 69 3200 4600 0,252
NKX45Z 45 45 58 66,5 | 32 14 9 | 605 | 06 27,6 59 27,9 69 3200 4600 0,265
NKXR45T2 45 45 58 65 32 14 9 |[605]| 06 27,6 59 45,5 135 1100 4400 0,267
NKXR45T2Z 45 45 58 665 | 32 14 9 [605]| 06 27,6 59 45,5 135 1100 4400 0,286
NKX50 50 50 62 70 35 14 10 0,6 27,9 62 28,8 75,5 3100 4500 0,302
NKXR50T2 50 50 62 70 35 14 10 | 655 | 06 27,9 62 48,5 150 1000 4000 0,309
NKX50Z 50 50 62 715 | 35 14 10 | 655 | 06 27,9 62 28,8 75,5 3100 4500 0,318
NKXR50T2Z 50 50 62 75| 35 14 10 | 655 | 06 27,9 62 48,5 150 1000 4000 0,329
NKX60 60 60 72 85 40 17 12 1 29,8 715 41,5 113 2600 3700 0,465
NKX60Z 60 60 72 86,5 | 40 17 12 | 80,5 1 29,8 715 415 113 2600 3700 0,484
NKX70 70 70 85 95 40 18 11 1 36,5 86 43 127 2400 3400 0,612

NTN.BNR. o withvou 62



HroF

Needle roller bearings with angular contact ball bearings
Dimensions (mm)

Part numbers

NK1A59

Basic load rating

Basic load rating

Limiting speeds

axial (kN) (tr/min)
dyn. grease

NK1A5902A 15 28 18 20 0,3 9,5 13,4 2,34 3,05 13000 20000 0,05
NK1A5903A 17 30 18 22 0,3 10,1 14,9 2,53 3,55 12000 18000 0,056
NK1A5904A 20 37 23 25 0,3 16,5 22,1 47 6,15 11000 16000 0,111
NK1A59/22A 22 39 23 28 0,3 17,5 24,8 49 6,75 9500 14000 0,12
NK1A5905A 25 42 23 30 03 18,6 27,4 51 7,35 8500 13000 0,13
NK1A5906A 30 47 23 35 0,3 19,4 30,5 54 8,55 7500 11000 0,147
NK1A5907A 35 55 27 42 0,6 25,7 46 74 12,3 6500 9500 0,243
NK1A5908A 40 62 30 48 0,6 31 61 7,75 14 5500 8500 0,347
NK1A5909A 45 68 30 55 0,6 33 69,5 8,5 17,1 5000 7500 0,401
NK1A5910A 50 72 30 60 0,6 Bels 735 8.8 18,7 4300 6500 0,41

NK1A5911A 55 80 34 63 1 44,5 95,5 14,3 33 4300 6500 0,59
NK1A5912A 60 85 34 68 1 455 101 14,8 36 4000 6000 0,632
NK1A5914A 70 100 40 80 1 62,5 146 18,6 47,5 3300 5000 1,05

T

Combined bearing with double-direction thrust cylindrical roller bearing

Part numbers

Dimensions (mm)

I

Basic load rating

Basic load rating

Limiting speeds

radial (kN) axial (kN) (tr/min)
Dw | rsmin | dynamic | static | dynamic | static | grease oIl
Ca

ARN3062T2P5 5

ARN3570T2 35 35 70 60 54 20 40 6 1 0,6 26,4 47 43 121 1200 4800
ARN4075T2P4 40 40 75 65 54 20 45 6 1 0,6 28 52,5 45,5 135 1100 4400
ARN4090P5 40 40 90 78 75 25 50 9 1 0,6 38,5 74,5 85 238 950 3800
ARN70130P5 70 70 130 115 82 25 80 11 11 0,6 57 119 142 460 650 2500

63 NTN.BNR. o withvou



~ By~

2a

T

8
==

8

T

‘ i

El
- O—

5> KR -- LLH
! (with cage, sealed)
KR --H
(with cage)
«~—C —=||<~Bs~
R

N | Bl ainie N

! il r
oD oF en—it- s/;)i" Ezdx,‘lf‘fze,if— on} G -y ‘
| ] '

Cy

-—-B B, KR --LL

B .
with cage, sealed
KR ( ge, )

(with cage)

‘

IS

&)
4*%4»

Q

=7

‘

KRV -- LL

KRV
(full-complement roller type)

Cam followers stud type truck rollers

Part numbers Dimensions (mm) Basic load rating|  Track load | Limiting speeds Max.
capacity (kN) (tr/min) tightening

grease i torque
outer ring | outer ring

(N.m)

KR10T2H/3AS 10| 3|7 4 |8 [17]9 | M35 |5 |- (05 -|-|7]25| 164 | 127 | 056 27000 0,005 | 05
KRV10LLH/3AS 10| 3|7 | 4 |8 |17 9 | M3X05 | 5 | - [05) - | - |7 |25] 25 | 261 | 056 10000 0,005 | 05
KR12XT2LLH/3AS 12| 4|8 48| 9 |20|11| M4X0.7 | 6 | - |05 - | - |85]25] 217 | 1,69 1,79 | 10000 0,008 1
KRV12H/3AS 12| 4 | 8 [ 48| 9 |20 |11 | M4X0.7 | 6 | - (05| - | - |85]25| 35 38 | 0,725 20000 0,008 1
KRV12LLH/3AS 12| 4 |8 48| 9 [20|11 ] M4X0.7 | 6 | - |05 - | - |85[25] 35 38 10,725 10000 0,008 1
KR13T2LLH/3AS 13| 5| 9 [575| 10|23 |13 | M5X0.8 |75 - (05| - | - |956| 3 | 265 | 226 | 0,805 10000 0,01 2
KR13XT2LLH/3AS 13| 5| 9 |575/10|23 |13 | M5X0.8 |75 - [05| - | - |956] 3 | 265 | 226 2,22 | 10000 0,01 2
KRV13LLH/3AS 13| 5|9 [575]10 |23 |13 | M5X0.8 |7,5| - |05 - | - |956| 3 | 465 | 555 | 0,805 10000 0,011 2
KR16FLLDOH/L588 16| 6 |11 8 |12]28|16| Mex1 | 8 | - [06| - | - |12| 3 | 405 | 42 | 1,08 10000 0,019 3
KR16FDOH/L588 16| 6 |11 | 8 |12|28|16| Mex1 | 8 | - [06| - | - |12| 3 | 405 | 42 | 1,08 19000 0,019 3
KR16F 16| 6 (11| 8 |12]28 (16| Mex1 | 8 | - (06| 4 | - |12| - | 405 | 42 | 1,08 19000 | 25000 | 0,019 3
KR16FX 16| 6 |11 8 |12]28 |16 | Mext | 8 | - (06| 4 | - |12| - | 405 | 42 3,4 | 19000 | 25000 | 0,019 3
KR16FXDOH/L588 16| 6 |11 8 |12]28|16| M6xt | 8 | - (06| - | - |12] 3 | 405 | 42 3,4 | 19000 0,019 3
KR16FLL/3AS 16| 6 |11 8 |12|28|16| Mext | 8 | - [06| 4 | - |12| - | 405 | 42 | 1,08 10000 0,019 3
KR16FXLL/3AS 16| 6 |11 8 |12]28|16| M6x1 | 8 | - (06| 4 | - |12| - | 405 | 42 3,4 | 10000 0,019 3
KR16FXLLDOH/L588 16| 6 |11 8 |12]28 |16 | Mext |8 | - (06| - | - |12| 3 | 405 | 42 3,4 | 10000 0,019 8
KRV16F/3AS 16| 6 |11 8 |12]28|16| Mex1 | 8 | - (06| 4 |- |12] - | 65 | 935 | 1,08 13000 0,02 3
KRV16FDOH/L588 16| 6 |11 | 8 |12|28|16| Mex1 |8 | - (06| - | - |12| 3| 65 | 935 | 1,08 13000 0,02 3
KRV16FLL/3AS 16| 6 |11 8 |12|28|16| Mex1 | 8 | - (06| 4 |- |12] - | 65 | 935 | 1,08 10000 0,02 3
KRV16FXLL/3AS 16| 6 |11 | 8 |12|28|16| Mex1 | 8 | - [06| 4 |- |12] - | 65 | 935 3,4 | 10000 0,02 3
KRV16FXDOH/L588 16| 6 |11 8 |12|28|16| Mext | 8 | - [06| - | - |12] 3| 65 | 935 3,4 | 13000 0,02 3
KRV16FLLDOH/L588 16| 6 |11 | 8 |12|28|16| Mex1 |8 | - (06| - | - |12| 3| 65 | 935 | 1,08 10000 0,02 3
KRV16FXLLDOH/L588 16| 6 [11] 8 [12]28 (16| Mex1 | 8 | - |[06] - | - |12][ 3] 65 | 935 3,4 | 10000 0,02 3

~

NTN.BNR. o withvou 64



Cam followers stud type truck rollers

Part numbers Dimensions (mm) Basic load rating|  Track load | Limiting speeds | Mass
() capacity (kN) (tr/min) )

dynamic| static |spherical |cylindrical| grease | oil
outer ring | outer ring

KR19F 8 M8X1.25 4 8
KR19FX 19| 8 |11 ] 10 | 1232 |20 |M8X1.25|10| - (06| 4 | - | 14| - | 475 | 54 4,05 | 15000 | 20000 | 0,031 8
KR19FLL/3AS 19| 8 |11 10 |12|32|20 |[M8X1.25 |10 | - (06| 4 | - | 14| - | 475 | 54 | 1,38 10000 0,031 8
KR19FXLL/3AS 19| 8 [11] 10 |12]32|20 | M8X1.25|10| - (06| 4 | - | 14| - | 475 | 54 4,05 | 10000 0,031 8
KR19FDOH/L588 19| 8 |11 10 |12|32|20 |[M8X1.25 |10 | - (06| - | - | 14| 4 | 475 | 54 | 1,38 15000 0,031 8
KR19FXDOH/L588 19| 8 |11 ] 10 | 1232 |20 |M8X1.25|10| - (06| 4 | - | 14| 4 | 475 | 54 4,05 | 15000 0,031 8
KR19FLLDOH/L588 19| 8 |11 10 |12|32|20 |[M8X1.25 10| - (06| - | - | 14| 4 | 475 | 54 | 1,38 10000 0,031 8
KR19FXLLDOH/L588 19| 8 |11 ] 10 | 1232 |20 | M8X1.25 10| - (06| - | - | 14| 4 | 475 | 54 4,05 | 10000 0,031 8
KRV19F/3AS 19| 8 |11 10 | 12|32 |20 |[M8X1.25 10| - (06| 4 | - | 14| - | 7,45 | 11,7 | 1,38 10000 0,032 8
KRV19FLL/3AS 19| 8 [11] 10 |12[32|20 | M8X1.25| 10| - (06| 4 | - | 14| - | 7,45 | 11,7 | 1,38 10000 0,032 8
KRV19FXLL/3AS 19| 8 |11 10 | 12|32 |20 | M8X1.25 |10 | - [06| 4 | - | 14| - | 745 | 117 4,05 | 10000 0,032 8
KRV19FDOH/L588 19| 8 |11 10 |12]32|20 | M8X1.25| 10| - (06| - | - |14| 4| 745 | 11,7 | 1,38 10000 0,032 8
KRV19FXDOH/L588 19| 8 |11 10 | 12|32 |20 | M8X1.25 10| - (06| - | - | 14| 4 | 7,45 | 117 4,05 | 10000 0,032 8
KRV19FLLDOH/L588 19| 8 [11] 10 |12 32|20 | M8X1.25| 10| - |06 - | - | 14| 4 | 745 | 11,7 | 1,38 10000 0,032 8
KRV19FXLLDOH/L588 19| 8 |11 10 | 12|32 |20 | M8X1.25 |10 | - [06| - | - | 14| 4 | 7,45 | 117 4,05 | 10000 0,032 8
KRX8X19X22.5/3AS 19| 8 |11 ] 10 | 12 |22,5{10,6| M8X1.25 [6,5| - (06| - | - | 14| - | 45 51 1,38 15000 0,017 8
KRX10X19X27PX1/3AS 191010 | 11 | 14|27 |13 = -l -l 2|4 |- 17| -] 85 | 142 3,65 | 9000 0,03 0
KR22C 22 (10|12 | 12 | 13|36 | 23 [M10X1.25( 12| - |06| 4 | - |17 ] - 53 | 665 | 1,69 12000 | 16000 | 0,046 | 14
KR22XCLL/3AS 22|10 | 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06| 4 | - (17| - | 53 | 6,65 5,15 | 10000 0,046 | 14
KR22F 22|10 | 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06| 4 | - [17| - 53 | 665 | 1,69 12000 | 16000 | 0,046 | 14
KR22FH 2210 |12 | 12 |13 |36 |23 [M10X1.25[ 12| - (06| 4 | - | 17| 4 | 53 | 6656 | 1,69 12000 | 16000 | 0,046 | 14
KR22FX 22|10 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06] 4 | - [17| - 53 | 6,65 5,15 | 12000 | 16000 | 0,046 | 14
KR22FXH 22|10 12| 12 | 13|36 | 23 |[M10X1.25|{ 12| - |06| 4 | - [17| 4 | 53 | 6,65 5,15 | 12000 | 16000 | 0,046 | 14
KR22FXH/3AS 22|10 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06| 4 | - [17| 4 | 53 | 6,65 5,15 | 12000 0,046 | 14
KR22FLL/3AS 22|10 | 12| 12 | 13|36 | 23 |[M10X1.25|{ 12| - |06 4 | - (17| - | 53 | 6656 | 1,69 10000 0,046 | 14
KR22FLLH/3AS 22110 | 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06| 4 | - [17| 4 | 53 | 6656 | 1,69 10000 0,046 | 14
KR22FXLL/3AS 22|10 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06| 4 | - (17| - | 53 | 6,65 5,15 | 10000 0,046 | 14
KR22FXLLH/3AS 22 (10|12 | 12 | 13|36 |23 [M10X1.25(12| - |06| 4 | - |17 ] 4 | 53 | 665 5,15 | 10000 0,046 | 14
KR22LLDO/LPO3 22|10 | 12| 12 | 13|36 | 23 |[M10X1.25|{ 12| - |06 - | - (17| - | 53 | 665 | 1,69 2500 0,046 | 14
KRV22CLL/3AS 22 (10|12 | 12 | 13|36 | 23 [M10X1.25( 12| - |06| 4 | - [17 ] - 8,2 14 1,69 8500 0,047 | 14
KRV22F/3AS 22|10 | 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06 4 | - [17| - | 82 14 1,69 8500 0,047 | 14
KRV22FH/3AS 22|10 | 12| 12 | 13|36 | 23 [M10X1.25{ 12| - |06| 4 | - |17 | 4 | 82 14 1,69 8500 0,047 | 14
KRV22FXH/3AS 22|10 | 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06| 4 | - |17 | 4 | 82 14 5,15 | 8500 0,047 | 14
KRV22FLL/3AS 22|10 | 12| 12 | 13|36 | 23 [M10OX1.25{ 12| - |06| 4 | - |17 | - | 82 14 1,69 8500 0,047 | 14
KRV22FLLH/3AS 22 (10|12 | 12 |13 |36 | 23 ([M10X1.25( 12| - |06| 4 | - [17| 4 | 82 14 1,69 8500 0,047 | 14
KRV22FXLL/3AS 22|10 | 12| 12 | 13|36 | 23 [M10OX1.25{ 12| - |06 4 | - [17| - | 82 14 515 | 8500 0,047 | 14
KRV22FXLLH/3AS 22|10 | 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06 4 | - |17 | 4 | 82 14 515 | 8500 0,047 | 14
KRV22LLH2/3ASV1 22 (10|12 | 12 | 13|36 | 23 [M10X1.25( 12| - |06| 4 | - [17] 4 | 82 14 1,69 8500 0,047 | 14
KRX10X22X28-4PX1 22|10 |12 | 12 | 13|28 | 15 = - | 7106[6 |2 17| - | 505 | 625 5,15 | 12000 | 16000 | 0,04 0
KRX13X24X34-1PX1/3AS | 24 | 13 | 12 |13,85| 16 | 34 | 18 - -l -1 215 -2 -] 115 ] 225 56 | 7200 0,068 0
KR26C 26|10 | 12| 12 | 13|36 | 23 |[M10X1.25|{ 12| - |06 4 | - (17| - | 53 | 665 | 212 12000 | 16000 | 0,059 | 14
KR26CLL/3AS 26 (10| 12| 12 | 13|36 | 23 [M10X1.25( 12| - |06| 4 | - |17 ] - 53 | 665 | 2,12 10000 0,059 | 14
KR26F 26|10 | 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06| 4 | - (17| - | 53 | 6656 | 212 12000 | 16000 | 0,059 | 14
KR26FH 26 (10| 12| 12 |13 |36 | 23 [M10X1.25{ 12| - (06| 4 | - [17| 4 | 53 | 665 | 212 12000 | 16000 | 0,059 | 14
KR26FXH 26|10 | 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06| 4 | - (17| 4 | 53 | 6,65 6,1 | 12000 | 16000 | 0,059 | 14
KR26FLL/3AS 26|10 | 12| 12 | 13|36 | 23 |[M10X1.25| 12| - |06| 4 | - [17| - 53 | 665 | 2,12 10000 0,059 | 14
KR26FXLL/3AS 26|10 | 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06| 4 | - (17| - | 53 | 6,65 6,1 | 10000 0,069 | 14
KR26FLLH/3AS 26| 10| 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06| 4 | - [17| 4 | 53 | 665 | 212 10000 0,059 | 14
KR26FXLLH/3AS 26|10 | 12| 12 | 13|36 | 23 |[M10X1.25{ 12| - |06| 4 | - (17| 4 | 53 | 6,65 6,1 | 10000 0,069 | 14
KRV26FH/3AS 26|10 | 12| 12 | 13|36 | 23 [M10OX1.25{ 12| - |06| 4 | - |17 | 4 | 82 14 2,12 8500 0,061 14
KRV26FXH/3AS 26|10 | 12| 12 | 13|36 | 23 |[M10X1.25| 12| - |06| 4 | - |17 | 4 | 82 14 6,1 8500 0,061 14
KRV26FLL/3AS 26|10 | 12| 12 | 13|36 | 23 |[M10X1.25| 12| - |06| 4 | - [17| - 8,2 14 2,12 8500 0,061 14
KRV26FLLH/3AS 26|10 | 12| 12 | 13|36 | 23 |[M10X1.25| 12 | - |06 4 | - |17 | 4 | 82 14 2,12 8500 0,061 14
KRV26FXLLH/3AS 26|10 | 12| 12 | 13|36 | 23 [M10X1.25{ 12| - |06 4 | - |17 | 4 | 82 14 6,1 8500 0,061 14
KRX14.5X26X37-4PX1/3AS | 26 |14,5| 12 |15,41| 17 | 37 | 20 = - | - |23]5 | - |24 - | 121 | 106 6,1 | 6400 0,097 0
KRX14X28X35.5-1PX3/3AS | 28 | 14 | 12 |15,41| 17 |35,5/18,5 - S - |24] - | - |24 - | 124 25 6,5 | 6400 0,093 0
KR30 30| 12| 14| 15 | 15|40 | 25 |M12X1.5| 13| 6 |06| 6 | 3 [23| - | 7,85 | 965 | 2,62 10000 | 13000 | 0,087 | 20
KR30H 30 (12|14 | 15 | 15|40 |25 |M12X1.5|(13| 6 (06| 6 | 3 [23| 6 | 7,85 | 965 | 2,62 10000 | 13000 | 0,087 | 20
KR30X 30| 12| 14| 15 | 15|40 | 25 |M12X1.5| 13| 6 |06| 6 | 3 [23| - | 7,85 | 9,65 7,7 | 10000 | 13000 | 0,087 | 20
KR30XH 30 (12|14 | 15 | 15|40 |25 |M12X1.5(13| 6 |06| 6 | 3 |23 | 6 | 7,85 | 9,65 7,7 110000 | 13000 | 0,087 | 20
KR30LL/3AS 30| 12| 14| 15 | 15|40 | 25 |M12X1.5| 13| 6 |06| 6 | 3 [23| - | 7,85 | 9,65 | 2,62 10000 0,087 | 20
KR3O0LLH/3AS 30| 12| 14| 15 | 15|40 | 25 | M12X1.5| 13| 6 |06| 6 | 3 [23| 6 | 7,85 | 965 | 2,62 10000 0,087 | 20
KR30XLL/3AS 30| 12| 14| 15 | 15|40 | 256 |M12X1.5| 13| 6 |06| 6 | 3 [23| - | 7,85 | 9,65 7,7 | 10000 0,087 | 20
KR30XLLH/3AS 30| 12| 14| 15 | 15|40 | 25 | M12X1.5| 13| 6 |06] 6 | 3 [23| 6 | 7,85 | 9,65 7,7 | 10000 0,087 | 20
KRX17.5X30X41PX1/3AS | 30 |17,5| 14 |18,51| 19 | 41 | 22 = - - |23 5| - [28]| - 16 35 7,7 | 5400 0,133 0
KRV30/3AS 30| 12| 14| 15 | 15|40 | 256 | M12X1.5| 13| 6 |06] 6 | 3 [ 23| - 12 20,3 | 2,62 6500 0,089 | 20
KRV30H/3AS 30| 12| 14| 156 | 15|40 |25 |M12X1.5|13 | 6 [06| 6 | 3 | 23| 6 12 203 | 2,62 6500 0,089 | 20
KRV30LL/3AS 30| 12| 14| 15 | 15|40 | 26 | M12X1.5| 13| 6 |06] 6 | 3 [ 23| - 12 20,3 | 2,62 6500 0,089 | 20
KRV3O0LLH/3AS 30| 12| 14| 15 | 15|40 | 25 |M12X1.5|13 | 6 [06| 6 | 3 | 23| 6 12 20,3 | 2,62 6500 0,089 | 20
KRV30XLLH/3AS 30| 12| 14| 15 | 15|40 |25 |M12X1.5|{13 | 6 |06| 6 | 3 | 23| 6 12 20,3 7,7 | 6500 0,089 | 20
KR32 32|12 | 14| 15 | 15|40 | 26 |M12X1.5| 13| 6 |06| 6 | 3 [23| - | 7,85 | 9,65 | 2,86 10000 | 13000 | 0,097 | 20
KR32H 32|12 | 14| 15 | 15|40 | 26 |M12X1.5| 13| 6 |06| 6 | 3 [23| 6 | 7,85 | 9,65 | 2,86 10000 | 13000 | 0,097 | 20
KR32XH 32|12 |14 | 15 | 15|40 | 25 |M12X1.5| 13| 6 |06| 6 | 3 [23| 6 | 7,85 | 9,65 8,2 | 10000 | 13000 | 0,097 | 20
KR32LL/3AS 32 (12|14 | 15 | 15|40 |25 |M12X1.5|(13| 6 (06| 6 | 3 [23| - | 7,85 | 965 | 2,86 10000 0,097 | 20
KR32LLH/3AS 32|12 | 14| 15 | 15|40 | 25 |M12X1.5| 13| 6 |06| 6 | 3 [23| 6 | 7,85 | 965 | 2,86 10000 0,097 | 20
KR32XLL/3AS 32|12 | 14| 15 | 15|40 | 256 | M12X1.5| 13| 6 |06| 6 | 3 [23| - | 7,85 | 9,65 8,2 | 10000 0,097 | 20
KR32XLLH/3AS 32|12 | 14| 15 | 15|40 | 25 |M12X1.5| 13| 6 |06| 6 | 3 [23| 6 | 7,85 | 9,65 8,2 | 10000 0,097 | 20
KRV32H/3AS 321214 15 | 1540 |25 [M12X1.5{13 ] 6 |06| 6 | 3 | 23] 6 12 20,3 | 2,86 6500 0,1 20

65 NTN.BNR. o withvou



~ By~

2a

T

8
==

8

T

‘ i

El
- O—

5> KR -- LLH
! (with cage, sealed)
KR --H
(with cage)
«~—C —=||<~Bs~
R

N | Bl ainie N

! il r
oD oF en—it- ._,‘/;)i" Ezdx,‘lf‘fze,if— on} G -y ‘
| ] '

Cy

-—-B B, KR --LL

B .
with cage, sealed
KR ( ge, )

(with cage)

KRV -- LL

KRV
(full-complement roller type)

Cam followers stud type truck rollers

Part numbers Dimensions (mm) Basic load rating|  Track load | Limiting speeds
(kN) capacity (kN) (tr/min)

h |dynamic| static |spherical |cylindrical| grease
outer ring | outer ring

KRV32LL/3AS 32|12 |14 | 15 | 15|40 | 25 | M12X1.5| 13| 6 |06| 6 | 3 |23 | - 12 20,3 | 2,86 6500 0,1 20
KRV32LLH/3AS 32|12 | 14| 15 | 15|40 |25 |M12X1.5|{13 | 6 |06| 6 | 3 | 23| 6 12 20,3 | 2,86 6500 0,1 20
KRV32XLL/3AS 32|12 | 14| 15 | 15|40 | 25 |M12X1.5| 13| 6 |06| 6 | 3 |23 | - 12 20,3 8,2 | 6500 0,1 20
KRV32XLLH/3AS 32|12 | 14| 15 | 15|40 |25 |M12X1.5|{13 | 6 |06| 6 | 3 | 23| 6 12 20,3 82 | 6500 0,1 20
KRX12X32X45-3/3AS 32| 12| 14 |15,06| 15| 45| 30 | M12X1.5| 13 | - |06 - | - | 23| 6 12 20,3 | 2,86 6600 0,105 | 20
KRX12X32X45-14/3AS 32 (12|14 15,06 15 | 45 | 30 [M12X1.56 (13| - |06(59| - [23] 6 12 20,3 | 2,86 6600 0,102 | 20
KRX14X32X47/3AS 32|14 |16 | 17 |18,5| 47 |28,5| M14X1.5| 14 | 8 |15 3 | 3 [256| - | 106 | 148 | 2,86 8800 0,124 | 34
KRX20.5X34X46-3PX1/3AS | 34 |20,5| 16 |21,01| 22 | 46 | 24 - -] -129|6 32| - | 211 | 455 | 31 4700 0,335 0
KRX20.5X34X46PX1/3AS | 34 |20,5| 16 |21,01| 22 | 46 | 24 = - - 12916 | - 32| - | 211 | 455 10,1 | 4700 0,169 0
KR35 35|16 | 18| 18 |19,5| 52 |32,5| M16X1.5| 17| 8 |08 6 | 3 |27 | - | 122 | 179 | 32 8000 | 11000 | 0,169 | 52
KR35H 35|16 | 18| 18 |19,5| 52 |32,5| M16X1.5| 17 | 8 |08 6 | 3 |27 | 6 | 122 | 179 | 32 8000 | 11000 | 0,169 | 52
KR35H/3AS 35|16 | 18| 18 |19,5| 52 |32,5| M16X1.5|17 | 8 |08 6 | 3 |27 | 6 | 122 | 179 | 32 8000 0,169 | 52
KR35XH 35|16 |18 | 18 [19,5| 52 |32,5| M16X1.5| 17 | 8 |08| 6 | 3 [27 | 6 | 122 | 179 11,9 | 8000 | 11000 | 0,169 | 52
KR35LL/3AS 35|16 | 18| 18 |19,5| 52 |32,5| M16X1.5|17 | 8 |08 6 | 3 |27 | - | 122 | 179 | 32 8000 0,169 | 52
KR35LLH/3AS 35|16 | 18| 18 [19,5| 52 |32,5| M16X1.5|17 | 8 |08 6 | 3 |27 | 6 | 122 | 179 | 32 8000 0,169 | 52
KR35XLL/3AS 35|16 | 18| 18 |19,5| 52 |32,5| M16X1.5| 17| 8 |08| 6 | 3 [27 | - | 122 | 179 11,9 | 8000 0,169 | 52
KR35XLLH/3AS 35|16 | 18| 18 [19,5| 52 |32,5| M16X1.5| 17 | 8 |08| 6 | 3 [27 | 6 | 122 | 179 11,9 | 8000 0,169 | 52
KRV35H/3AS 35|16 | 18| 18 |19,5| 52 |32,5| M16X1.5| 17 | 8 |{08| 6 | 3 [27| 6 | 17,6 34 3,2 5500 0172 | 52
KRV35XH/3AS 35|16 | 18| 18 [19,5| 52 |32,5| M16X1.5| 17 | 8 |08| 6 | 3 [27 | 6 | 17,6 34 11,9 | 5500 0,172 | 52
KRV35LL/3AS 35|16 | 18| 18 |19,5| 52 |32,5| M16X1.5| 17| 8 |08| 6 | 3 [27| - | 176 34 3,2 5500 0172 | 52
KRV35LLH/3AS 35|16 | 18| 18 [19,5| 52 |32,5| M16X1.5| 17 | 8 |08| 6 | 3 [27 | 6 | 17,6 34 3,2 5500 0,172 | 52
KRV35XLL/3AS 35|16 | 18| 18 [19,5| 52 |32,5| M16X1.5| 17 | 8 |08| 6 | 3 [27| - | 176 34 11,9 | 5500 0,172 | 52
KRV35XLLH/3AS 35|16 | 18| 18 [19,5| 52 |32,5| M16X1.5| 17 | 8 |08| 6 | 3 [27 | 6 | 17,6 34 11,9 | 5500 0,172 | 52
KRX16X35X44.5/3AS 35|16 | 18 | 18 |19,5/44,5| 25 - - - 108 - - -] -] 118|173 | 32 8300 0,165 0
KR40 40 | 18 | 20 | 22 |21,5| 58 |36,5| M18X1.5| 19| 8 |08| 6 | 3 |32 | - 14 228 | 385 7000 | 9000 | 0,248 | 76
KR40H 40 | 18 | 20 | 22 |21,5| 58 |36,5| M18X1.5{19 | 8 |08 6 | 3 |32]| 6 14 22,8 | 385 7000 | 9000 | 0,248 | 76
KRA40H/3AS 40 | 18 | 20 | 22 |21,5| 58 |36,5| M18X1.5|19 | 8 |08 6 | 3 | 32| 6 14 22,8 | 3,85 7000 0,248 | 76
KR4O0X 40 | 18 | 20 | 22 |21,5| 58 |36,5| M18X1.5| 19| 8 |08| 6 | 3 [32| - 14 22,8 14,5 | 7000 | 9000 | 0,248 | 76
KR40XH 40 | 18 | 20 | 22 [21,5] 58 |36,5/ M18X1.5[ 19| 8 [08] 6 | 3 [32] 6 14 22,8 14,5 | 7000 | 9000 | 0,248 | 76

NTN.BNR. o withvou

D
D



Cam followers stud type truck rollers

Part numbers

Dimensions (mm)

Basic load rating|  Track load | Limiting speeds
capacity (kN) (tr/min)
dynamic| static |spherical |cylindrical| grease

outer ring | outer ring

KRAOLL/3AS M18X1.5 8 6| 3 -

KRAOLLH/3AS 40 |18 | 20| 22 |21.5| 58 [36:5| Misx15 |19 | 8 |08| 6 | 3 |32| 6 | 14 | 228 | 385 7000 0248 | 76
KRAOXLL/3AS 40|18 | 20 | 22 |215| 58 [36.5| M18X15 | 19| 8 (08| 6 | 3 | 32| - | 14 | 228 145 | 7000 0248 | 76
KRAOKLLH/3AS 40|18 | 20| 22 |21.5| 58 [365| Misx15 |19 | 8 |08| 6 | 3 |32| 6 | 14 | 228 1455 | 7000 0248 | 76
KRVAD/3AS 40|18 | 20 | 22 |215| 58 [36.5| M18X15 | 19| 8 (08| 6 | 3 | 32| - | 194 | 42 | 365 4500 0252 | 76
KRVAOH/3AS 40|18 | 20| 22 |21.5| 58 [36:5| Misx15 |19 | 8 [08| 6 | 3 |32| 6 | 194 | 42 | 365 4500 0252 | 76
KRVAOLLI3AS 40 |18 | 20| 22 |21'5| 58 [36:5| M18X15 |19 | 8 |08| 6 | 3 |32| - | 194 | 42 | 365 4500 0252 | 76
KRVAOLLH/3AS 40|18 |20 | 22 |21.5| 58 [36:5| Misx15 |19 | 8 [08] 6 | 3 |32| 6 | 194 | 42 | 365 4500 0252 | 76
KRVAOXLL/3AS 40 |18 | 20| 22 |21'5| 58 [36:5| M18X15 |19 | 8 |08| 6 | 3 32| - | 194 | 42 145 | 4500 0252 | 76
KRVAOXLLH/3AS 40|18 | 20 | 22 |215| 58 36,5 M18x15 | 19| 8 (08| 6 | 3 | 32| 6 | 194 | 42 145 | 4500 0252 | 76
KRX1BYAOXS4.5-4/3AS | 40 | 18 | 24 [21.62025.4]545[201| - | - |10|08| 3 | 3 |23| - | 33 | 44 | 59 4600 0215 | 0
KRX18XA0KAG.5-12PX1/3AS | 40 | 18 | 24 [21.62[25546,5| 21 | - | - |10]08| 6 | 3 |23| - | 33 | 44 | 59 4600 0161 | 0
KRX1BYAOXA6.5-2/3AS | 40 | 18 | 24 [2162(25.5/465| 21 | - | - |10]08| 6 | 3 |23| - | 33 | 44 | 59 4600 0161 | 0
KRX18X4OX605-1/3AS | 40 | 18 | 24 [21.62[25.460,5035.1| - | - |10]08| 6 | 3 |23| - | 33 | 44 | 59 4600 026 | 0
KRX1YAOXGA5-4/3AS | 40 | 18 | 24 [2162025,50645( 39 | - | - [10]08| 6 | 3 |23| - | 33 | 44 | 59 4600 0316 | 0
KRX18Y40X69.5-7/34S | 40 | 18 | 29 [2162/305069.5| 39 | - | - [10|08| 6 | 3 |23| - | 36 | 485 | 59 4600 0358 | 0
KR47 47 [ 20 | 24| 25 |25.5| 66 [405| M20X15 |21 | 9 [08] 8 | 4 | 37| - | 207 | 335 | 47 6000 | 8000 | 0,386 | 98
KRATH 47|20 | 24| 25 |25.5| 66 [4055| M20x15 |21 | 9 |08| 8 | 4 |37| 8 | 207 | 335 | 47 6000 | 8000 | 0,386 | 98
KRATX 47|20 | 24 | 25 |255| 66 40,5 M20X15 | 21| 9 08| 8 | 4 |37 207 | 335 21 | 6000 | 8000 | 0,386 | 98
KRATLLI3AS 47|20 | 24| 25 |25.5| 66 [4055| M20x15 |21 | 9 |08| 8 | 4 |37 | - | 207 | 335 | 47 6000 0386 | 98
KRATLLH/3AS 47|20 | 24| 25 |25.5| 66 405 M20x15 |21 | 9 |08| 8 | 4 |37 |8 | 207 | 335 | 47 6000 0386 | 98
KR47LLDOH/LPO3 47|20 | 24| 25 |25.5| 66 [4055| M20ox15 |21 | 9 |08| - | - |37 | 8 | 207 | 335 | 47 1200 0386 | 98
KRATXLLI3AS 47|20 | 24| 25 |25.5| 66 405 M20x15 |21 | 9 |08| 8 | 4 |37 - | 207 | 335 21| 6000 0386 | 98
KRATXLLH/3AS 47|20 | 24| 25 |25.5| 66 4055 M20x15 |21 | 9 |08| 8 | 4 |37| 8 | 207 | 335 21| 6000 0386 | 98
KRVA7/3AS 47|20 | 24| 25 |25.5| 66 4055 M20X15 |21 | 9 |08| 8 | 4 |37 | - | 288 | 61 | 47 4000 0392 | 98
KRVATLL/3AS 47|20 | 24 | 25 |255| 66 |40,5| M20x15 | 21| 9 08| 8 | 4 [37| - | 288 | 61 | 47 4000 0392 | 98
KRVATLLH/3AS 47|20 | 24| 25 |25.5| 66 4055 M20x15 |21 | 9 |08| 8 | 4 |37 |8 | 288 | 61 | 47 4000 0392 | 98
KRVATXLLI3AS 47|20 | 24 | 25 |255| 66 |40,5| M20x15 | 21| 9 08| 8 | 4 [37| - | 2838 | 61 21| 4000 0392 | 98
KRVATXLLH/3AS 47|20 | 24| 25 |255| 66 405 M20X15 |21 | 9 |08| 8 | 4 |37 | 8 | 2858 | 61 21| 4000 0392 | 98
KRX18Y4TX505-2/34S | 47 | 18 | 28 [24.40]2050505] 21 | - | - |10 |08| 8 | 3 |27 - | 415 | 495 | 48 4000 0387 | 0
KR52 5220 | 24| 25 |25.5| 66 40,5 M20X15 |21 | 9 [08] 8 | 4 | 37| 8 | 207 | 335 | 555 6000 | 8000 | 0,461 | 98
KR52H 52|20 | 24| 25 |25.5| 66 [4055| M20x15 |21 | 9 |08| 8 | 4 |37 | 8 | 207 | 335 | 555 6000 | 8000 | 0461 | 98
KR52X 52|20 | 24 | 25 |25.5| 66 [40.5| M20X15 |21 | 9 |08| 8 | 4 |37 - | 207 | 335 233 | 6000 | 8000 | 0461 | 98
KRG2LL/3AS 52|20 | 24| 25 |25.5| 66 [4055| M20x15 |21 | 9 |08| 8 | 4 |37 | - | 207 | 335 | 555 6000 0461 | 98
KR52LLH/3AS 52|20 | 24 | 25 |25.5| 66 [40.5| M20X15 |21 | 9 |08| 8 | 4 |37| 8 | 207 | 335 | 555 6000 0461 | 98
KR52XLLI3AS 52|20 | 24 | 25 |25.5| 66 4055 M20x15 |21 | 9 |08| 8 | 4 |37 - | 207 | 335 233 | 6000 0461 | 98
KRG2KLLHI3AS 5220 | 24 | 25 |25.5| 66 405 M20x15 |21 | 9 |08| 8 | 4 |37 | 8 | 207 | 335 233 | 6000 0461 | 98
KRV52H/3AS 52|20 | 24 | 25 |25.5| 66 [405| M20x15 |21 | 9 |08| 8 | 4 |37| 8 | 288 | 61 | 555 4000 0465 | 98
KRV52LL/3AS 52|20 | 24 | 25 |25.5| 66 405 M20X15 |21 | 9 |08| 8 | 4 37| - | 288 | 61 | 555 4000 0465 | 98
KRV52LLH/3AS 52|20 | 24 | 25 |25.5| 66 [4055| M20x15 |21 | 9 |08| 8 | 4 |37| 8 | 288 | 61 | 555 4000 0465 | 98
KRV2XLL/3AS 52|20 | 24 | 25 |25.5| 66 405 M20X15 |21 | 9 |08| 8 | 4 |37 | - | 288 | 6 233 | 4000 0465 | 98
KRV52XLLH/3AS 52 | 20 | 24 | 25 |25.5| 66 4055 M20x15 | 21 | 9 |08| 8 | 4 |37 | 8 | 2858 | s 233 | 4000 0465 | 98
KR62 62 | 24 | 29| 30 [30.5] 80 [49.5| M24X15 | 25 | 11 [08] 8 | 4 | 44| - | 289 | 55 | 695 5000 | 6500 | 0.79 | 178
KR62H 62| 24 | 29 | 30 |30.5| 80 [49,5| M24x15 | 25 | 11 (08| 8 | 4 |44 | 8 | 289 | 55 | 695 5000 | 6500 | 079 | 178
KR62X 62 | 24 | 29 | 30 |30.5| 80 [49.5| M24x15 |25 | 11 |08| 8 | 4 |44 | - | 289 | 55 345 | 5000 | 6500 | 079 | 178
KR62KH 62 | 24 | 20| 30 |30.5| 80 [495| M24x15 | 25 | 11 [08| 8 | 4 |44 | 8 | 289 | 55 345 | 5000 | 6500 | 079 | 178
KR62LL/3AS 62| 24 | 29 | 30 |30.5| 80 [49.5| M24x15 |25 | 11 |08| 8 | 4 |44| - | 289 | 55 | 695 5000 079 | 178
KR2LLH/3AS 62| 24 | 20| 30 |30.5| 80 [495| M24x15 |25 | 11 |08| 8 | 4 |44 | 8 | 289 | 55 | 695 5000 079 | 178
KRG2XLL/3AS 62| 24 | 29 | 30 |305| 80 [49,5| M24X15 | 25 | 11 [0,8| 8 | 4 |44| 8 | 289 | 55 345 | 5000 079 | 178
KR62KLLHI3AS 62 | 24 | 20| 30 |30.5| 80 [495| M24x15 |25 | 11 [08| 8 | 4 |44 | 8 | 289 | 55 345 | 5000 079 | 178
KRVG2HI3AS 62 | 24 | 20| 30 [305| 80 [495| M24x15 |25 | 11 |08| 8 | 4 |44 | 8 | 395 | 985 | 695 3300 08 | 178
KRVG2LLH/3AS 62| 24 | 29| 30 |30.5| 80 [495| M24x15 |25 | 11 [08| 8 | 4 |44 | 8 | 395 | 985 | 695 3300 08 | 178
KRVG2XLLH/3AS 62 | 24 | 29 | 30 |30.5| 80 [49.5| M24x15 | 25 | 11 |08| 8 | 4 | 44| 8 | 395 | 985 345 | 3300 08 | 178
KRT2 72 [ 24| 29| 30 [30.5] 80 [49.5] M24x15 |25 | 11 [08] 8 | 4 [44| - | 289 | 56 | 8,05 5000 | 6500 | 1,04 | 178
KR72H 72 | 24 | 29| 30 |30.5| 80 [495| M24x15 | 25 | 11 |08| 8 | 4 |44 | 8 | 289 | 55 | 8,05 5000 | 6500 | 104 | 178
KRT2LL/3AS 72| 24 | 29| 30 |30.5| 80 [495| M24x15 |25 | 11 [08| 8 | 4 |44| - | 289 | 55 | 805 5000 104 | 178
KRT2LLH/3AS 72| 24 | 29| 30 |30.5| 80 [49.5| M24x15 |25 | 11 |08| 8 | 4 |44 | 8 | 289 | 55 | 8,05 5000 104 | 178
KRT2XLL/3AS 72| 24 | 29 | 30 |305| 80 |49,5| M24x15 | 25| 11 [0,8| 8 | 4 |44 | - | 289 | 55 385 | 5000 104 | 178
KRT2XLLHI3AS 72 | 24 | 29 | 30 |30.5| 80 [49.5| M24x15 |25 [ 11 |08| 8 | 4 |44 | 8 | 289 | 55 385 | 5000 104 | 178
KRV72LL/3AS 72| 24 | 20| 30 |30.5| 80 495 M24x15 | 25 | 11 |08| 8 | 4 |44 | - | 395 | 985 | 8,05 3300 105 | 178
KRV72LLH/3AS 72| 24 | 29 | 30 |30.5| 80 [49.5| M24x15 |25 | 11 |08| 8 | 4 |44 | 8 | 395 | 985 | 8,05 3300 105 | 178
KRVZ2XLLH/3AS 72 | 24 | 29 | 30 |30.5| 80 495 M24x15 | 25 | 11 |08| 8 | 4 |44 | 8 | 395 | 985 385 | 3300 105 | 178
KR8O 80 |30 | 35| 38 |37 [100] 63 | M30X15 (32 15| 1 | 8 | 4 | 53| - | 45 | 885 | 98 4000 | 5500 | 155 | 360
KROH 80 |30 | 35| 38 |37 |100| 63 | M30x15 |32 | 15| 1 | 8 | 4 |53| 8 | 45 | 885 | 98 4000 | 5500 | 1555 | 360
KRBOLL/3AS 80 |30 | 35| 38 |37 |100| 63 | M30X15 |32 15| 1 | 8 | 4 |53| - | 45 | 885 | 98 4000 155 | 360
KRBOLLH/3AS 80 |30 | 35| 38 |37 |100| 63 | M30x15 |32 15| 1 | 8 | 4 |53| 8 | 45 | 885 | 98 4000 155 | 360
KRBOXLLI3AS 80 |30 | 35| 38 |37 |100| 63 | M30X15 |32 (15| 1 | 8 | 4 |53| - | 45 | 885 53 | 4000 155 | 360
KRBOKLLH/3AS 80 30 | 35| 38 |37 |100| 63 | M30x15 |32 15| 1 | 8 | 4 |53| 8 | 45 | 885 53 | 4000 155 | 360
KRVBOLL/3AS 80 |30 | 35| 38 |37 |100| 63 | M30X15 (32 15| 1 | 8 | 4 |53| - | 58 | 147 | 98 2600 156 | 360
KRVBOLLH/3AS 80 |30 | 35| 38 |37 |100| 63 | M30x15 |32 15| 1 | 8 | 4 |53| 8 | 58 | 147 | 98 2600 156 | 360
KRVBOXLL/3AS 80 30 | 35| 38 | 37 |100| 63 | M30X15 |32 15| 1 | 8 | 4 |53 - | 58 | 147 53 | 2600 156 | 360
KRVBOXLLH/3AS 80 | 30 | 35 | 38 |37 |100] 63 | M30x15 |32 | 15| 1 | 8 | 4 |53| 8 | 58 | 147 53 | 2600 156 | 360
KRB5LLI3AS 8530 35| 38 |37 |100] 63 | M30X15 |32 15| 1 | 8 | 4 | 53| - | 45 | 885 | 104 4000 174 | 360
KRE5LLH/3AS 85|30 | 35| 38 |37 |100] 63 | M30x15 |32 | 15| 1 | 8 | 4 |53| 8 | 45 | 885 | 104 4000 174 | 360
KR90 90 |30 | 35| 38 |37 |100] 63 | M30X15 |32 15| 1 | 8 | 4 | 53| - | 45 | 885 | 114 4000 | 5500 | 1.95 | 360
KROOLL/3AS 90 |30 | 35| 38 |37 |100( 63 | M30x15 |32 15| 1 | 8 | 4 |s3| - | 45 | 885 59 | 4000 195 | 360
KROOLLH/3AS 90 [30 | 35| 38 |37 |100| 63 | M30x15 |32 15| 1 | 8 | 4 |53| 8 | 45 | 885 59 | 4000 195 | 360
KROOXLLI3AS 90 |30 | 35| 38 |37 |100] 63 | M30x15 |32 15| 1 | 8 | 4 |s3| - | 45 | 855 53 | 4000 195 | 360
KRIOXLLH/3AS 90 (30| 35| 38 |37 |100| 63 | M30x15 |32 15| 1 | 8 | 4 |53| 8 | 45 | 885 53 | 4000 195 | 360
KRVOOLL/3AS 90 |30 | 35| 38 |37 |100| 63 | M3ox15 |32 | 15| 1 | 8 | 4 |53| - | 58 | 147 | 11, 2600 197 | 360
KRVOOLLH/3AS 90 [30 | 35| 38 |37 |100| 63 | M30X15 |32 15| 1 | 8 | 4 |53| 8 | 58 | 147 | 11, 2600 197 | 360
KRVOOXLLH/3AS 90 |30 | 35| 38 | 37 |100] 63 | M30x15 |32 | 15| 1 | 8 | 4 | 53| 8 | 58 | 147 59 | 2600 197 | 360

67 NTN.BNR. o withvou



i
F1=0d, Z2oel L — || m] G
e A
[
_
B
B 5> KRT -- LL
! (with cage, sealed)
KRT
(with cage)
S
— 7
A T s e -
P 'ZlF "1 ;i§/i'*7:5'”f‘5”e | ¢ B E R
1 ) =
1 o
-~ G
~
C
B B KRVT - LL
B
KRVT
(full complement)
B
=|
i I
T
oD oF 1m i _ﬁgw,,AZ:Edwjge j&t H I G
| i “:?/J b i
R (] ) i
= -~ G—
I ‘ C.
B B.
B
NUKRT

Cam followers stud type truck rollers

Part numbers Dimensions (mm) Basic load rating|  Track load | Limiting speeds
capacity (kN) (tr/min)

grease
outer ring | outer ring

KRT22 M10X1.25

KRT22XLL 22 | 10 | 12 | 12 | 13 | 36 | 23 | M10X1.25 | 12 | 0,6 |[M4X0.7| 17 | 53 | 6,65 5,15 | 10000 | 10000 | 0,046 | 14
KRT26XLL/3AS 26 | 10 | 12 | 12 | 13 | 36 | 23 | M10X1.25 | 12 | 0,6 |[M4X0.7| 17 | 53 | 6,65 5,15 | 10000 | 10000 | 0,046 | 14
KRVT30LL/3AS 30 | 12 | 14 | 15 | 15 | 40 | 25 | M12X1.5 | 13 | 0,6 |M6x0.75] 23 12 20,3 | 2,62 6500 0,089 | 20
KRT35LL/3AS 35 | 16 | 18 | 18 | 19 | 52 |325| M16X15 | 17 | 0,8 |PT1/8| 27 | 122 | 179 | 32 8000 0,169 | 52
KRVT35XLL/3AS 35 | 16 | 18 | 18 |1956| 52 32,5 M16x1.5 | 17 | 0,8 |PT1/8 | 27 | 17,6 34 11,9 | 5500 0,172 | 52
NUKRT35/3AS 3 | 16 | 18 | 19 |19,5]| 52 [325| M16X1.5 | 17 [ 08 |PT1/8| 21 | 223 | 257 | 372 0 5500 0,165 | 52
KRVT35XLL 3 | 16 | 18 | 18 |19,5| 52 [325| M16X1.5 | 17 | 0,8 |PT1/8 | 27 | 17,6 34 11,9 | 5500 | 7000 | 0,172 | 52
KRT40 40 | 18 | 20 | 22 |21,5| 58 36,5 M18x1.5 | 19 | 0,8 | PT1/8| 32 14 22,8 | 3,85 7000 | 9000 | 0,169 | 52
KRT40XLL/3AS 40 | 18 | 20 | 22 |215| 58 [36,5| M18X1.5 | 19 | 0,8 | PT1/8| 32 14 22,8 14,5 | 7000 0,248 | 76
KRVT40XLL/3AS 40 | 18 | 20 | 22 |19,5| 58 [36,5| M18Xx1.5 | 19 | 0,8 |PT1/8 | 32 | 19,4 42 14,5 | 4500 0,252 | 76
NUKRT40/3AS 40 | 18 | 20 |21,5|215| 58 [36,5| M18X1.5 | 19 | 0,8 |PT1/8 | 23 | 241 | 29,1 | 3,85 4700 0,242 | 76
KRVT40LL/3AS 40 | 18 | 20 | 22 |21,5| 58 36,5 M18Xx1.5 | 19 | 0,8 |PT1/8 | 32 | 19,4 42 3,85 4500 0,252 | 76
KRT40LL/3AS 40 | 18 | 20 | 22 |19,5| 58 |36,5| M18X1.5 | 19 | 08 |PT1/8 | 32 14 228 | 385 7000 0,248 | 76
KRT47XLL/3AS 47 | 20 | 24 | 25 |255| 66 |[40,5| M20X1.5 | 21 | 0,8 |PT1/8 | 37 | 20,7 | 335 21 6000 0,386 | 98
KRVT47LL/3AS 47 | 20 | 24 | 25 |255| 66 |[40,5| M20X1.5 | 21 | 0,8 |PT1/8 | 37 | 288 61 47 4000 0,39 98
NUKRT47/3AS 47 | 20 | 24 |255|255| 66 40,5 M20X1.5 | 21 | 0,8 |PT1/8| 27 | 38,5 48 4,7 4000 0,38 98
KRVT47XLL/3AS 47 | 20 | 24 | 25 |255| 66 |[40,5| M20X1.5 | 21 | 0,8 |PT1/8 | 37 | 2838 61 21 4000 0,39 98
NUKRT47X/3AS 47 | 20 | 24 |255|255| 66 [405| M20X1.5 | 21 | 08 |PT1/8 | 27 | 385 48 21 4000 0,38 98
NUKRT52/3AS 52 | 20 | 24 | 30 |255| 66 |[40,5| M20X1.5 | 21 | 0,8 |PT1/8 | 31 | 425 | 575 | 555 3300 0,45 98
KRVT52XLL/3AS 52 | 20 | 24 | 25 |255| 66 [40,5| M20X1.5 | 21 | 08 |PT1/8 | 37 | 288 61 23,3 | 4000 0,46 98
KRT52XLL/3AS 52 | 20 | 24 | 25 |255| 66 [40,5| M20X1.5 | 21 | 0,8 |PT1/8 | 37 | 20,7 | 335 23,3 | 6000 0416 | 98
KRVT52LL/3AS 52 | 20 | 24 | 25 |255| 66 [40,5| M20X1.5 | 21 | 0,8 |PT1/8| 37 | 288 61 5,55 4000 0,465 | 98
NUKRT62/3AS 62 | 24 | 29 | 35 |30,5| 80 [495| M24x1.5 | 25 | 0,8 |PT1/8 | 38 | 56,5 | 725 | 6,95 2900 0,795 | 178
KRT62XLL/3AS 62 | 24 | 29 | 30 |30,5| 80 [49,5| M24X1.5 | 25 | 0,8 |PT1/8 | 44 | 289 55 34,5 | 5000 0,79 | 178
KRT80LL/3AS 80 | 30 | 35 | 38 | 37 | 100 | 63 | M30X1.5 | 32 | 1 |PT1/8| 53 45 885 | 98 4000 1,65 | 360
NUKRT90X/3AS 90 | 30 | 35 [47,5| 37 | 100 | 63 | M30x1.5 | 32 | 1 |PT1/8| 51 | 101 151 59 | 2100 1,96 | 360

NTN.BNR. . ¢ withYou 68



Cam followers with eccentric stud

-_— ) —

KRU

CONSULT US

69

NTN. Ene)

® WithYou



-—C H‘*Ba*
%__ . aa
i W] T i
oD of on—HHlI—JF—od: ==seH——1 on G
|7 b o
V
<—G14>
Ci_ B.
B
NUKR - CRV
~—C 4.‘.83- -~—C 4.‘
. - |2 K
ﬂ\ i 7‘}‘ ' o T =
| = I
- $ oD of [f) 4}%,, = o i"’fod‘ tﬁ'&,iﬁn'e oD aoF |[[IN :‘%,::jﬂe}}jd‘ ’f"ﬁjimre
-/ | IS L I
| = ] -—Gi— = ] ~—Gi—
Ci L Ci
RB;‘;&;» -~ B_ZI== Bo .
B B

NUKR - H (D < 100 mm) NUKR - H (D =100 mm)

Cam followers stud type truck rollers
Part numbers

Dimensions (mm)

Basic load rating|  Track load  |Limiting

(kN) capacity (kN) |speeds

h |dynamic| static |spherical |cylindrical| (tr/min)
Cr Cor |outer ring|outer ring

CRVI4XLL/3AS |22,225| 9,525 | 12,7 143 | 36,5 | 22,2 | 3/8-240NF | 95 |6,35| 08 | 4 3 1155 805 | 133 5,35 0,048

CR16XH 25,4 [11.112[16875] 13 |17.4 [ 42,8 | 25.4 [7/16-20UNF|12.7 [6.35| 0.8 | 4 3 [ 21 [635] 7.5 | 835 74 | 12000 | 0,087 | 18
CRVIGXLL/3AS | 254 |11112|15,875| 14 | 174| 43 | 25.4 |7/16-200NF| 127|635 0,8 | 4 3 1195 17 | 189 74 | 7100 | 008 | 18
NUKR30/3AS | 30 | 12 | 14 145 15 | 40 | 25 | Mi2x15 | 13| 6 | 06 6 3 15 133 | 135 | 262 6900 | 0,068 | 20
CRV20XLLH/3AS | 31,75 | 12.7 | 19,05 [18,47| 20,6 | 52,4 | 31.8 | 1/2-20UNF | 159794 ] 0.8 | 6 3 | 25 1635 177 | 35 114 | 5400 | 014 | 24
NUKR35/3AS | 35 | 16 | 18 | 19 [195] 52 |325] Mi6xi5 | 17 | 8 |08 6 3 [ 2 23 [ 257 | 32 5500 | 0165 | 52
NUKR35H/3AS | 35 | 16 | 18 | 19 |195| 52 |325| Mi6xi5 | 17 | 8 | 08| 6 321 |6 | 23| 257 | 32 5500 | 0165 | 52
NUKR35X/3AS | 35 | 16 | 18 | 19 [195| 52 [325| misxi5 |17 | 8 | 08| 6 3 | 21 23 | %7 9 | 5500 | 0165 | 52
NUKR35XH/3AS | 35 | 16 | 18 | 19 |195| 52 |325| Miexi5 | 17 | 8 |08 6 3121 6| 23 | %57 9 | 5500 | 0165 | 52
NUKR4O/3AS | 40 | 18 | 20 |215|215] 58 | 365] Misxi5 | 19| 8 |08 6 323 241 | 291 | 38 4700 | 0242 | 76
NUKR4OH/3AS | 40 | 18 | 20 |215|215| 58 |365| Misxi5 | 19| 8 | 08| 6 301236 | 241 | 291 | 385 4700 | 0242 | 76
NUKR4OX/3AS | 40 | 18 | 20 |215|215| 58 |365| Misxi5 | 19| 8 |08 6 3 | 23 41 | 291 145 | 4700 | 0242 | 76
NUKR4OXH/3AS | 40 | 18 | 20 |215|215| 56 | 365| Misxi5 | 19 | 8 | 08| 6 31236 | 241 | 291 145 | 4700 | 0242 | 76
NUKR47/3AS | 47 | 20 | 24 | 255|255 66 |405] M20Xi5 | 21 | 9 |08 ] 8 4 27 %5 | 48 | 47 4000 | 038 | 98
NUKR4TH/3AS | 47 | 20 | 24 |255|255| 66 |405| M2oxis | 21 | 9 | 08| 8 4|27 | 8| 385 | 4 | 47 4000 | 038 | 98
NUKR47X/3AS | 47 | 20 | 24 |255|255| 66 | 405| Mooxi5 | 21 | 9 |08 8 4 |27 385 | 48 21 | 4000 | 038 | 98
NUKRA47ZXH/3AS | 47 | 20 | 24 |255|255| 66 | 405| M2oxi5 | 21 | 9 | 08| 8 4 |27 | 8| 385 | 4 21 | 4000 | 038 | 98
NUKRS52/3AS | 52 | 20 | 24 | 30 | 255 66 [ 405] M20X15 | 21 | 9 |08 8 4 |3 25 | 575 | 55 3300 | 045 | 98
NUKRS52H/3AS | 52 | 20 | 24 | 30 |255| 66 | 405| M20Xi5 | 21 | 9 | 08| 8 4 31| 8| 425 | 575 | 55 3300 | 045 | 98
NUKR52X/3AS | 52 | 20 | 24 | 30 | 255 66 |405| Mooxt5 | 21 | 9 |08 8 4 | 31 125 | 575 233 | 3300 | 045 | 98
NUKRS52XH/3AS | 52 | 20 | 24 | 30 |255| 66 | 405| M2ox15 | 21 | 9 | 08| 8 4 |31 8| 425 | 575 233 | 3300 | 045 | 98
NUKR62/3AS | 62 | 24 | 29 | 35 |305] 80 |495| M24x15 | 25 | 11 | 08| 8 2 |38 565 | 725 | 6% 2000 | 0795 | 178
NUKR62H/3AS | 62 | 24 | 29 | 35 |305| 80 | 495| M2axi5 | 25 | 11 | 08| 8 4|38 8| 565 | 725 | 69 2000 | 079 | 178
NUKR62X/3AS | 62 | 24 | 20 | 35 |305| 80 |495| M2axt5 | 25 | 11 | 08| 8 4 | 38 565 | 725 5 | 2000 | 0795 | 178
NUKR62XH/3AS | 62 | 24 | 29 | 35 |305| 80 |495| Moaxis | 25 | 11 | 08| 8 4 38| 8| 565 | 725 345 | 2000 | 0795 | 178
NUKR72/3AS | 72 | 24 | 29 |415(305] 80 [495] M2axi5 | 25 | 11 |08 8 4 |4 6 | 855 | 805 2000 | 101 | 178
NUKR72H/3AS | 72 | 24 | 29 |415(305| 80 [495| Moaxts | 25 | 11 | 08| 8 4|4 8| 62 | 855 | 805 2000 | 101 | 178
NUKR72X/3AS | 72 | 24 | 20 |415|305| 80 |495| Moaxi5 | 25 | 11 | 08| 8 4| 4 62 | 855 385 | 2400 | 101 | 178
NUKR72XH/3AS | 72 | 24 | 29 |415|305| 80 | 495| M2axi5 | 25 | 11 | 08| 8 4|4 8| 62 | 855 385 | 2400 | 101 | 178
NUKRBO/3AS | 80 | 30 | 35 |475| 37 |100| 63 | M30Xi5 | 32 | 15| 1 | 8 4 | 5 00 [ 151 | 98 2100 | 154 | 360
NUKRSOH/3AS | 80 | 30 | 35 |475| 37 |100| 63 | M30X15 | 32 | 15 | 1 | 8 4508 | 101 | 151 | 98 2100 | 154 | 360
NUKRSOX/3AS | 80 | 30 | 35 |475| 37 |100| 63 | Moxt5 | 32 | 15| 1 | 8 4 | 51 101 | 151 53 | 2100 | 154 | 360
NUKRSOXH/3AS | 80 | 30 | 35 |475| 37 | 100 | 63 | M3OX15 | 32 | 15 | 1 | 8 4 |51 8| 101 | 151 53 | 2100 | 154 | 360
NUKROO/3AS | 90 | 30 | 35 |475| 37 [100| 63 | M30Xi5 | 32 | 15| 1 | 8 4 | 5 100 [ 151 | 114 2100 | 196 | 360
NUKROOH/3AS | 90 | 30 | 35 |475| 37 |100| 63 | M3OX15 | 32 | 15 | 1 | 8 4|51 8| 101 | 151 | 114 2100 | 196 | 360
NUKROOX/3AS | 90 | 30 | 35 |475| 37 |100| 63 | Maoxt5 | 32| 15| 1 | 8 4 | 51 101 | 151 59 | 2100 | 19 | 360
NUKROOXH/3AS | 90 | 30 | 35 |475| 37 |100| 63 | M30X15 | 32 | 15 | 1 | 8 4 |51 8| 101 | 151 50 | 2100 | 196 | 360
NUKR100/3AS | 100 | 36 | 43 485 46 | 120 | 74 | M36x15 | 38 1508 prig |5 19 | 67 | 13 2000 | 308 | 630
NUKR100H/3AS | 100 | 36 | 43 |485| 46 | 120 | 74 | M36x15 | 38 15| rig | 53| 14| 119 | 167 | 13 2000 | 308 | 630
NUKR100XH/3AS| 100 | 36 | 43 |485| 46 | 120 | 74 | M3sxi5 | 38 15| lrisl | 53| 14| 119 | 167 79 | 2000 | 308 | 14
CRVBAH/3AS | 101,6 | 38,1 | 5715 | 445 | 567 |147,6] 889 [1 1/2-12UNF| 36,1 [19,05] 0,8 | 8 5 |63 |34| 106 | oa4 | 132 2200 | 432 | 760
CRVBAXLLH/3AS | 1016 | 381 | 5715 | 445 | 567 147,6] 889 [1 1/2-120NF| 381 [19,05] 0,8 | 8 5 |63 | 34| 106 | 244 13 | 2000 | 432 | 760
NUKR150/3AS | 150 | 52 | 60 |755| 63 | 170 | 107 | M52x15 | 52 1508 PTil |85 258 | 360 | 22 1300 | 97 | 1950
NUKR150H/3AS | 150 | 52 | 60 |755| 63 | 170 | 107 | Ms2x15 | 52 15|  prisl |es5| 17 | 258 | 380 | 2 1300 | 97 | 1950
NUKR180H/3AS | 180 | 64 | 72 | 915 76 | 200 | 124 | M64x3 | 65 2 PTi8 11035 17 | 365 | 55 | 279 1000 | 17 | 3670

NTN.BNR. o withvou 70



=l

RNAB2 RNA22 - LL

Cam followers stud type truck rollers

Part numbers Dimensions (mm) Basic load rating (kN) Track load capacity (kN) Limi}in/g sp)eeds
tr/min
dynamic static spherical cylindrical grease oll
Cr Cor outer ring outer ring
RNAB2/5XT2 16 7 7,8 10 2,82 2,52 2,32 21000 27000 0,0085
RNAB2/5T2 16 7 7,8 10 2,82 2,52 1,08 21000 27000 0,0085
RNAB2/6T2 19 10 9,8 13 47 5,35 1,37 15000 20000 0,013
RNAB2/6XT2 19 10 9,8 13 47 535 3,57 15000 20000 0,013
RNA22/6LL/3AS 19 10 11,8 0 4,55 4,25 1,38 10000 0,018
RNA22/6XLL/3AS 19 10 11,8 0 4,55 4,25 44 10000 0,018
RNA22/8LL/3AS 24 12 11,8 0 515 5,25 1,9 10000 0,027
RNAB2/8X 24 12 9,8 15 52 6,4 4,5 12000 16000 0,021
RNA22/8XLL/3AS 24 12 11,8 18 4,55 4,25 55 10000 0,018
RNAB2/8 24 12 9,8 15 52 6.4 1,89 12000 16000 0,021
RNA2200LL/3AS 30 14 13,8 0 7,55 9 2,62 10000 0,052
RNAB200X 30 14 11,8 20 9,7 52 6,91 11000 14000 0,042
RNA2200XLL/3AS 30 14 13,8 0 7,55 9 7,55 10000 0,052
RNAB200 30 14 11,8 20 9,7 52 2,6 11000 14000 0,042
RNA2201LL/3AS 32 16 13,8 0 8,1 10,3 2,86 9500 0,057
RNAB201 32 16 11,8 22 12,1 13,1 2,85 9500 12500 0,049
RNAB201X 32 16 11,8 22 12,1 13,1 7,36 9500 12500 0,049
RNA2201XLL/3AS 32 16 13,8 0 8,1 10,3 8,05 9500 0,057
RNA2202XLL/3AS 35 20 13,8 0 9,85 141 8,9 7500 0,06
RNA2202LL/3AS 35 20 13,8 0 9,85 141 3,2 7500 0,06
RNAB202X 35 20 11,8 26 13,3 15,7 8,06 7500 10000 0,05
RNAB202 35 20 11,8 26 13,3 15,7 3,21 7500 10000 0,05
RNA2203LL/3AS 40 22 15,8 0 10,4 15,6 3,85 7000 0,094
RNAB203 40 22 15,8 29 19,5 23,8 3,82 6800 9000 0,088
RNAB203X 40 22 15,8 29 19,5 23,8 12,7 6800 9000 0,088
RNA2203XLL/3AS 40 22 15,8 0 10,4 15,6 10,9 7000 0,094
RNA2204XLL/3AS 47 25 17,8 33 16,9 22,9 14,8 6000 0,152
RNA2204LL/3AS 47 25 17,8 0 16,9 22,9 47 6000 0,152
RNAB204X 47 25 15,8 32 20,3 259 14,8 6000 8000 0,13
RNAB204 47 25 15,8 32 20,3 25,9 476 6000 8000 0,13
RNA2204LL 47 25 17,8 33 16,9 22,9 47 6000 0,152
RNA2205LL/3AS 52 30 17,8 0 17,9 25,9 550 5000 0,179
RNA2205XLL/3AS 52 30 17,8 0 17,9 25,9 16,4 5000 0,179
RNAB205 52 30 15,8 37 22,7 32 5,47 5000 6500 0,15
RNAB205X 52 30 15,8 37 22,7 32 16,4 5000 6500 0,15
RNA2206LL/3AS 62 35 19,8 0 21,4 34,5 6,95 4300 0,284
RNAB206X 62 38 19,8 46 35 54 235 4000 5500 0,255
RNA2207LL/3AS 72 42 22,7 0 26,3 47,5 8,05 3600 0,432
RNA2208LL/3AS 80 48 22,7 0 28,4 55 9,8 3100 0,53
RNA2208XLL/3AS 80 48 22,7 0 28,4 55 32 3100 0,53
RNAB208 80 50 19,8 58 39,5 69,5 9,66 3000 4000 0,42
RNA2209LL/3AS 85 52 22,7 0 29,3 58,5 10,4 2900 0,545
RNA2210LL/3AS 90 58 22,7 0 31 66 11,4 2600 0,563
RNA2210XLL/3AS 90 58 22,7 0 8l 66 36 2600 0,563

71 NTN.BNR. o withvou



Cam followers stud type truck rollers

NA22 -- LL

Part numbers Dimensions (mm) Basic load rating Track load capacity Limiting | Mass (kg)
(KN) speeds
dynamic static spherical | cylindrical |  (t/min)
Cr Cor outer ring | outer ring
NA22/6LL/3AS 19 6 12 11,8 16 10 0,3 4,55 4,25 1,38 10000 0,023
NA22/6XLL/3AS 19 6 12 11,8 16 10 0,3 4,55 4,25 4,4 10000 0,023
NA22/8LL/3AS 24 8 12 11,8 18 12 0,3 5,15 5,25 1,9 10000 0,035
NA22/8XLL/3AS 24 8 12 11,8 18 12 0,3 515 5,25 55 10000 0,035
NA2200LL/3AS 30 10 14 13,8 20 14 0,3 7,55 9 2,62 10000 0,06
NA2200XLL/3AS 30 10 14 13,8 20 14 0,3 7,55 9 7,55 10000 0,06
NA2201LL/3AS 32 12 14 13,8 22 16 0,3 8,1 10,3 2,86 9500 0,067
NA2201XLL/3AS 32 12 14 13,8 22 16 0,3 8,1 10,3 8,05 9500 0,067
NA2202LL/3AS 35 15 14 13,8 26 20 0,3 9,85 141 3,2 7500 0,075
NA2203LL/3AS 40 17 16 15,8 28 22 0,3 10,4 15,6 3,85 7000 0,113
NA2203XLL/3AS 40 17 16 15,8 28 22 0,3 10,4 15,6 10,9 7000 0,113
NA2204LL/3AS 47 20 18 17,8 33 25 0,3 16,9 22,9 4,7 6000 0,176
NA2204XLL/3AS 47 20 18 17,8 33 25 0,3 16,9 22,9 14,8 6000 0,176
NA2205LL/3AS 52 25 18 17,8 38 30 0,3 17,9 259 ()51 5000 0,209
NA2206XLL/3AS 62 30 20 19,8 43 35 0,3 21,4 34,5 22,2 4300 0,322
NA2206LL/3AS 62 30 20 19,8 43 35 0,3 21,4 34,5 6,95 4300 0,322
NA2207LL/3AS 72 35 23 22,7 50 42 0,6 26,3 47,5 8,05 3600 0,506
NA2208LL/3AS 80 40 23 22,7 57 48 0,6 28,4 55 9,8 3100 0,623
NA2210LL/3AS 90 50 23 22,7 68 58 0,6 31 66 11,4 2600 0,682
NTN. BN . o withvo 72



~B——

-~C—>

1|

NATR
(with cage)

Roller followers
Part numbers

ey \

NATR -- LL
(with cage,
sealed)

~B—

NATV
(full complement)

Dimensions (mm)

NATV -- LL
(full complement,
sealed)

Basic load rating
(kN)

NUTR2
NUTR3

Track load capacity

spherical
outer ring

cylindrical
outer ring

Limiting speeds
(tr/min)

grease

Mass (kg)

ol

NATR5 16 5 12 1 12 8 4,05 42 1,08 19000 25000 0,018
NATR5X 16 5 12 11 12 8 4,05 42 3,4 10000 25000 0,018
NATR5LL/3AS 16 5 12 11 12 8 4,05 4.2 1,08 10000 0,018
NATR5XLL/3AS 16 5 12 11 12 8 4,05 42 34 10000 0,018
NATV5/3AS 16 5 12 11 12 8 6,5 9,35 1,08 13000 0,02
NATV5X/3AS % | 5 | 12 | 11| 12| s 65 935 34 13000 0,02
NATV5LL/3AS 16 5 12 1 12 8 6,5 9,35 1,08 10000 0,02
NATV5XLL/3AS 16 5 12 11 12 8 6,5 9,35 3,4 10000 0,02
NATR6 19 6 12 1 14 10 4,75 54 1,38 10000 20000 0,025
NATR6X 19 6 12 1 14 10 4,75 54 4,05 10000 20000 0,025
NATR6LL/3AS 19 6 12 1 14 10 4,75 54 1,38 10000 0,025
NATR6XLL/3AS 19 6 12 1 14 10 4,75 54 4,05 10000 0,025
NATV6/3AS 19 6 12 ih 14 10 7,45 11,7 1,38 10000 0,027
NATV6X/3AS 19 6 12 1 14 10 7,45 1,7 4,05 10000 0,027
NATV6LL/3AS 19 6 12 1 14 10 7,45 11,7 1,38 10000 0,027
NATV6XLL/3AS 19 6 12 11 14 10 7,45 11,7 4,05 10000 0,027
NATR8 24 8 15 14 19 12 6,9 7,7 1,9 10000 16000 0,042
NATR8X 24 8 15 14 19 12 6,9 7.7 6,65 10000 16000 0,042
NATRSLL/3AS 24 8 15 14 19 12 6,9 7,7 1,9 10000 0,042
NATR8XLL/3AS 24 8 15 14 19 12 6,9 7,7 6,65 10000 0,042
NATV8/3AS 24 8 15 14 19 12 10,7 16,2 1,9 8500 0,044
NATV8X/3AS 24 8 15 14 19 12 10,7 16,2 6,65 8500 0,044
NATVSLL/3AS 24 8 15 14 19 12 10,7 16,2 1,9 8500 0,044
NATVSLL/5K 24 8 15 14 19 12 10,7 16,2 1,9 8500 0,044
NATVSLL/LP03 24 8 15 14 19 12 10,7 16,2 1,9 2500 0,044
NATV8XLL/3AS 24 8 15 14 19 12 10,7 16,2 6,65 8500 0,044
NACV16LL/3AS 25,4 7,938 | 17,462 | 15,875 19,5 14 11,7 18,9 2,06 7.4 7100 9200 0,059
NATR10 30 | 10 | 15 | 14 | 23 | 15 785 9,65 2.62 10000 13000 0,061
NATR10X 30 10 15 14 23 15 7,85 9,65 7,7 10000 13000 0,061
NATR10LL/3AS 30 10 15 14 23 15 7,85 9,65 2,62 10000 0,061
NATR10LL/LPO3 30 10 15 14 23 15 7,85 9,65 2,62 2000 0,061
NATR10XLL/3AS 30 10 15 14 23 15 7,85 9,65 7,7 10000 0,061
NATV10/3AS 30 10 15 14 23 15 12 20,3 2,62 6500 0,065
NATV10X/3AS 30 10 15 14 23 15 12 20,3 7,7 6500 0,065
NATV10LL/3AS 30 10 15 14 23 15 12 20,3 2,62 6500 0,065
NATV10XLL/3AS 30 10 15 14 23 15 12 20,3 7.7 6500 0,065
NATR12CT 32 12 15 14 25 17 8,05 10,3 2,86 9000 12000 0,069
NATR12XCT 2 | 12| 15| 1| » | w7 805 103 82 9000 12000 0,069
NATR12CLLT/3AS 32 12 15 14 23 15 8,05 10,3 2,86 9000 0,069
NATR12XCLLT/3AS 32 12 15 14 25 17 8,85 11,7 8,2 9000 0,069
NATV12/3AS 32 12 15 14 25 17 13 23 2,86 6000 0,074
NATV12X/3AS 32 12 15 14 25 17 13 23 8,2 6000 0,074
NATV12LL/3AS 32 12 15 14 25 17 13 23 2,86 6000 0,074
NATV12LL/5S 32 12 15 14 25 17 13 23 2,86 6000 0,074
NATV12LL/5K 32 12 15 14 25 17 13 23 2,86 6000 0,074
NATV12XLL/3AS 32 12 15 14 25 17 13 23 8,2 6000 0,074
NATR15 35 15 19 18 27 20 13,3 20,8 3,2 7500 10000 0,098
NATR15X 35 15 19 18 27 20 13,3 20,8 11,9 7500 10000 0,098
NATR15LL/3AS 35 15 19 18 27 20 13,3 20,8 3,2 7500 0,098
NATR15XLL/3AS 35 15 19 18 27 20 13,3 20,8 11,9 7500 0,098
NATV15/3AS 35 15 19 18 27 20 18,4 38 3,2 5000 0,102
NATV15/5S 35 15 19 18 27 20 18,4 38 3,2 5000 0,102
NATV15X/3AS 35 15 19 18 27 20 18,4 38 11,9 5000 0,102
NATV15LL/3AS 35 15 19 18 27 20 18,4 38 3,2 5000 0,102
NATV15LL/5S 35 15 19 18 27 20 18,4 38 3,2 5000 0,102
NATV15LL/5K 35 15 19 18 27 20 18,4 38 3,2 5000 0,102
NATV15XLL/3AS 35 15 19 18 27 20 18,4 38 11,9 5000 0,102
NUTR202/3AS 85 15 19 18 20 19 22,3 25,7 3,2 5500 0,1

NUTR202X/3AS 35 15 19 18 20 19 22,3 25,7 11,9 5500 0,1

NATR17 40 17 21 20 32 22 14 22,8 3,85 7000 9000 0,14
NATR17X 40 17 21 20 32 22 14 22,8 14,5 7000 9000 0,14

73 NTN.BNR. o withvou



~—B— -~ B—— -
— — I' ".:
- T ‘ | — T { TT — b .
g ]L t S % f : .
oD -1 ad oF ce - -—1-F oD - -6|-1- od oF e —t—t-—f 1 .t
I [ ¢ l ™ . '
o | | ai- L
T oy | T o ' |
I | EEH
NATR NATR -- LL NATV NATV -- LL NUTR2 NUTW2
(with cage) (with cage, (full complement) (full complement, NUTR3
sealed) sealed)

Roller followers

Part numbers Dimensions (mm) Basic load rating Track load capacity Limiting speeds
(kN) (tr/min)
dynamic static spherical | cylindrical | grease oil
outer ring | outer ring
NATR17LL/3AS 40 17 21 20 32 22 14 22,8 3,85 7000 0,14
NATR17XLL/3AS 40 17 21 20 32 22 14 22,8 14,5 7000 0,14
NATV17/3AS 40 17 21 20 32 22 19,4 42 3,85 4500 0,145
NATV17/5S 40 17 21 20 32 22 19,4 42 3,85 4500 0,145
NATV17X/3AS 40 17 21 20 32 22 19,4 42 14,5 4500 0,145
NATV17LL/3AS 40 17 21 20 32 22 19,4 42 3,85 4500 0,145
NATV17LL/5S 40 17 21 20 32 22 19,4 42 3,85 4500 0,145
NATV17XLL/3AS 40 17 21 20 32 22 19,4 42 14,5 4500 0,145
NUTR203/3AS 40 17 21 20 22 21,5 24,1 29,1 3,85 4700 0,147
NUTR203/5S 40 17 21 20 22 215 24,1 29,1 3,85 4700 0,147
NUTR203X/3AS 40 17 21 20 22 21,5 241 29,1 14,5 4700 0,147
NUTR302/3AS 42 15 19 18 20 19 22,3 25,7 41 5500 0,16
NUTR302X/3AS 42 15 19 18 20 19 22,3 257 14,3 5500 0,16
NATR20 47 20 25 24 37 25 20,7 33,5 47 6000 8000 0,246
NATR20X 47 20 25 24 37 25 20,7 816! 21 6000 8000 0,246
NATR20LL/3AS 47 20 25 24 37 25 20,7 33,5 47 6000 0,246
NATR20XLL/3AS 47 20 25 24 37 25 20,7 33,5 21 6000 0,246
NATV20/3AS 47 20 25 24 37 25 28,8 61 47 4000 0,254
NATV20X/3AS 47 20 25 24 37 25 28,8 61 21 4000 0,254
NATV20LL/3AS 47 20 25 24 37 25 28,8 61 47 4000 0,254
NATV20XLL/3AS 47 20 25 24 37 25 28,8 61 21 4000 0,254
NUTR204/3AS 47 20 25 24 27 25,5 38,5 48 47 4000 0,245
NUTR204X/3AS 47 20 25 24 27 255 38,5 48 21 4000 0,245
NUTR303/3AS 47 17 21 20 22 21,5 24,1 29,1 47 4700 0,222
NUTR303X/3AS 47 17 21 20 22 21,5 24,1 29,1 17 4700 0,222
NUTW204X/3AS 47 20 29 28 27 25,5 40,5 51,5 47 25,1 4000 0,28
NATR25 52 25 25 24 42 30 22,8 40,5 Bis) 5000 6500 0,275
NATR25X 52 25 25 24 42 30 22,8 40,5 23,3 5000 6500 0,275
NATR25LL/3AS 52 25 25 24 42 30 22,8 40,5 5,5) 5000 0,275
NATR25XLL/3AS 52 25 25 24 42 30 22,8 40,5 23,3 5000 0,275
NATV25/3AS 52 25 25 24 42 30 il 73,5 55 3300 0,285
NATV25X/3AS 52 25 25 24 42 30 31,6 73,5 23,3 3300 0,285
NATV25LL/3AS 52 25 25 24 42 30 31,5 73,5 5,5 3300 0,285
NATV25LL/5S 52 25 25 24 42 30 31,5 735 55 3300 0,285
NATV25XLL/3AS 52 25 25 24 42 30 il B 3 23,3 3300 0,285
NUTR205/3AS 52 25 25 24 31 30 42,5 57,5 5,65 3300 0,281
NUTR205X/3AS 52 25 25 24 31 30 42,5 57,5 23,3 3300 0,281

NTN.BNR. o withvou 74



Roller followers
Part numbers

NUTR304/3AS
NUTR304X/3AS

Dimensions (mm)

Basic load rating
(kN)

static

Track load capacity

spherica
outer ring

5,55

Limiting speeds

0,321
0,321

NATR30
NATR30X
NATR30LL/3AS
NATR30XLL/3AS
NATV30/3AS
NATV30X/3AS
NATV30LL/3AS
NATV30XLL/3AS
NUTR206/3AS
NUTR206X/3AS
NUTR305/3AS
NUTR305X/3AS

0,47
0,47
0,47
0,47
0,481
0,481
0,481
0,481
0,466
0,466
0,45
0,45

NATR35
NATR35X
NATR35LL/3AS
NATR35XLL/3AS
NATV35/3AS
NATV35X/3AS
NATV35LL/3AS
NATV35XLL/3AS
NUTR207/3AS
NUTR207X/3AS
NUTR306/3AS
NUTR306X/3AS

8,05
8,05

8,05

0,635
0,635
0,635
0,635
0,647
0,647
0,647
0,647
0,63
0,63
0,697
0,697

NACV48X/3AS

9,15

1,39

NATR40
NATR40X
NATR40LL/3AS
NATR40XLL/3AS
NATV40/3AS
NATV40X/3AS
NATV40LL/3AS
NATVA40XLL/3AS
NUTR208/3AS
NUTR208X/3AS
NUTR307/3AS
NUTR307X/3AS

92,5
92,5
92,5
7
17
17
7
125
125
85,5
85,5

9,8
9,8
9,8
98
9.8

9,8

0,875
0,875
0,875
0,875
0,89
0,89
0,89
0,89
0,817
0,817
0,84
0,84

NATR45
NATR45LL/3AS
NATR45XLL/3AS
NUTR209/3AS
NUTR209X/3AS

100
100
100
125
125

10,4
10,4

11,4

0,91
0,91
0,91
0,883
0,883

NATR50
NATR50LL/3AS
NATR50XLL/3AS
NATV50/3AS
NATV50X/3AS
NATV50LL/3AS
NATV50XLL/3AS
NUTR210/3AS
NUTR210X/3AS
NUTR308/3AS
NUTR308X/3AS

108
108
108

205
205
205
137
137
150
150

11,4
1.4

11,4
11,4
10,4

1.4

0,96
0,96

0,99
0,99
0,95
0,95
1,13
1,13

NUTR309/3AS
NUTR309X/3AS

137
137

13

1,4

NUTR310/3AS
NUTR310X/3AS

150
150

14,7

(tr/min)
cylindrical grease oil
outer ring

4000
233 4000
4000 5500
33 4000 5500
4000
33 4000
2600
33 2600
2600
33 2600
2900
33 2900
3300
27,8 3300
3300 4500
37 3300 4500
3300
37 3300
2200
37 2200
2200
37 2200
2400
37 2400
2900
38,5 2900
64 2700
3000 4000
44,5 3000 4000
3000
44,5 3000
2000
44,5 2000
2000
44,5 2000
2100
44,5 2100
2400
4 2400
2700 3600
2700
47 2700
1900
50 1900
2500 3300
2500
50 2500
1600
50 1600
1600
50 1600
1800
47 1800
2100
50 2100
1900
55,5 1900
1800
61 1800

1,69
1,69

NTN Sng

® @ WithYou



@Dc @Dc1

AXK
Thrust needle roller and cage assembly

Thrust needle roller bearings
Part numbers Dimensions (mm) Basic load rating Limiting speeds Bearing numbers
()

(tr/min)
static grease oIl

washer inner rin outer rin
Cor 9 Y

AXK1100 10 24 2 9,15 253 3500 14000 0,0028 AS1100 WS81100 | GS81100
AXK1101 12 26 2 9,85 28,9 3300 13000 0,003 AS1101 WS81101 6581101
AXK1102 15 28 2 11,3 36 2800 11000 0,0035 AS1102 WS81102 | GS81102
AXK1103 17 30 2 11,9 395 2500 10000 0,004 AS1103 WS81103 | GS81103
AXK1104 20 35 2 13,2 46,5 2100 8500 0,005 AS1104 WS81104 |  GS81104
AXK1105 25 42 2 14,6 58 1800 7000 0,007 AS1105 WS81105 |  GS81105
AXK1106 30 47 2 16,3 69,5 1500 6000 0,008 AS1106 WS81106 | GS81106
AXK1107 35 52 2 178 81,5 1400 5500 0,01 AS1107 WS81107 | GS81107
AXK1108 40 60 3 274 110 1200 4700 0,0185 AS1108 WS81108 | GS81108
AXK1109 45 65 3 298 128 1100 4300 0,0205 AS1109 WS81109 | GS81109
AXK1110 50 70 3 315 143 1000 3900 0,0235 AS1110 WS81110 | GS81110
AXK1111 55 78 3 38 186 900 3500 0,038 AST111 WSB1111 GS81111
AXK1112 60 85 3 445 234 800 3200 0,039 AS1112 Wss1112 | GS81112
AXK1113 65 0 3 46,5 254 750 3000 0,04 AS1113 WS81113 | GS81113
AXK1114 70 9 4 53,5 253 750 2900 0,06 AS1114 WS81114 | GS81114
AXK1115 75 100 4 55 266 700 2700 0,061 AS1115 WSB1115 | GS81115
AXK1116 80 105 4 56,5 279 650 2600 0,063 AS1116 WS81116 | GS81116
AXK1117 85 110 4 57,5 291 600 2400 0,0668 AS1117 WS81117 | GS81117
AXK1118 2 120 4 705 390 600 2300 0,086 AS1118 Ws81118 | GS81118
AXK1120 100 135 4 90 550 500 2000 0,112 AS1120 WS81120 | GS81120
AXK1122 120 155 4 99 650 430 1700 0,131 AS1124 WS81124 | GS81124
AXK1124 110 145 4 935 590 480 1900 0,122 AS1122 WS81122 | GS81122
AXK1126 130 170 5 140 900 400 1600 0,205 AS1126 WS81126 | GS81126
AXK1128 140 180 5 145 960 380 1500 0,219 AS1128 Ws81128 | GS81128
AXK1130 150 190 5 149 1020 350 1400 0,232 AS1130 WS81130 | GS81130
AXK1132 160 200 5 154 1070 330 1300 0,246 AS1132 WS81132 | GS81132
Thrust needle roller bearings
S Part numbers Dimensions (mm)

I AS1100 24 10 1 0,003

T AS1101 26 12 1 0,0033

AS1102 28 15 1 0,0035

aDp |1 @Der AS1103 30 17 1 0,0038

AS1104 35 20 1 0,0051

AS1105 42 25 1 0,007

I AS1106 47 30 1 0,008

AS1107 52 35 1 0,0091

L AS1108 60 40 1 0,0123

AS1109 65 45 1 0,0136

AS bearing ring AS1110 70 50 1 0,0148

(washer) AS1111 78 55 1 0,0189

AS1112 85 60 1 0,0223

AS1113 90 65 1 0,0239

AS1114 95 70 1 0,0254

AS1115 100 75 1 0,027

AS1116 105 80 1 0,0284

AS1117 110 85 1 0,0301

AS1118 120 90 1 0,0388

AS1120 135 100 1 0,0505

AS1122 145 110 1 0,0549

AS1124 155 120 1 0,0592

AS1126 170 130 1 0,074

AS1128 180 140 1 0,079

AS1130 190 150 1 0,084

AS1132 200 160 1 0,089

NTN.BNR. o withvou 76



-

WS bearing ring

(inner ring)

Thrust needle roller bearings

Part numbers

Dimensions (mm)

GS bearing ring
(outer ring)

Thrust needle roller bearings

Part numbers

Dimensions (mm)

WS81100 10 24 2,75 03 0,008 GS81101 26 12 2,75 03 0,009
Ws81101 12 26 2,75 03 0,009 GS81102 28 16 2,715 0,3 0,01

Ws81101 12 26 2,75 03 0,009 GS81103 30 18 2,75 03 0,011
WSs81102 15 28 2,75 03 0,01 GS81104 35 21 2,75 03 0,014
WS81103 17 30 2,75 03 0,011 GS81105 42 26 3 0,6 0,021
WS81104 20 35 2,75 03 0,014 GS81106 47 32 3 0,6 0,025
WS81105 25 42 3 0,6 0,021 GS81107 52 37 35 0,6 0,033
WS81106 30 47 3 0,6 0,021 GS81206 52 32 4,25 0.6 0,045
WS89306 30 60 6,25 1 0,1 GS81108 60 42 3,5 0,6 0,044
WS81206 30 52 4,25 0,6 0,045 (GS89306 60 32 6,25 1 0,1

Ws81107 35 52 3,5 0,6 0,033 GS81207 62 37 5,25 1 0,085
WS89307 35 68 7 1 0,15 GS81109 65 47 4 0,6 0,055
WS81207 35 62 5,25 1 0,085 GS89307 68 37 7 1 0,15
Ws81108 40 60 3,5 0,6 0,044 GS81208 68 42 5 1 0,09
WS87408 40 90 8,25 11 0,33 GS81110 70 52 4 0,6 0,06
WS89308 40 78 7,5 1 0,21 GS81209 73 47 55 1 0,105
WS81208 40 68 5 1 0,09 GS81111 78 57 5 0,6 0,095
Ws81109 45 65 4 0,6 0,055 (GS89308 78 42 75 1 0,21

WS89309 45 85 8,25 1 0,27 GS81210 78 52 6,5 1 0,14
WS81209 45 73 5,9 1 0,105 GS81112 85 62 4,75 1 0,101
Ws81110 50 70 4 0,6 0,06 GS89309 85 47 8,25 1 0,27
WSs87410 50 110 95 1,5 0,56 GS81113 90 67 525 1 0,125
WS89310 50 95 9,5 11 0,38 GS81211 90 57 7 1 0,21

Ws81210 50 78 6,5 1 0,14 GS81114 95 72 5,25 1 0,135
Ws81111 55 78 5 0,6 0,095 GS89310 95 52 9,5 11 0,38
WS89311 55 105 10,5 1.1 0,52 GS81212 95 62 7,5 1 0,23
WS81211 55 90 7 1 0,21 GS81115 100 77 5,75 1 0,155
Ws81112 60 85 4,75 1 0,101 GS81213 100 67 8 1 0,28
WS89312 60 110 10,5 11 0,55 GS81116 105 82 5,75 1 0,165
Ws81212 60 95 7,5 1 0,23 GS89311 105 57 10,5 1.1 0,52
WSs81113 65 90 5,25 1 0,125 GS81214 105 72 8 1 0,295
WSs87413 65 140 12 2 114 GS81117 110 87 5,75 1 0,175
WS89313 65 115 10,5 11 0,58 GS87410 110 52 9,5 15 0,56
Ws81213 65 100 8 1 0,28 GS89312 110 62 10,5 1.1 0,55
wSs81114 70 95 5,25 1 0,135 GS81215 110 7 8 0,31

WS89314 70 125 12 11 08 (S89313 115 67 10,5 1.1 0,58
ws81214 70 105 8 1 0,295 GS81216 115 82 8,5 1 0,35
WSs81115 75 100 61,75 1 0,155 GS81118 120 92 6,5 1 0,25
WS89315 75 135 12,5 15 0,97 (GS89314 125 72 12 1.1 0.8

Ws81215 75 110 8 1 0,31 GS81217 125 88 9,5 1 0,49
Ws81116 80 105 5,75 1 0,165 GS81120 135 102 7 1 0,35
WS89316 80 140 12,5 1,5 1,02 (S89315 135 77 125 1,9 0,97
WS81216 80 115 8,5 1 0,35 GS81218 135 93 10,5 1.1 0,64
Ws81117 85 110 0,15 1 0,175 (GS89316 140 82 125 1,5 1,02
WS89317 85 150 13,5 156 1,28 GS81122 145 112 7 1 0,385
Ws81217 85 125 ) 1 0,49 GS89317 150 88 13,5 1.5 1,28
ws81118 90 120 6,5 1 0,25 GS81220 150 103 11,5 11 0,81

WS89318 90 155 13,5 1,5 1,33 GS81124 155 122 7 1 0,415
ws81218 90 135 10,6 11 0,64 GS89318 155 93 13,5 15 1,33
Ws81120 100 135 7 1 0,35 GS81126 170 132 9 1 0,663
WS89320 100 170 14,5 15 1,69 GS89320 170 103 14,5 15 1,69
WS81220 100 150 11,5 1.1 0,81 GS81128 180 142 95 1 0,75
Ws81122 110 145 7 1 0,385 GS81130 190 152 9,5 1 08

WS89322 110 190 16,5 2 2,44 (S89322 190 113 16,5 2 2,44
WSs81124 120 155 7 1 0,415 GS81226 190 133 13 15 1,53
WS81126 130 170 9 1 0,663 GS81132 200 162 95 1 0,84
WS81226 130 187 13 15 1,53

Ws81128 140 178 9,5 1 0,75

WS81130 150 188 9,5 1 08

WS81132 160 198 9,5 1 0,84

i

NTN. Sne)

® @ WithYou



Thrust needle roller and cage assembly

@Dw

@De @De1 1

P

K811, K812

Thrust needle roller bearings

Part numbers

Dimensions (mm)

K81102T2 15 28 35 0,006
K81103T2 17 30 35 0,008
K81104T2 20 35 4,5 0,012
K81105L1 25 42 5 0,023
K81105T2 25 42 5 0,021
K81106T2 30 47 5 0,022
K89306 30 60 55 0,046
K81107T2 35 52 ) 0,024
K89307 35 68 6 0,064
K81108T2 40 60 6 0,035
K89308 40 78 7 01

K81109T2 45 65 6 0,04
K89309 45 85 75 0,14
K81110T2 50 70 6 0,045
K87410 50 110 8 0,26
K89310 50 95 8 0,18
K81111T2 55 78 6 0,06
K89311 55 105 ¢ 0,24
K81112 60 85 7,5 0,11
K81112L1 60 85 75 0,104
K81112T2 60 85 7,5 0,083
K89312 60 110 ¢ 0,25
K81113T2 65 90 7,5 0,09
K89313 65 115 9 0,26
K81114T2 70 95 7,5 0,097
K87414 70 150 " 0,65
K89314 70 125 10 0,34
K81115T2 75 100 7,5 0,115
K89315 75 135 1Al 0,47
K81116T2 80 105 7,5 0,119
K89316 80 140 11 0,49
K81117T2 85 110 7,5 0,125
K89317 85 150 12 0,59
K81118T2 90 120 9 0,17
K89318 90 155 12 0,62
K81120T2 100 135 1 03

K89320 100 170 13 0,81
K8112212 110 145 i 0,325
K89322L1 110 183 15 115
K81124T2 120 155 i 0,34
K81126 130 170 12 0,415
K81128 140 180 12 0,45
K81130 150 190 12 0,47
K81132 160 200 12 05

NTN. Ene)

® @ WithYou

78



T
rs SN — = =
NG - L]
oD oDy od od;
L_ - ]
= | W =l ) — |
811 893 874
812 bearing
bearing

Thrust cylindrical roller bearing

Part numbers Dimensions (mm) Basic load rating | Limiting speeds Bearing numbers Abutment dimensions
(kN) (tr/min) (mm)
dynamic | static i inner ring outer ring
Cr Cor

8110212 15 28 28 16 9 0,3 12,2 26,8 2800 11000 | 0,026 K81102T2 WS81102 (6581102 25 18 03
8110312 17 30 30 18 9 0,3 12,7 29 2500 10000 0,03 K81103T2 WS81103 (6S81103 27 20 0,3
8110412 20 35 35 21 10 | 03 20,2 46,5 2100 8500 0,04 K81104T2 WS81104 (GS81104 32 23 0,3
8110512 25 42 42 26 11 0,6 27,3 68 1800 7000 0,06 K81105T2 WS81105 GS81105 39 28 0,6
8110672 30 47 47 32 11 0,6 27,8 72,5 1500 6000 0,07 K81106T2 WS81106 (GS81106 44 33 0,6
81206 30 52 52 32 16 | 06 o815 129 1500 6000 0,14 K81206 WS81206 (6581206 48 33 0,6
8120612 30 52 52 32 16 | 06 53 129 1500 6000 0,14 K81206T2 WS81206 (6581206 48 33 0,6
8110712 35 52 52 37 12 0,6 31 87 1400 5500 0,09 K81107T2 WS81107 GS81107 49 38 0,6
81207712 35 62 62 37 18 1 54,5 139 1200 4900 0,235 K81207T2 WS81207 (6581207 56 41 1
8110812 40 60 60 42 13 | 06 43 121 1200 4800 0,135 K81108T2 WS81108 (6S81108 56 44 0,6
81208T12 40 68 68 42 19 1 74,5 190 1100 4400 0,265 K81208T2 WS81208 (6581208 63 44 1
89308 40 78 78 42 22 1 85 277 1000 4000 0,52 K89308 WS89308 (6589308 74 46 1
8110912 45 65 65 47 14 0,6 455 135 1100 4400 0,15 K81109T2 WS81109 (6S81109 61 49 0,6
8120912 45 73 73 47 20 1 82 222 1000 4100 0,31 K81209T2 WS81209 (581209 68 49 1
89309 45 85 85 47 24 1 102 345 900 3600 0,67 K89309 WS89309 (6589309 81 51 1
8111072 50 70 70 52 14 | 06 48,5 150 1000 4000 0,165 K81110T2 WS81110 GS81110 66 54 0,6
8121012 50 78 78 52 22 1 85 238 950 3800 0,385 K81210T2 WS81210 (6581210 73 54 1
89310 50 95 95 52 27 | 141 125 445 800 3200 0,94 K89310 WS89310 (6589310 90 58 1
8111112 55 78 78 57 16 | 0,6 62,5 215 900 3600 0,25 K81111T2 WS81111 GS81111 75 58 0,6
8121172 55 90 90 57 25 1 121 340 830 3300 0,61 K81211T2 WS81211 (GS81211 83 61 1
89311 55 | 105 | 105 | 57 30 11 158 570 730 2900 1,27 K89311 WS89311 (6589311 100 64 1
8111212 60 85 85 62 17 1 69 215 830 3300 0,285 K81112T2 Ws81112 (6S81112 80 65 1
8121212 60 95 95 62 26 1 126 365 780 3100 0,66 K81212T2 WS81212 (6581212 88 66 1
89312 60 | 110 | 110 | 62 30 | 11 162 600 680 2700 1,35 K89312 WS89312 (589312 105 69 1
8111312 65 90 90 67 18 1 73 236 780 3100 0,34 K81113T2 WS81113 GS81113 85 70 1
8121312 65 | 100 | 100 | 67 27 1 130 385 730 2900 0,775 K81213T2 WS81213 GS81213 93 7 1
89313 65 | 115 | 115 | 67 30 | 11 167 635 650 2600 1,43 K89313 WS89313 (6589313 110 74 1
8111412 70 95 95 72 18 1 76,5 257 730 2900 0,365 K81114T2 WS81114 (GS81114 90 74 1
81214712 70 | 105 | 105 | 72 27 1 134 410 680 2700 0,815 K81214T2 WS81214 (6S81214 98 76 1
89314 70 | 125 | 125 | 72 34 | 11 205 790 600 2400 1,93 K89314 WS89314 (6589314 120 80 1
8111512 75 | 100 | 100 | 77 19 1 78 268 680 2700 0,425 K81115T2 WS81115 (6S81115 95 80 1
8121512 75 | 110 | 110 | 77 27 1 138 435 650 2600 0,86 K81215T2 WS81215 (6S81215 103 81 1
89315 75 | 135 | 135 | 77 36 15 239 920 550 2200 2,41 K89315 WS89315 (6589315 129 85 15
8111672 80 | 105 | 105 | 82 19 1 79,5 279 650 2600 0,445 K81116T2 WS81116 GS81116 100 85 1
81216 80 | 115 | 115 | 82 28 1 142 460 630 2500 0,95 K81216 WS81216 (581216 106 86 1
89316 80 | 140 | 140 | 82 3% | 15 246 970 530 2100 2,53 K89316 WS89316 (6589316 134 90 15
8121612 80 | 115 | 115 | 82 28 1 143 460 630 2500 0,95 K81216T2 WS81216 (6581216 106 86 1
8111712 85 | 110 | 110 | 87 19 1 83 300 630 2500 0,475 K81117T2 WS81117 GS81117 105 89 1
81217L1 85 | 125 | 125 | 88 31 1 169 550 580 2300 1,28 K81217L1 Ws81217 (6581271 116 92 1
89317 85 | 150 | 150 | 88 39 15 281 1100 500 2000 3,14 K89317 WS89317 (589317 144 96 15
8111872 90 | 120 | 120 | 92 22 1 12 395 580 2300 0,67 K81118T2 WS81118 (581118 114 95 1
81218J 90 | 135 | 135 | 93 35 11 213 680 530 2100 1,82 K81218J WS81218 (6581218 126 91 1
8112012 100 | 135 | 135 | 102 | 25 1 158 555 500 2000 1 K81120T2 WS81120 (6581120 128 | 106 1
81220 100 | 150 | 150 | 103 | 38 1.1 243 795 480 1900 2,24 K81220 WS81220 (581220 139 | 109 1
89320 100 | 170 | 170 | 103 | 42 15 335 1370 430 1700 419 K89320 WS89320 (6589320 163 | 110 15
89320L1 100 | 170 | 170 | 103 | 42 15 335 1370 430 1700 419 K89320 WS89320 (6589320 163 | 110 15
81122712 110 | 145 | 145 | 112 | 25 1 165 605 480 1900 11 K81122T2 WS81122 (6581122 138 | 116 1
81222 110 | 160 | 160 | 113 | 38 1,1 258 885 450 1800 2,45 K81222 WS81222 (6581222 149 | 119 1
81124712 120 | 155 | 155 | 122 | 25 1 172 655 450 1800 117 K81124T2 WS81124 (GS81124 148 | 126 1
81224 120 | 170 | 170 | 123 | 39 1,1 264 930 430 1700 2,69 K81224 WS81224 (6S81224 159 | 129 1
89324L1 120 | 210 | 210 | 123 | 54 35 0 0 K89324 WS89324 (6589324 0 0 0
81126 130 | 170 | 170 | 132 | 30 1 197 755 400 1600 1,74 k81126 WS81126 (6581126 162 | 137 1
81226 130 | 190 | 187 | 133 | 45 15 360 1210 380 1500 4,2 K81226 WS81226 (6581224 178 | 140 15
81128 140 | 180 | 178 | 142 | 31 1 206 815 380 1500 1,95 K81128 WS81128 (6S81128 172 | 147 1
81228 140 | 200 | 197 | 143 | 46 15 370 1280 250 1400 4,57 K81128 WS81226 (6581224 188 | 150 15
81130 150 | 190 | 188 | 152 | 31 1 214 870 350 1400 2,07 K81130 WS81130 (6S81130 182 | 157 1
81230L1 150 | 215 | 153 | 212 | 50 15 0 0 0 K81230 WS81230 (6581230 0 0 0
81132 160 | 200 | 198 | 162 | 31 1 221 930 330 1300 2,19 K81132 WS81132 6581132 192 | 167 1
81134 170 | 215 | 213 | 172 | 34 1.1 282 1160 310 1200 2,64 k81134 WS81134 (GS81134 207 | 177 1
81136 180 | 225 | 183 | 222 | 34 11 293 1240 290 1100 3,06 K81136 WS81136 (581136 217 | 227 1

79 NTN.BNR. o withvou



NEEDLE ROLLER BEARINGS iercince

Needle roller bearings with solid rings

NTN INA 1KO SKF KOYO |NADELLA KOYO |NADELLA
NK,NK..R NK TAF NK NO,NK NK RS, R, RP K
NK..T2 NK..-TV NK_.-TN
gfﬂf’ NK- g TRITAFI NKI NGl . ES WH .25

metric V,VS, RV
NKS+IR NKIS NKIS
NK.T2+1R | NKL-TV NKLTN NaI
RNA48 RNA48 RNA48 RNA48 RNA1000
NKS NKS TR NKS NS NKS inch | 'pGJ l¢ |
NKZ TR —
RNA49,
ANA9. R RNA49 RNA49 RNA49 RNA49
metrc | FNAS.L RNA49.-RSR | RNA49.U RNA49.RS
RNA49..LL RNA49.-2RSR | RNA49.UU | RNA49.2RS i
RNAS9 RNAS9 RNA2000
A, RNAG9 RNAG9 RNA69 RNAGO RNA22000
RNAG9..R
NA48 NA48 NA4S NA48 NA1000 :
NA4O.NA49.R | NA49 NA49 NA49 NA2000 Cage assembly for connecting rod
NA49..L NA49.-RSR | NA49.U NA49.RS
NA49..LL NA9.-2RSR | NA49.UU NA49..2RS INA IKO SKF KOYO NADELLA
NA59
NAG9, NAB9.R | NAGY NAGO NAGO NA2200 E\?Ks KEK JIZEG \F/"-)-CPUSR"P
NAG9 (double . )
row) NAG9..-ZW metric | PK KzZK KT.EG VS.PVE

MR NCS RFNU MB
MR-+MI NCS-+PI [

Needle roller bearings, separable type Drawn cup needle roller bearings

SKF | TN INA IKO SKF KOYO |NADELLA

RNAO RNAO RNAO HK HK TLA...Z HK BTM HK
RNAO..T2 RNAO..-TV RNAO.TN HK..T2 HK..-TV BFNM HK.TN
RNAD. ZW RNAO..-2W- AR HK..L HK..-RS HK..RS BTM..U HK..RS
ASR1 HK..LL HK..-2RS TLA.UU HK..2RS BTM..UU HK..2RS
metric | NAO NAO NAO HK..ZWD HK..-ZW TLAW.Z HK..ZW
NAO..T2 NAD..-TV NAD..TN HK..D HK..-AST BTM..OH
NAO..ZW NAO..-ZW-ASR1 NAO o T T
RNA49..S PNA PNA AL AL
flasa0s metric | HMK..L/LL BHTM..UU

HMK..ZWD TAW..Z
HKS TA.Z
HCK TAW

BK

Inner rings

NTN INA SKF

metric |1R IR IRT IR
1R.D IR..-I1S1 IR..-1S1
inch | MI (pouce [ PI, LR | IRB [ LR

Combined bearings

IRB

NKX NKX NAX NKX
NKX..Z NKX..Z NAX...Z NKX..Z
NKX+IR NKXR+IR NAXI
e NKX..Z+IR NKXR..Z+IR NAXI..Z
NKXR NKXR NBX NKXR RAXZ
NKXR..Z NKXR..Z NBX...Z NKXR..Z
NKXR..+IR NKXR..+IR NBXI
NKXR..Z+IR NKXR..Z+IR NBXI..Z

NKIA59 NKIA NATA59
NKIB59..R NKIB NATB59




NEEDLE ROLLER BEARINGS irerchance

Roller followers Needle and roller thrust bearings
NTN INA IKO SKF KOYO | NADELLA NTN INA KO SKF KOYO |'NADELLA
RNAB2 RSTO RNAST. R RSTO RSTO RNA.B
RNAB2..X RSTO..XX RNAST RSTO..DZ AXK (tole) AXK NTB AXK TR, AXK
RNA22..LL RNA22..-2RSR RNA22. 2RSX AXK (laiton) AXK NTB AXK ™
RNA22.XLL  |RNA22.-2RSR-X RNA22..2RS
NAB2 STO NAST.R STO STO K811 K811 AZK K811 K811
- INAB2.X STO.X NAST STO.X ST0..0Z
Metic | \ago (L NA22..-2RSR NA..2RS NA22..2RS KT SLEL Lkl
NA22. XLL NA22..-2RSR-X NA..2RSX K811.Jw
NATR NATR NART. R NATR CXM..R, NATR
NATR.X NATR.X NART NATR..X CXM, NATR..DZ K812 812 G K812 K812
NATR..LL NATR..-PP NATR..PPA CXM..UUR K812..T2 K812..-TV K812.TN
NATR.XLL NATR..XPP NATR..PP CXM..UU pr—
NATV NATV NART..VR NATV CYM.R FG E
NATV..X NATV..X NATV..X cYM FGL K874 K893 K893
NATV..LL NATV..PP NART.VUUR  |NATV..PPA CYM..UUR FG..EE )
NATV.XLL NATV.PPX FGL..EE metric | K893 K894 K894
NUTR NUTR NURT NUTR NUTR FGU AS11 AS AS AS W, AS cP
) NUTR..X NUTR..X NURT..DZ NUTR.X FGUL
neh | \yrw WSB11/WS812/| WSS11/MSB12/| | ws ws
NUTW..X WS874 /WS893 | WS874 /WS893
NACV RF.Y CRY.VR
NACV.X RF CRY.V GSB11/6S812/ | GSBI1/GS812/ | oo & -
NACV..LL RF.YPP CRY..VUUR (GS874 /GS893 | GS893 /GS894
NACV. XLL RF.PP CRY.VUU
— - 811 811 AZ 811 811
812 812 812 812
874 893 893
893 894 894
NTC C
c f" inch | NWA TWA
am followers e e
NTN INA IKO SKF KOYO | NADELLA .
KR KR CF.R KR KM..R, KR
KR.X KR.X CF KR..X KM, KR..DZ
KR.H KR..SK CF.BR KR..SK
KR..XH KR.X, KR.SKX |CF.B
KR..LL KR..PP CF.UUR KR..PPA KM..UUR, KR..2RS
KR..LLH KR..PP, KR..PPSK |CF..BUUR KR..PPSK :
KR.XLL KR..XPP CF.UU KR..XPP KR...DZ.2RS 4 ol
KR.XLLH KR.-X-PPSK  |CF.BUU KM..UU I ACCESSORIES
KRT CF-RU1
KRT..X
KRT. LL NADELLA
KRT.XLL
KRV KRV CF.VR KRV CM.R GC
KRV.X KRV..X CF.VR KRV..X GCL
KRV..H CF..VBR KRV..SK
KRV.LL KRV..-PP CF.VUUR KRV..PPA CM..UUR GC..EE Needles
KRV.XLL KRV..XPP CF.VUU KRV.XPP CM..UU GCL..EE
KRV..PPSK,
KRV.LLH ﬁw'igpsx CF.VBUUR KRV..PPSK
- KRV.XLLH R CF.VBUU
KRVT
KRVT..LL .
KRVT.XLL Snap rings
KRU CFES.R
KRU..X CFES
KRU..LL CFES..UUR
KRU.XLL CFES..UU metric
KRVU CFES..V
KRVU..X CFES.VR
KRVU..XLL CFES. VUU
KRVU..LL CFES..VUUR
KRMV..XH CFS..V
KRM..XH CFS
KRX CF..SFU
NUKR NUKR NUCF.R NUKR DKM.R NUKR..2SK
NUKR..X DKM..DZ
NUKR..XH
NUKRT
NUKRT..X
NUKRU
NUKRU. X
CR CR.R
CR.X CR
CR.H CR.BR
CR.XH CR.B
CR..LL CR..UUR
CR.XLL CR.UU
CR.LLH CR..BUUR
) CR..XLLH CR..BUU
inch | cry CF CR.VR
CRV.X CR.V CR
CRV.H CR..VBR
CRV..XH CR.\VB
CRV.LL CF.-PP CR..VUUR
CRV.XLL CR.VUU
CRV.LLH CR..VBUUR
CRV..XLLH CR..VBUU




NOTES

NTN. SNR

® @ WithYou

82






NEFDLE
ROLLER BEARINGS

The reference range made in Japan

This document is the exclusive property of NTN-SNR ROULEMENTS. Any total or partial reproduction hereof without the
prior consent of NTN-SNR ROULEMENTS is strictly prohibited. Legal action may be brought against anyone breaching the
terms of this paragraph.

NTN-SNR ROULEMENTS shall not be held liable for any errors or omissions that may have crept into this document despite
the care taken in drafting it. Due to our policy of continuous research and development, we reserve the right to make changes
without notice to all or part of the products and specifications mentioned in this document.

© NTN-SNR ROULEMENTS, international copyright 2018

NTN-SNR ROULEMENTS - 1 rue des Usines - 74000 Annecy
RCS ANNECY B 325 821 072 - Code APE 2815Z - Code NACE 28.15

www.ntn-snr.com

NTN 5l .,

With You

- SAP 412445 - Document non contractuel - NTN-SNR copyright international - 03/18 - Photos: NTN-SNR - PedroStudioPhoto - Shutterstock.

DOC.I_NRB_CAT1.GBa



